GOVERNMENT CHANDULAL CHANDRAKAR ARTS AND SCIENCE COLLEGE PATAN, DIST.-DURG (C.G.) PIN-491111

BENEFICIARY OF SCHOLARSHIP 2020-21

AISHE 2020-21

	POS	ST MATRIC	SCHOLARS	HIP		BPL SCH	OARSHIP		TO	TAL	GRAND
CATEGORY	FR	ESH	REN	IEW	FR	ESH	REN	IEW			TOTAL
	MALE	FEMALE	MALE	FEMALE	MALE	FEMALE	MALE	FEMALE	MALE	FEMALE	
SC	44	42	39	87	0	1	0	0	83	130	213
ST	16	38	16	49	0	0	0	0	32	87	119
OBC	143	307	202	496	4	14	5	20	354	837	1191
GEN	0	0	0	0	0	0	0	0	0	0	0
MIN	0	0	0	0	0	0	0	0	0	0	0
OTHER	0	0	0	0	0	0	0	0	0	0	0
GRAND	203	387	257	632	4	15	5	20	469	1054	1523
TOTAL											

PRINCIPAL

कार्यालय प्राचार्य

शासकीय चन्दूलाल चन्द्राकर स्नातकोत्तर महाविद्यालय पाटन, जिला– दुर्ग(छ.ग) फोन एवं फैक्स नं. 07826 – 273675

ACCREDITED BY NAAC WITH GRADE: B (GRADE POINT: 2.37) UGC COLLEGE CODE: 202013,

Email: patancollege@gmail.com website www.govtcccollegepatan.com

क0/472/स्था./छा.व./2021

पाटन, दिनांक 13 01 2021

1

प्रति.

सहायक आयुक्त आदिवासी विकास शाखा आदिम जाति कल्याण विभाग दुर्ग (छ.ग.)

विषय – ऑनलाईन पोस्ट मैट्रिक छात्रवृत्ति स्वीकृति प्रस्ताव सत्र 2020-21 का प्रेषण । संदर्भ – आपका पत्र कमांक/853/आजाक/6/पोगैछा/नक 61/2020-21 दुर्ग दिनांक 02/01/2021

--00--

उपरोक्त विषयान्तर्गत लेख है कि इस महाविद्यालय में अध्ययनरत अनुसूचित जाति/अनुसूचित जनजाति/अन्य पिछड़ा वर्ग के छात्र/छात्राओं का नवीन/नवीनीकरण ऑनलाईन पोस्ट मैट्रिक छात्रवृत्ति सत्र 2020–21 स्वीकृति आदेश की हार्डकापी आवश्यक कार्यवाही हेतु आपकी ओर प्रेषित है ।

संलग्न -1. प्रमाण पत्र ।

- 2 लॉक प्रपोजल -01 सेट I
- 3. लॉक सेंक्सन -01 सेट ।
- 4. के.वाय.सी. **02** सेट 1
- 5. वैंक खाता के आधार कार्ड सीडिंग की जानकारी ।
- शुल्क विवरण की जानकारी ।
- 7. विद्यार्थियों का वचन पत्र ।

(डॉ. शोभा श्रीवास्तव)

Pम्बार्मः।

Govt.C.L.C.Arts and Science College Patan, Distt. Durg (C.G.)

14/1/21

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4760/3/10/99741 Sanction Date: 12/01/2021

Applications Type: Fresh

2260	1860	1745	115	400	100	4	Fresh	M. Com./Commerce/I	Male	1399391 YOGESHWAR NISHAD	1399391
2260	1860	1745	115	400	100	4	Fresh	M. Com./Commerce/I	Male	1388496 NIKHIL SAHU	1388496
9885	9485	9370	115	400	100	4	Fresh	PGDCA/Computer Application/I	Male	1501814 DIKESH KUMAR	1501814
9885	9485	9370	115	400	100	4	Fresh	PGDCA/Computer Application/I	Male	1489820 DEKESHWAR PATEL	1489820
2145	1745	1745	0	400	100	4	Fresh	M. Com./Commerce/I	Female	1839081 MANISHA YADAV	1839081
2145	1745	1745	0	400	100	4	Fresh	M. Com./Commerce/I	Female	1403254 KIRAN NO NAME	1403254
2145	1745	1745	0	400	100	4	Fresh	M. Com./Commerce/I	Female	1460239 MOHANI SAHU	1460239
2145	1745	1745	0	400	100	4	Fresh	M. Com./Commerce/I	Female	1225991 NIDHI NO NAME	1225991
2145	1745	1745	0	400	100	4	Fresh	M. Com./Commerce/I	Female	1518168 SWETA NONAME	1518168
2145	1745	1745	0	400	100	4	Fresh	M. Com./Commerce/I	Female	1336451 MONIKA NONAMAE	1336451
2050	1630	1515	115	420	70	6	Fresh	B. A./Arts/I	Male	1827849 GULSHAN SAHU	1827849
2120	1630	1515	115	490	70	7	Fresh	B. A./Arts/I	Male	1755439 CHANDRAKANT YADAV	1755439
2190	1630	1515	115	560	70	8	Fresh	B. A./Arts/I	Male	1755401 VIKASH NONAME	1755401
2120	1630	1515	115	490	70	7	Fresh	B. A./Arts/I	Male	1750260 CHITRASEN NAYAK	1750260
2120	1630	1515	115	490	70	7	Fresh	B. A./Arts/I	Male	1752868 DEVESH KUMAR SAHU	1752868
2110	1515	1515	0	595	85	7	Fresh	B. A./Arts/I	Female	1753163 NIDHI KASHYAP	1753163
Total Amount	Total Fee	Other Fee	Tuition Fee Other Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Institute Name: Category:

Govt Chandulal Chand. Arts Sci. Coll. Patan

ОВС

State: Government of Chhattisgarh

Sanction Number: N/10/4760/3/10/99741

Sanction Date: 12/01/2021

Applications Type: Fresh

Academic Year: 2020-21

												Applic
1849746	1635122	1660981	1518947	1421566	1363985	1443401	1371619	1255655	919688	1847403	1698523	Application ID
1849746 JITENDRA SINHA	1635122 GIREESH KUMAR DEWANGAN	1660981 MONIKA DEWANGAN	1518947 TARINEE NONAME	1421566 DEVENDRA KUMAR	1363985 YAD RAM	1443401 TAMESHWAR KUMAR	1371619 LEKHRAJ VERMA	1255655 YAGYESHWARI NO NAME	919688 POOJA DHIWAR	1847403 ISHU KUMAR NONAME	1698523 TOSHAN CHANDRAKAR	Student Name
Male	Male	Female	Female	Male	Male	Male	Male	Female	Female	Male	Male	Gender
PGDCA/Computer Application/I	PGDCA/Computer Application/I	M. Com./Commerce/I	M. Com./Commerce/I	Course								
Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Туре
4	4	4	4	4	4	4	4	4	4	4	4	No. of Month
100	100	100	100	100	100	100	100	100	100	100	100	Rate
400	400	400	400	400	400	400	400	400	400	400	400	Maintenence Allowance
115	115	0	0	115	115	115	115	0	0	115	115	Tuition Fee Other Fee
9370	9370	9370	9370	9370	9370	9370	9370	9370	9370	1745	1745	Other Fee
9485	9485	9370	9370	9485	9485	9485	9485	9370	9370	1860	1860	Total Fee
9885	9885	9770	9770	9885	9885	9885	9885	9770	9770	2260	2260	Total Amount

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :



Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Academic Year: 2020-21

Institute Name: Category:

Govt Chandulal Chand. Arts Sci. Coll. Patan

OBC

State: Government of Chhattisgarh

Sanction Date: 12/01/2021

Sanction Number: N/10/4760/3/10/99741

Applications Type: Fresh

9770	9370	9370	0	400	100	4	Fresh	PGDCA/Computer Application/I	Female	1673291 NEHA DEWANGAN	1673291
9770	9370	9370	0	400	100	4	Fresh	PGDCA/Computer Application/I	Female	1845656 RENUKA NONAME	1845656
9770	9370	9370	0	400	100	4	Fresh	PGDCA/Computer Application/I	Female	1845041 VENKA KUMARI	1845041
9770	9370	9370	0	400	100	4	Fresh	PGDCA/Computer Application/I	Female	1358280 MADHU DEWANGAN	1358280
9770	9370	9370	0	400	100	4	Fresh	PGDCA/Computer Application/I	Female	1350529 KAMINI NO NAME	1350529
9770	9370	9370	0	400	100	4	Fresh	PGDCA/Computer Application/I	Female	1339455 CHANDRAKALA SAHU	1339455
9770	9370	9370	0	400	100	4	Fresh	PGDCA/Computer Application/I	Female	1338076 KARUNA VERMA	1338076
9770	9370	9370	0	400	100	4	Fresh	PGDCA/Computer Application/I	Female	1845288 KAJAL KAUSHIK	1845288
9770	9370	9370	0	400	100	4	Fresh	PGDCA/Computer Application/I	Female	1637464 ROSHANI VERMA	1637464
9885	9485	9370	115	400	100	4	Fresh	PGDCA/Computer Application/I	Male	1840583 REKHRAM PENDARIYA	1840583
9885	9485	9370	115	400	100	4	Fresh	PGDCA/Computer Application/I	Male	1843202 PANKAJ NONAME	1843202
Total Amount	Total Fee	Other Fee	Tuition Fee Other Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :



Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

State: Government of Chhattisgarh

Sanction Date: 12/01/2021

Sanction Number: N/10/4760/3/10/99741

Applications Type: Fresh

Category: OBC
Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

13493	15128	13713	15178	13661	13653	13338	12560	8427	6550	14436	14481	16582	Application ID
1349343 ASNA SAHU	1512838 KAJAL NO	1371361 SONAM VERMA	1517807 MANJU VERMA	1366157 TUKESHWAR SAHU	1365365 BHUPESH KUMAR SAHU	1333873 MUKESH KUMAR	1256012 SATYENDRA NIRMALKAR	842793 HIMANSHU SINHA	655006 KIRAN NONAME	1443604 BHUMIKA VERMA	1448122 NIKITA DEWANGAN	1658206 GUNJA YADAV	D Student Name
Female	Female	Female	Female	Male	Male	Male	Male	Male	Female	Female	Female	Female	Gender
M. Sc./Zoology/I	M. Sc./Zoology/I	M. Sc./Zoology/I	M. Sc./Zoology/I	PGDCA/Computer Application/I	Course								
Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Туре
4	4	4	4	4	4	4	4	4	4	4	4	4	No. of Month
100	100	100	100	100	100	100	100	100	100	100	100	100	Rate
400	400	400	400	400	400	400	400	400	400	400	400	400	Maintenence Allowance
0	0	0	0	115	115	115	115	115	0	0	0	0	Tuition Fee Other Fee
6245	6245	6245	6245	9370	9370	9370	9370	9370	9370	9370	9370	9370	Other Fee
6245	6245	6245	6245	9485	9485	9485	9485	9485	9370	9370	9370	9370	Total Fee
6645	6645	6645	6645	9885	9885	9885	9885	9885	9770	9770	9770	9770	Total Amount

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

State: Government of Chhattisgarh

Sanction Date: 12/01/2021

Applications Type: Fresh

Scholarship Scheme: Post Matric OBC Scholarship Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Category: ОВС Sanction Number: N/10/4760/3/10/99741

Academic Year: 2020-21

6760	6360	6245	115	400	100	4	Fresh	M. Sc./Zoology/I	Male	1330007 YOGESH KUMAR	1330007
2145	1745	1745	0	400	100	4	Fresh	M. Sc./Physics/I	Female	1716465 KAJAL VERMA	1716465
2145	1745	1745	0	400	100	4	Fresh	M. Sc./Physics/I	Female	1434456 CHETNA DEWANGAN	1434456
2145	1745	1745	0	400	100	4	Fresh	M. Sc./Physics/I	Female	1388011 KAVITA SAHU	1388011
6645	6245	6245	0	400	100	4	Fresh	M. Sc./Zoology/I	Female	1850607 POOJA SINHA	1850607
6645	6245	6245	0	400	100	4	Fresh	M. Sc./Zoology/I	Female	1847516 JYOTI SAHU	1847516
6645	6245	6245	0	400	100	4	Fresh	M. Sc./Zoology/I	Female	1585386 ANJALI SAHU	1585386
6645	6245	6245	0	400	100	4	Fresh	M. Sc./Zoology/I	Female	1399786 RUPALI NO NAME	1399786
6645	6245	6245	0	400	100	4	Fresh	M. Sc./Zoology/I	Female	1408757 PREETI MAHMALLA	1408757
6645	6245	6245	0	400	100	4	Fresh	M. Sc./Zoology/I	Female	1362008 VARSHA VERMA	1362008
6645	6245	6245	0	400	100	4	Fresh	M. Sc./Zoology/I	Female	1441371 YISHULATA NONAME	1441371
6645	6245	6245	0	400	100	4	Fresh	M. Sc./Zoology/I	Female	1427636 SONAL VERMA	1427636
6645	6245	6245	0	400	100	4	Fresh	M. Sc./Zoology/I	Female	1422985 KAVITA NISHAD	1422985
6645	6245	6245	0	400	100	4	Fresh	M. Sc./Zoology/I	Female	1413390 KHILESHWARI SAHU	1413390
6645	6245	6245	0	400	100	4	Fresh	M. Sc./Zoology/I	Female	1371503 CHAMPA SAHU	1371503
6645	6245	6245	0	400	100	4	Fresh	M. Sc./Zoology/I	Female	1500267 RITU NONAME	1500267
6645	6245	6245	0	400	100	4	Fresh	M. Sc./Zoology/I	Female	1360887 HEMA SINHA	1360887
6645	6245	6245	0	400	100	4	Fresh	M. Sc./Zoology/I	Female	1357425 DHANIKA PATEL	1357425
Total Amount	Total Fee	Other Fee	Tuition Fee Other Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Academic Year: 2020-21

Institute Name: Category:

Govt Chandulal Chand. Arts Sci. Coll. Patan

OBC

State: Government of Chhattisgarh

Applications Type: Fresh

Sanction Number: N/10/4760/3/10/99741 Sanction Date: 12/01/2021

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee	Total Amount
1102325	1102325 MADHURI SAHU	Female	M. Sc./Zoology/I	Fresh	4	100	400	0	6245	6245	6645
1339716	1339716 NEHA SAHU	Female	M. Sc./Zoology/I	Fresh	4	100	400	0	6245	6245	6645
845391	845391 DEVIKA NO NAME	Female	M. Sc./Physics/I	Fresh	4	100	400	0	1745	1745	2145
1075156	1075156 YASHWANT SAHU	Male	M. Sc./Physics/I	Fresh	4	100	400	115	1745	1860	2260
1330872	1330872 KESHAVSHANKAR SAHU	Male	M. Sc./Physics/I	Fresh	4	100	400	115	1745	1860	2260
1595415	1595415 PRAVEEN KUMAR	Male	M. Sc./Physics/I	Fresh	4	100	400	115	1745	1860	2260
1408443	1408443 GITIKA SAHU	Female	M. Sc./Physics/I	Fresh	4	100	400	0	1745	1745	2145
1370368	1370368 SAVITA SINHA	Female	M. Sc./Physics/I	Fresh	4	100	400	0	1745	1745	2145
1410476	1410476 RUKMANI SAHU	Female	M. Sc./Mathematics/I	Fresh	4	100	400	0	1745	1745	2145
1552620	1552620 MANJU PATEL	Female	M. Sc./Mathematics/I	Fresh	4	100	400	0	1745	1745	2145
1374716	1374716 RENUKA VERMA	Female	M. Sc./Mathematics/I	Fresh	4	100	400	0	1745	1745	2145
1382672	1382672 CHANDNI NO NAME	Female	M. Sc./Mathematics/I	Fresh	4	100	400	0	1745	1745	2145
703701	703701 PRATIBHA NO NAME	Female	M. Sc./Physics/I	Fresh	4	100	400	0	1745	1745	2145
821647	821647 YAMINI DEWAGAON	Female	M. Sc./Physics/I	Fresh	4	100	400	0	1745	1745	2145
1404702	1404702 DANESHWAR PRASAD	Male	M. Sc./Mathematics/I	Fresh	4	100	400	115	1745	1860	2260
1609801	1609801 SUNIL KUMAR	Male	M. Sc./Mathematics/I	Fresh	4	100	400	115	1745	1860	2260
1675182	1675182 MOHNISH KUMAR	Male	M. Sc./Mathematics/I	Fresh	4	100	400	115	1745	1860	2260
1839610	1839610 SHRADDHA SAHU	Female	M. Sc./Mathematics/I	Fresh	4	100	400	0	1745	1745	2145

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Academic Year: 2020-21

Category : Institute Name :

Govt Chandulal Chand. Arts Sci. Coll. Patan

OBC

State: Government of Chhattisgarh

Sanction Number: N/10/4760/3/10/99741

Sanction Date : 12/01/2021

Applications Type: Fresh

Application ID	1073815	1234158	1423726	1501134	1841402	1373977	1385302	1403203	1359276	1845467	1850847	1361784	1422166	1425486	1412133	1096618	1290095	1374817
Student Name	1073815 NIDHI VERMA	1234158 HIMANI CHANDRAKAR	1423726 SOMIN NO NAME	1501134 RENUKA PATEL	1841402 JAGRITI YADAV	1373977 KUNDAN KUMAR SAHU	1385302 PANKAJ KUMAR	1403203 MOKSHA KUMAR	1359276 POOJA SAHU	1845467 BHOJ KUMARI SAHU	1850847 AARTI SAHU	1361784 HIMANSHEE DEWANGAN	1422166 TESU VERMA	1425486 GUNJA NO NAME	1412133 PAYAL SHREE SAHU	1096618 BHUPENDRA NO NAME	1290095 PAWAN KUMAR	1374817 KHILENDRA SAHU
Gender	Female	Female	Female	Female	Female	Male	Male	Male	Female	Female	Female	Female	Female	Female	Female	Male	Male	Male
Course	M. Sc./Mathematics/I	M. Sc./Mathematics/I	M. Sc./Chemistry/I	M. Sc./Chemistry/I	M. Sc./Chemistry/I	M. Sc./Mathematics/I	M. Sc./Mathematics/I	M. Sc./Mathematics/I	M. Sc./Chemistry/I	M. Sc./Chemistry/I	M. Sc./Chemistry/I	M. Sc./Chemistry/I	M. Sc./Chemistry/I	M. Sc./Chemistry/I	M. Sc./Botany/I	M. Sc./Chemistry/I	M. Sc./Chemistry/I	M. Sc./Chemistry/I
Туре	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh
No. of Month	4	4	4	4	4	4	4	4	4	4	4	4	4	4	4	4	4	4
Rate	100	100	100	100	100	100	100	100	100	100	100	100	100	100	100	100	100	100
Maintenence Allowance	400	400	400	400	400	400	400	400	400	400	400	400	400	400	400	400	400	400
Tuition Fe	0	0	0	0	0	115	115	115	0	0	0	0	0	0	0	115	115	115
Other Fee	1745	1745	6245	6245	6245	1745	1745	1745	6245	6245	6245	6245	6245	6245	6245	6245	6245	6245
Total Fee	1745	1745	6245	6245	6245	1860	1860	1860	6245	6245	6245	6245	6245	6245	6245	6360	6360	6360
Total Amo	2145	2145	6645	6645	6645	2260	2260	2260	6645	6645	6645	6645	6645	6645	6645	6760	6760	6760

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Category:

OBC

State: Government of Chhattisgarh

Sanction Date: 12/01/2021

Sanction Number: N/10/4760/3/10/99741

Academic Year: 2020-21 Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee		Total Fee	Total Amount
143025	1430255 EMAN KUMAR	Male	M. Sc./Chemistry/I	Fresh	4	100	400	115	6245	6360	6760
1837356	1837356 LAKSHMAN SINGH	Male	M. Sc./Chemistry/I	Fresh	4	100	400	115	6245	6360	6760
1451183	1451183 NEELAM NO	Female	M. Sc./Botany/I	Fresh	4	100	400	0	6245	6245	6645
1267372	1267372 RUPA MAHADEVA	Female	M. Sc./Botany/I	Fresh	4	100	400	0	6245	6245	6645
1397883	1397883 YAGYESHWARI NO	Female	M. Sc./Botany/I	Fresh	4	100	400	0	6245	6245	6645
134495(1344950 MALTI NISHAD	Female	M. Sc./Botany/I	Fresh	4	100	400	0	6245	6245	6645
1359783	1359783 BHAVNA DEWANGAN	Female	M. Sc./Botany/I	Fresh	4	100	400	0	6245	6245	6645
1388673	1388673 GEETA SAHU	Female	M. Sc./Botany/I	Fresh	4	100	400	0	6245	6245	6645
919573	919573 REEMA VISHWAKARMA	Female	M. Sc./Botany/I	Fresh	4	100	400	0	6245	6245	6645
137454	1374544 AJAY KUMAR YADAV	Male	M. Sc./Botany/I	Fresh	4	100	400	115	6245	6360	6760
1327243	1327243 NEELAM SAHU	Female	M. Sc./Botany/I	Fresh	4	100	400	0	6245	6245	6645
141160-	1411604 SUMAN SAHU	Female	M. Sc./Botany/I	Fresh	4	100	400	0	6245	6245	6645
142230-	1422304 LELESHWARI SAHU	Female	M. Sc./Botany/I	Fresh	4	100	400	0	6245	6245	6645
1437948	1437948 DEEPTI SAHU	Female	M. Sc./Botany/I	Fresh	4	100	400	0	6245	6245	6645
1333150	1333150 BHARTI DHANKAR	Female	M. A./Sociology/I	Fresh	4	100	400	0	1745	1745	2145
137032	1370325 JYOTI SINHA	Female	M. A./Sociology/I	Fresh	4	100	400	0	1745	1745	2145
1506757	1506757 PRIYANKA VERMA	Female	M. A./Sociology/I	Fresh	4	100	400	0	1745	1745	2145
716792	716792 TILOCHAN NO NAME	Male	M. Sc./Botany/I	Fresh	4	100	400	115	6245	6360	6760

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

99741

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

Sanction Number: N/10/4760/3/10/99741

State:

Government of Chhattisgarh

Sanction Date: 12/01/2021
Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee		Total Fee	Total Amount
848722	848722 SURESH KUMAR NO NAME	Male	M. Sc./Botany/I	Fresh	4	100	400	115	6245	6360	6760
911656	911656 GITESHWARI SAHU	Female	M. Sc./Botany/I	Fresh	4	100	400	0	6245	6245	6645
1390819	1390819 SEEMA VERMA	Female	M. A./Sociology/I	Fresh	4	100	400	0	1745	1745	2145
1517800	1517800 RASHMI PATEL	Female	M. A./Sociology/I	Fresh	4	100	400	0	1745	1745	2145
1694030	1694030 MANEESHA SAHU	Female	M. A./Sociology/I	Fresh	4	100	400	0	1745	1745	2145
1326483	1326483 TULESHWARI NONAME	Female	M. A./Sociology/I	Fresh	4	100	400	0	1745	1745	2145
1332996	1332996 KAJAL VERMA	Female	M. A./Sociology/I	Fresh	4	100	400	0	1745	1745	2145
1339231	1339231 OMESHWARI NONAME	Female	M. A./Sociology/I	Fresh	4	100	400	0	1745	1745	2145
1396610	1396610 YASHODA SAHU	Female	M. A./Hindi/I	Fresh	4	100	400	0	5245	5245	5645
1392505	1392505 SUNITA SAHU	Female	M. A./Hindi/I	Fresh	4	100	400	0	5245	5245	5645
1711992	1711992 SHILPA YADU	Female	M. A./Hindi/I	Fresh	4	100	400	0	5245	5245	5645
1583432	1583432 REENA VERMA	Female	M. A./Hindi/I	Fresh	4	100	400	0	5245	5245	5645
1332867	1332867 SUSMITA VERMA	Female	M. A./Sociology/I	Fresh	4	100	400	0	1745	1745	2145
1381751	1381751 LALITA VERMA	Female	M. A./Sociology/I	Fresh	4	100	400	0	1745	1745	2145
1415209	1415209 SEVANTEEN NO	Female	M. A./Geography/I	Fresh	4	100	400	0	6245	6245	6645
1523511	1523511 SHEETAL NONAME	Female	M. A./Geography/I	Fresh	4	100	400	0	6245	6245	6645
859190	859190 VISHAL PATEL	Male	M. A./Hindi/I	Fresh	4	100	400	115	5245	5360	5760
1355724	1355724 GHANSHYAM NISHAD	Male	M. A./Hindi/I	Fresh	4	100	400	115	5245	5360	5760

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4760/3/10/99741

Sanction Date: 12/01/2021
Applications Type: Fresh

1391248 JYOTI NO NAME	1038537 DIVYA NO NAME	1585267 MOHIT KUMAR	1810047 RAHUL YADAV	824622 RADHIKA NO NAME	1842796 KAVITA NONAME	1446311 VARSHA PATWA	1436417 NANDINI SEN	1372893 GAYATRI NO NAME	1426510 HEMLATA VERMA	1526376 KALYANI NO NAME	1365707 DEEPA SAHU	1646763 LEKHA SAHU	1038410 JAYABHARTI NO NAME	1019926 URVASHI NO NAME	845292 SUMAN NO NAME	1388724 GANGA SAHU	1016995 PRANJAL SINHA NO NAME	Application ID Stude
																		Student Name
Female	Female	Male	Male	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Gender
M. A./Pol. Science/I	M. A./Pol. Science/I	M. A./Pol. Science/I	B. Sc./Science/I	M. A./Economics/I	M. A./Pol. Science/I	M. A./Pol. Science/I	M. A./Pol. Science/I	M. A./Pol. Science/I	M. A./Pol. Science/I	M. A./Economics/I	M. A./Economics/I	M. A./Economics/I	M. A./Economics/I	M. A./Economics/I	M. A./Economics/I	M. A./Hindi/I	M. A./Hindi/I	Course
Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Туре
4	4	4	7	4	4	4	4	4	4	4	4	4	4	4	4	4	4	No. of Month
100	100	100	70	100	100	100	100	100	100	100	100	100	100	100	100	100	100	Rate
400	400	400	490	400	400	400	400	400	400	400	400	400	400	400	400	400	400	Maintenence Allowance
0	0	115	115	0	0	0	0	0	0	0	0	0	0	0	0	0	0	Tuition Fee Other Fee
1745	1745	1745	1545	5245	1745	1745	1745	1745	1745	5245	5245	5245	5245	5245	5245	5245	5245	Other Fee
1745	1745	1860	1660	5245	1745	1745	1745	1745	1745	5245	5245	5245	5245	5245	5245	5245	5245	Total Fee
2145	2145	2260	2150	5645	2145	2145	2145	2145	2145	5645	5645	5645	5645	5645	5645	5645	5645	Total Amount

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Institute Name: Category:

Govt Chandulal Chand. Arts Sci. Coll. Patan

OBC

State: Government of Chhattisgarh

Sanction Number: N/10/4760/3/10/99741 Sanction Date: 12/01/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee	Total Amount
1391141	1391141 NEHA SAHU	Female	M. A./Pol. Science/I	Fresh	4	100	400	0	1745	1745	2145
1344847	1344847 NISHA PATEL	Female	M. A./Pol. Science/I	Fresh	4	100	400	0	1745	1745	
1746297	1746297 NARAYANI SAHU	Female	B. Sc./Science/I	Fresh	7	85	595	0	1545	1545	
1762698	1762698 POKHRAJ SAHU	Male	B. Sc./Science/I	Fresh	7	70	490	115	1545	1660	
1757560	1757560 OMKAR NONAME	Male	B. Sc./Science/I	Fresh	8	70	560	115	1545	1660	
1766285	1766285 SANJAY KUMAR	Male	B. Sc./Science/I	Fresh	8	70	560	115	1545	1660	
1804640	1804640 INDRA KUMAR	Male	B. Sc./Science/I	Fresh	7	70	490	115	1545	1660	
1807235	1807235 LEELADHAR YADU	Male	B. Sc./Science/I	Fresh	8	70	560	115	1545	1660	
1753642	1753642 PRERNA PATEL	Female	B. Sc./Science/I	Fresh	7	85	595	0	1545	1545	
1816421	1816421 THANU RAM DEWANGAN	Male	B. Sc./Science/I	Fresh	6	70	420	115	1545	1660	
1849509	1849509 BRAMHANAND NA	Male	B. Sc./Science/I	Fresh	7	70	490	115	1545	1660	
1830445	1830445 PRAVEEN KUMAR YADAV	Male	B. Sc./Science/I	Fresh	8	70	560	115	1545	1660	
1827364	1827364 HARSH KUMAR	Male	B. Sc./Science/I	Fresh	8	70	560	115	1545	1660	
1818743	1818743 YUVRAJ SAHU	Male	B. Sc./Science/I	Fresh	7	70	490	115	1545	1660	2150
1763761	1763761 LAXMI SONI	Female	B. Sc./Science/I	Fresh	8	85	680	0	1545	1545	2225
1754535	1754535 VARSHA DEWANGAN	Female	B. Sc./Science/I	Fresh	7	85	595	0	1545	1545	2140
1758099	1758099 BHARTI NISHAD	Female	B. Sc./Science/I	Fresh	7	85	595	0	1545	1545	2140
1763946	1763946 MANISHA NONAME	Female	B. Sc./Science/I	Fresh	7	85	595	0	1545	1545	2140

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :



Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Academic Year: 2020-21

Category : Institute Name :

Govt Chandulal Chand. Arts Sci. Coll. Patan

OBC

State: Government of Chhattisgarh

Sanction Number: N/10/4760/3/10/99741
Sanction Date: 12/01/2021
Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee	Total Amount
1768800	1768800 SHRADDHA SAHU	Female	B. Sc./Science/I	Fresh	7	85	595	0	1545	1545	2140
1780452	1780452 BHARTI SAHU	Female	B. Sc./Science/I	Fresh	8	85	680	0	1545	1545	2225
1771387	1771387 LEESHA CHANDRAKAR	Female	B. Sc./Science/I	Fresh	7	85	595	0	1545	1545	2140
1758646	1758646 BHAVANA VERMA	Female	B. Sc./Science/I	Fresh	8	85	680	0	1545	1545	2225
1758450	1758450 PRATIBHA SAHU	Female	B. Sc./Science/I	Fresh	7	85	595	0	1545	1545	2140
1757695	1757695 MANSI CHAKRADHARI	Female	B. Sc./Science/I	Fresh	8	85	680	0	1545	1545	2225
1760380	1760380 VANEE NONAME	Female	B. Sc./Science/I	Fresh	8	85	680	0	1545	1545	2225
1763952	1763952 GEETANJALI NONAME	Female	B. Sc./Science/I	Fresh	8	85	680	0	1545	1545	2225
1781216	1781216 PADMANI NONAME	Female	B. Sc./Science/I	Fresh	7	85	595	0	1545	1545	2140
1766427	1766427 SHALINI BIZOARA	Female	B. Sc./Science/I	Fresh	7	85	595	0	1545	1545	2140
1771343	1771343 SHWETA NONAME	Female	B. Sc./Science/I	Fresh	7	85	595	0	1545	1545	2140
1773623	1773623 RUDRANI SINHA	Female	B. Sc./Science/I	Fresh	7	85	595	0	1545	1545	2140
1779050	1779050 NIHARIKA NONAME	Female	B. Sc./Science/I	Fresh	8	85	680	0	1545	1545	2225
1771486	1771486 PRIYANKA NONAME	Female	B. Sc./Science/I	Fresh	8	85	680	0	1545	1545	2225
1796962	1796962 KUNJA SAHU	Female	B. Sc./Science/I	Fresh	7	85	595	0	1545	1545	2140
1771308	1771308 JAGRITI NONAME	Female	B. Sc./Science/I	Fresh	7	85	595	0	1545	1545	2140
1766389	1766389 AANCHAL DEWANGAN	Female	B. Sc./Science/I	Fresh	7	85	595	0	1545	1545	2140
1766377	1766377 PALAK SAHU	Female	B. Sc./Science/I	Fresh	7	85	595	0	1545	1545	2140

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

ОВС

Institute Name: Category:

Govt Chandulal Chand. Arts Sci. Coll. Patan

State: Government of Chhattisgarh

Sanction Number: N/10/4760/3/10/99741 Sanction Date: 12/01/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID Student Name	1760470 LEELA NONAME	1761682 ROSHANI NONAME	1823672 PRATIBHA NISHAD	1781711 DEEPTI SAHU	1807050 BHAVNA VERMA	1795616 MOKSH KUMARI	1796568 MOHINI SAHU	1796842 KAVITA NISHAD	1830708 SHIVANI VERMA	1808434 MOKSHA VERMA	1808916 CHANDANI KASHYAP	1813283 KIRAN AHIR	1822978 TANUJA NISHAD	1791850 FULESHWARI SAHU	1750343 KUNDAN LAL	1751181 GOPICHAND DEWANGAN	1753164 ASHWANI VERMA	
	Female	ME Female	AD Female	Female	Female	Female	Female	Female	Female	Female	HYAP Female	Female	Female	\HU Female	Male	WANGAN Male	A Male	
Gender															-	E		,
Course	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Science/I	B Sc /Science/T
Туре	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh
No. of Month	8	7	7	8	7	7	7	7	8	7	6	8	7	7	8	7	7	7
Rate	85	85	85	85	85	85	85	85	85	85	85	85	85	85	70	70	70	70
Maintenence Allowance	680	595	595	680	595	595	595	595	680	595	510	680	595	595	560	490	490	490
Tuition Fee Other Fee	0	0	0	0	0	0	0	0	0	0	0	0	0	0	115	115	115	115
	1545	1545	1545	1545	1545	1545	1545	1545	1545	1545	1545	1545	1545	1545	1545	1545	1545	1545
Total Fee	1545	1545	1545	1545	1545	1545	1545	1545	1545	1545	1545	1545	1545	1545	1660	1660	1660	1660
Total Amount	2225	2140	2140	2225	2140	2140	2140	2140	2225	2140	2055	2225	2140	2140	2220	2150	2150	2150

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

State: Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

Sanction Number: N/10/4760/3/10/99741

Sanction Date: 12/01/2021

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee	Total Amount
1788046	1788046 AJAY KUMAR SAHU	Male	B. Sc./Science/I	Fresh	6	70	420	115	1545	1660	2080
1756800	1756800 DIKESH KUMAR	Male	B. Sc./Science/I	Fresh	8	70	560	115	1545	1660	2220
1760991	1760991 PURUSHOTTAM CHAKRADHARI Male	Male	B. Com./Commerce/I	Fresh	8	70	560	115	1515	1630	2190
1762932	1762932 LALIT KUMAR	Male	B. Com./Commerce/I	Fresh	8	70	560	115	1515	1630	2190
1755367	1755367 PRASHANT RIGARI	Male	B. Com./Commerce/I	Fresh	8	70	560	115	1515	1630	2190
1760157	1760157 TUSHAR SAHU	Male	B. Com./Commerce/I	Fresh	8	70	560	115	1515	1630	2190
1763776	1763776 SHUBHAM VERMA	Male	B. Com./Commerce/I	Fresh	7	70	490	115	1515	1630	2120
1768571	1768571 NITISH DHIVER	Male	B. Com./Commerce/I	Fresh	7	70	490	115	1515	1630	2120
1783912	1783912 AAKASH KUMAR	Male	B. Com./Commerce/I	Fresh	8	70	560	115	1515	1630	2190
1784002	1784002 VENKTESH KUMAR	Male	B. Com./Commerce/I	Fresh	7	70	490	115	1515	1630	2120
1810742	1810742 RUPESH PATEL	Male	B. Com./Commerce/I	Fresh	7	70	490	115	1515	1630	2120
1816223	1816223 DURGESH SAHU	Male	B. Com./Commerce/I	Fresh	7	70	490	115	1515	1630	2120
1747344	1747344 KUMARI JYOTI	Female	B. Com./Commerce/I	Fresh	7	85	595	0	1515	1515	2110
1758469	1758469 NIDHI NONAME	Female	B. Com./Commerce/I	Fresh	8	85	680	0	1515	1515	2195
1758573	1758573 NEELAM VERMA	Female	B. Com./Commerce/I	Fresh	8	85	680	0	1515	1515	2195
1757904	1757904 MENKA SAHU	Female	B. Com./Commerce/I	Fresh	7	85	595	0	1515	1515	2110
1761472	1761472 PAYAL NONAME	Female	B. Com./Commerce/I	Fresh	7	85	595	0	1515	1515	2110
1761542	1761542 KAVITA VERMA	Female	B. Com./Commerce/I	Fresh	8	85	680	0	1515	1515	2195

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4760/3/10/99741
Sanction Date: 12/01/2021

Applications Type: Fresh

1790541	1790459	1787448	1785558	1784960	1781210	1761423	1759641	1762877	1766145	1761408	1759504	1747390	1748644	1755962	1758163	1766327	1761844	Application ID
1790541 RAGINEE NONAME	1790459 TEJESHWARI NONAME	1787448 SIMRAN VERMA	1785558 SUMAN DEWANGAN	1784960 NIKITA NONAME	1781210 SATI DHARAMGUDI	1761423 YAMINI SAHU	1759641 LAXMI YADAV	1762877 BHAVNA VERMA	1766145 MONIKA VARMA	1761408 SAPNA VERMA	1759504 MEENA KUMARI SINHA	1747390 BHUNESHWARI NONAME	1748644 KHUSHI NONAME	1755962 DIKSHA GOSWAMI	1758163 DIVYA NONAME	1766327 SOMA NONAME	1761844 MUSKAN NIRMAL	Student Name
Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Gender
B. Com./Commerce/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Com./Commerce/I	Course
Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Туре
8	8	7	8	8	8	8	7	7	7	7	7	7	7	7	8	6	8	No. of Month
85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	Rate
680	680	595	680	680	680	680	595	595	595	595	595	595	595	595	680	510	680	Maintenence Allowance
0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	Tuition Fee Other Fee
1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	Other Fee
1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	Total Fee
2195	2195	2110	2195	2195	2195	2195	2110	2110	2110	2110	2110	2110	2110	2110	2195	2025	2195	Total Amount

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :



Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Category:

OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

State: Government of Chhattisgarh

Sanction Number: N/10/4760/3/10/99741 Sanction Date: 12/01/2021

	Academic real: 2020-21							Applications Type: r	Type: Fresh		
Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Fee Other Fee	Total Fee	Total Amount
1795539	1795539 DIVYA YADAV	Female	B. Com./Commerce/I	Fresh	6	85	510	0	1515	1515	2025
1787463	1787463 SHIVANI DEWANGAN	Female	B. Com./Commerce/I	Fresh	7	85	595	0	1515	1515	2110

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee	Total Amount
1795539	1795539 DIVYA YADAV	Female	B. Com./Commerce/I	Fresh	6	85	510	0	1515	1515	2025
1787463	1787463 SHIVANI DEWANGAN	Female	B. Com./Commerce/I	Fresh	7	85	595	0	1515	1515	2110
1760106	1760106 VIKASH SAHU	Male	B. Com./Commerce/I	Fresh	8	70	560	115	1515	1630	2190
1789452	1789452 NAMRATA NA	Female	B. Com./Commerce/I	Fresh	8	85	680	0	1515	1515	2195
1826012	1826012 NIKITA YADAV	Female	B. Com./Commerce/I	Fresh	7	85	595	0	1515	1515	2110
1826126	1826126 MADHURI SAHU	Female	B. Com./Commerce/I	Fresh	7	85	595	0	1515	1515	2110
1826767	1826767 TANUJA SAHU	Female	B. Com./Commerce/I	Fresh	7	85	595	0	1515	1515	2110
1845992	1845992 DAMINI SAHU	Female	B. Com./Commerce/I	Fresh	8	85	680	0	1515	1515	2195
1760400	1760400 MOHIT SAHU	Male	B. A./Arts/I	Fresh	6	70	420	115	1515	1630	2050
1752880	1752880 KHAGESH KUMAR	Male	B. Com./Commerce/I	Fresh	7	70	490	115	1515	1630	2120
1802387	1802387 AJAY DEWANGAN	Male	B. Com./Commerce/I	Fresh	8	70	560	115	1515	1630	2190
1797409	1797409 KARAN KUMAR	Male	B. Com./Commerce/I	Fresh	8	70	560	115	1515	1630	2190
179729-	1797294 GAJENDRA KUMAR	Male	B. Com./Commerce/I	Fresh	8	70	560	115	1515	1630	2190
1825613	1825613 LOMAN SAHU	Male	B. Com./Commerce/I	Fresh	7	70	490	115	1515	1630	2120
1764763	1764763 SUMIT KUMAR SAHU	Male	B. A./Arts/I	Fresh	8	70	560	115	1515	1630	2190
1759699	1759699 RAHUL KUMAR CHANDRAKAR	Male	B. A./Arts/I	Fresh	8	70	560	115	1515	1630	2190
1759853	1759853 AMIT KUMAR	Male	B. A./Arts/I	Fresh	8	70	560	115	1515	1630	2190
1760372	1760372 KUNDAN LAL	Male	B. A./Arts/I	Fresh	6	70	420	115	1515	1630	2050

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :



Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Category : Institute Name :

Govt Chandulal Chand. Arts Sci. Coll. Patan

ОВС

State: Government of Chhattisgarh

Sanction Number: N/10/4760/3/10/99741

Sanction Date: 12/01/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee		Total Fee	Total Amount
1759858	1759858 KIRTAN KUMAR DHIMAR	Male	B. A./Arts/I	Fresh	8	70	560	115	1515	1630	2190
1760652	1760652 VIKAS KUMAR SAHU	Male	B. A./Arts/I	Fresh	7	70	490	115	1515	1630	2120
1778748	1778748 GULSHAN KUMAR	Male	B. A./Arts/I	Fresh	7	70	490	115	1515	1630	2120
1760033	1760033 CHAMAN KUMAR	Male	B. A./Arts/I	Fresh	6	70	420	115	1515	1630	2050
1760034	1760034 DHARMENDRA KUMAR	Male	B. A./Arts/I	Fresh	7	70	490	115	1515	1630	2120
1760323	1760323 VICKY SAHU	Male	B. A./Arts/I	Fresh	7	70	490	115	1515	1630	2120
1760377	1760377 CHAMMAN NIRMAL	Male	B. A./Arts/I	Fresh	7	70	490	115	1515	1630	2120
1761321	1761321 GULSHAN SAHU	Male	B. A./Arts/I	Fresh	8	70	560	115	1515	1630	2190
1792804	1792804 BHUSHAN KUMAR	Male	B. A./Arts/I	Fresh	8	70	560	115	1515	1630	2190
1765818	1765818 RAVINDRA KUMAR	Male	B. A./Arts/I	Fresh	7	70	490	115	1515	1630	2120
1766108	1766108 BHESHNARAYAN VERMA	Male	B. A./Arts/I	Fresh	7	70	490	115	1515	1630	2120
1769341	1769341 YUVRAJ PATEL	Male	B. A./Arts/I	Fresh	6	70	420	115	1515	1630	2050
1771060	1771060 AJAY KUMAR	Male	B. A./Arts/I	Fresh	7	70	490	115	1515	1630	2120
1772162	1772162 VIDYASAGAR CHANDRAKAR	Male	B. A./Arts/I	Fresh	7	70	490	115	1515	1630	2120
1827738	1827738 ROHIT KUMAR NONAME	Male	B. A./Arts/I	Fresh	7	70	490	115	1515	1630	2120
1780693	1780693 DEVNARAYAN SAHU	Male	B. A./Arts/I	Fresh	7	70	490	115	1515	1630	2120
1783244	1783244 ABHISHEK BAN GOSWAMI	Male	B. A./Arts/I	Fresh	8	70	560	115	1515	1630	2190
1801319	1801319 PRASHANT KUMAR	Male	B. A./Arts/I	Fresh	8	70	560	115	1515	1630	2190

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :



Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Institute Name: Category:

Govt Chandulal Chand. Arts Sci. Coll. Patan

OBC

State: Government of Chhattisgarh

Sanction Number: N/10/4760/3/10/99741

Sanction Date: 12/01/2021

Applications Type: Fresh

Academic Year: 2020-21

٥	1630	1515	115	560	70	8	Fresh	B. A./Arts/I	Male	1786425 HIRALAL NONAME	1786425
3	1630	1515	115	490	70	7	Fresh	B. A./Arts/I	Male	1805576 NANDKISHOR PATEL	1805576
3	1630	1515	115	490	70	7	Fresh	B. A./Arts/I	Male	1835139 RUPESH KUMAR NONAME	1835139
ی	1630	1515	115	490	70	7	Fresh	B. A./Arts/I	Male	1813121 GHANSHYAM PRASAD	1813121
0	1630	1515	115	560	70	8	Fresh	B. A./Arts/I	Male	1804693 TOMAN SAHU	1804693
0	1630	1515	115	420	70	6	Fresh	B. A./Arts/I	Male	1786353 MANISH KUMAR VISHWAKARMA	1786353
S	1630	1515	115	560	70	8	Fresh	B. A./Arts/I	Male	1824745 OMENDRA YADAV	1824745
ပ	1630	1515	115	560	70	8	Fresh	B. A./Arts/I	Male	1827592 DEEPAK KUMAR	1827592
S	1630	1515	115	560	70	8	Fresh	B. A./Arts/I	Male	1807563 DEVVRAT SAHU	1807563
S	1630	1515	115	490	70	7	Fresh	B. A./Arts/I	Male	1827758 AVON KUMAR NONAME	1827758
ی	1630	1515	115	490	70	7	Fresh	B. A./Arts/I	Male	1827777 DANESHWAR YADAV	1827777
S	1630	1515	115	560	70	8	Fresh	B. A./Arts/I	Male	1783692 AJAY KUMAR	1783692
ی	1630	1515	115	560	70	8	Fresh	B. A./Arts/I	Male	1787820 NAGESHWAR PRASAD	1787820
ပ	1630	1515	115	420	70	6	Fresh	B. A./Arts/I	Male	1794811 RAJAT KUMAR	1794811
၁	1630	1515	115	490	70	7	Fresh	B. A./Arts/I	Male	1783754 ISHWAR KUMAR	1783754
ပ	1630	1515	115	490	70	7	Fresh	B. A./Arts/I	Male	1795612 BASANT KUMAR YADAV	1795612
ی	1630	1515	115	490	70	7	Fresh	B. A./Arts/I	Male	1800041 SHESHNARAYAN NISHAD	1800041
Total Amount	Total Fee	Other Fee	Tuition Fee	Maintenence Tuition Fee Other Fee Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

Post Matric OBC Scholarship

Category: OBC

Scholarship Scheme:

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4760/3/10/99741 Sanction Date: 12/01/2021

Applications Type: Fresh

>																		
Application ID	1786488	1790293	1804777	1817101	1810716	1817306	1820537	1828223	1837848	1758296	1834248	1828855	1828004	1804738	1815766	1768131	1818077	1823986
Student Name	1786488 GULAB SINGH	1790293 CHHATRAPAL SAHU	1804777 LACHCHH NISHAD	1817101 JAY PRAKASH	1810716 DOMAN SAHU	1817306 SAMEER NA	1820537 YASHPRAKASH DEWANGAN	1828223 HEMNARAYAN NONAME	1837848 ROSHAN PATEL	1758296 BHUMIKA SAHU	1834248 KHUBI RAM SAHU	1828855 PRIYANSHU VERMA	1828004 MAYANK VERMA	1804738 CHETENDRA KUMAR SAHU	1815766 NIKHIL NONAME	1768131 YOGITA PATEL	1818077 UMAKANT PATEL	1823986 ROSHAN KUMAR SAHU
Gender	Male	Male	Male	Male	Male	Male	Male	Male	Male	Female	Male	Male	Male	Male	Male	Female	Male	Male
Course	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I
Туре	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh
No. of Month	6	7	7	6	7	8	6	7	8	6	8	7	6	8	7	7	8	7
Rate	70	70	70	70	70	70	70	70	70	85	70	70	70	70	70	85	70	70
Maintenence Allowance	420	490	490	420	490	560	420	490	560	510	560	490	420	560	490	595	560	490
Tuition Fee Other Fee	115	115	115	115	115	115	115	115	115	0	115	115	115	115	115	0	115	115
Other Fee	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515
Total Fee	1630	1630	1630	1630	1630	1630	1630	1630	1630	1515	1630	1630	1630	1630	1630	1515	1630	1630
Total Amount																		

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4760/3/10/99741 Sanction Date: 12/01/2021

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee	Total Amount
1828611	1828611 NAINCHAND NONAME	Male	B. A./Arts/I	Fresh	6	70	420	115	1515	1630	
1749199	1749199 ANJALI NISHAD	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	
1749000	1749000 SHIWANGIRAJ CHAKRADHARI	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	
175208	1752084 BHUMIKA SINHA	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	
1761747	1761747 YAMINI NONAME	Female	B. A./Arts/I	Fresh	8	85	680	0	1515	1515	
1761792	1761792 SONAM NONAME	Female	B. A./Arts/I	Fresh	8	85	680	0	1515	1515	
1763066	1763066 TILESHWARI NONAME	Female	B. A./Arts/I	Fresh	6	85	510	0	1515	1515	
1763405	1763405 SAKSHI DEWANGAN	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	
1766846	1766846 GITESHWARI YADAV	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	
1748995	1748995 PREMIN CHAKRADHARI	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	
1772522	1772522 HIMANI SAHU	Female	B. A./Arts/I	Fresh	6	85	510	0	1515	1515	
1780761	1780761 BHAMINI CHAKRADHARI	Female	B. A./Arts/I	Fresh	8	85	680	0	1515	1515	
1780582	1780582 KIRAN YADAV	Female	B. A./Arts/I	Fresh	8	85	680	0	1515	1515	
178056-	1780564 TRIVENI SAHU	Female	B. A./Arts/I	Fresh	8	85	680	0	1515	1515	
1774567	1774567 MAHIMA VERMA	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	
1761184	1761184 BHOOPESHWARI NONAME	Female	B. A./Arts/I	Fresh	8	85	680	0	1515	1515	
1757929	1757929 PALLAVI DHIWAR	Female	B. A./Arts/I	Fresh	6	85	510	0	1515	1515	
1752493	1752493 NAMITA NONAME	Female	B. A./Arts/I	Fresh	6	85	510	0	1515	1515	

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

ОВС

Institute Name: Category:

Govt Chandulal Chand. Arts Sci. Coll. Patan

State: Government of Chhattisgarh

Sanction Date: 12/01/2021

Sanction Number: N/10/4760/3/10/99741

Applications Type: Fresh

Academic Year: 2020-21

▶																		
Application ID	1751393	1750671	1749106	1759909	1746542	1745867	1759188	1759784	1759971	1769251	1762314	1764260	1745809	1746441	1752302	1746814	1761188	1761868
Student Name	1751393 HULSI DEWANGAN	1750671 HEMA NIRMAL	1749106 TARNI NISHAD	1759909 DAMINI CHANDRAKAR	1746542 LOKESHWARI NONAME	1745867 DIKESHWARI NONAME	1759188 INDRANI SINHA	1759784 RITU AHIR	1759971 ALKA CHANDRAKAR	1769251 ISHARANI SAHU	1762314 CHITRA SINHA	1764260 MONIKA YADAV	1745809 RAJESHWARI NONAME	1746441 LEENA NONAME	1752302 PRIYANKA YADAV	1746814 MANISHA NONAME	1761188 BHOOMIKA YADAV	1761868 ISHA NONAME
Gender	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female
Course	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I
Туре	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh
No. of Month	8	8	7	8	7	8	8	8	7	7	8	7	7	6	7	8	7	7
Rate	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85
Maintenence Allowance	680	680	595	680	595	680	680	680	595	595	680	595	595	510	595	680	595	595
Tuition Fee Other Fee	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0
Other Fee	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515
Total Fee	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515
Total Amount	2195	2195	2110	2195	2110	2195	2195	2195	2110	2110	2195	2110	2110	2025	2110	2195	2110	2110

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :



Government of Chhattisgarh

Post Matric OBC Scholarship

Category: OBC Scholarship Scheme:

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Date: 12/01/2021

Sanction Number: N/10/4760/3/10/99741

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee		Total Fee	Total Amount
1769835	1769835 SONAM SINHA	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	2110
1773100	1773100 RUPA NIRMALKAR	Female	B. A./Arts/I	Fresh	6	85	510	0	1515	1515	2025
1770485	1770485 HEENA MANIKPURI	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	2110
1760733	1760733 HEMKUMARI SINHAA	Female	B. A./Arts/I	Fresh	6	85	510	0	1515	1515	2025
1768727	1768727 AARTI NONAME	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	2110
1766756	1766756 KUSUMLATA YADAV	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	2110
1763389	1763389 POOJA VERMA	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	2110
1763320	1763320 NUTAN VERMA	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	2110
1746569	1746569 LIKESHWARI NONAME	Female	B. A./Arts/I	Fresh	8	85	680	0	1515	1515	2195
1767983	1767983 LALITA NISHAD	Female	B. A./Arts/I	Fresh	6	85	510	0	1515	1515	2025
1747376	1747376 LEENA NONAME	Female	B. A./Arts/I	Fresh	6	85	510	0	1515	1515	2025
1753874	1753874 BHUNESHWARI SAHU	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	2110
1759792	1759792 NEHA VERMA	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	2110
1760185	1760185 OM KUMARI	Female	B. A./Arts/I	Fresh	8	85	680	0	1515	1515	2195
1760414	1760414 PRIYA SAHU	Female	B. A./Arts/I	Fresh	8	85	680	0	1515	1515	2195
1783775	1783775 PRITI YADAV	Female	B. A./Arts/I	Fresh	8	85	680	0	1515	1515	2195
1761230	1761230 DEVIKA KUMBHKAR	Female	B. A./Arts/I	Fresh	8	85	680	0	1515	1515	2195
1761288	1761288 VIBHA SAHU	Female	B. A./Arts/I	Fresh	8	85	680	0	1515	1515	2195

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category:

ОВС

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

State: Government of Chhattisgarh

Sanction Number: N/10/4760/3/10/99741

Sanction Date: 12/01/2021

Applications Type: Fresh

Academic Year: 2020-21

Þ																		
Application ID	1766009	1766272	1766478	1805862	1768008	1769848	1770822	1780884	1781457	1787541	1784780	1785097	1785838	1786769	1806205	1797449	1803319	1801480
Student Name	1766009 CHANDANI NONAME	1766272 DALI NONAME	1766478 DAMINI NONAME	1805862 HEMLATA SAHU	1768008 SANTOSHI NISHAD	1769848 GEETANJALI YADAV	1770822 GUNJAN YADAV	1780884 DAMINI CHAKRADHARI	1781457 RANJANA BHARDWAJ	1787541 NUTAN NONAME	1784780 SHRADDHA NONAME	1785097 GAURI NONAME	1785838 NIDHI DEWANGAN	1786769 LEENA KUMARI NISHAD	1806205 TOMIN NONAME	1797449 KHEMKUMARI NISHAD	1803319 BHUMIKA PATEL	1801480 AMITA MANIKPURI
Gender	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female
Course	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I
Туре	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh
No. of Month	7	7	6	8	8	8	8	6	8	8	6	6	8	6	8	7	8	7
Rate	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85
Maintenence Allowance	595	595	510	680	680	680	680	510	680	680	510	510	680	510	680	595	680	595
Maintenence Tuition Fee Other Fee Allowance	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0
Other Fee	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515
Total Fee	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515
Total Amount	2110	2110	2025	2195	2195	2195	2195	2025	2195	2195	2025	2025	2195	2025	2195	2110	2195	2110

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

ОВС

Category : Institute Name :

Govt Chandulal Chand. Arts Sci. Coll. Patan

State: Government of Chhattisgarh

Sanction Number: N/10/4760/3/10/99741

Sanction Date: 12/01/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	180050	179763	178521	180719	178787	17903	179052	179291	179738	181093	179880	17993-	180037	180061	18052	181673	18084	1 20000
Student Name	1800509 TAMESHWARI NISHAD	1797636 JHARNA SINHA	1785218 KAVITA CHANDRAKAR	1807193 KAJAL KAJAL	1787879 NITU KUMARI	1790342 NEHA VERMA	1790526 POOJA VERMA	1792913 RASHMI VERMA	1797382 GOMATI VERMA	1810934 KAJAL NONAME	1798802 KSHAMA SAHU	1799340 BHUMIKA NONAME	1800372 SHWETA NONAME	1800616 DULESHWARI YADAV	1805249 RANJITA PRAJAPATI	1816739 NANDANI SAHU	1808445 RASHMI NONAME	1809090 GITESHWARI NONAME
Gender	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female
Course	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I
Туре	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh
No. of Month	7	7	8	8	8	7	7	7	7	7	6	8	8	8	7	7	7	8
Rate	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85
Maintenence Allowance	595	595	680	680	680	595	595	595	595	595	510	680	680	680	595	595	595	680
Tuition Fee Other Fee	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0
Other Fee	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515
Total Fee	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515
Total Amount	2110	2110	2195	2195	2195	2110	2110	2110	2110	2110	2025	2195	2195	2195	2110	2110	2110	2195

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4760/3/10/99741 Sanction Date: 12/01/2021

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee	Total Amount
1809361	1809361 TIKESHWARI NONAME	Female	B. A./Arts/I	Fresh	6	85	510	0	1515	1515	
1810559	1810559 HEMKUMARI NA	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	
1810643	1810643 HEMLATA NA	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	
1820241	1820241 JAISHRI SAHU	Female	B. A./Arts/I	Fresh	6	85	510	0	1515	1515	
181147	1811474 DALI VERMA	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	
1814048	1814048 ARCHI SONI	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	
1814352	1814352 RIYA VERMA	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	
1815093	1815093 NEELAM SHINHA	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	
1816477	1816477 PALLAVI YADAV	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	
1836192	1836192 ROHANI SONWANI	Female	B. A./Arts/I	Fresh	6	85	510	0	1515	1515	
1816748	1816748 PURNIMA NONAME	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	
1816864	1816864 YOGITA VERMA	Female	B. A./Arts/I	Fresh	8	85	680	0	1515	1515	
1817046	1817046 TILESHWARI SAHU	Female	B. A./Arts/I	Fresh	8	85	680	0	1515	1515	
1817292	1817292 TOMESHWARI SAHU	Female	B. A./Arts/I	Fresh	8	85	680	0	1515	1515	
1819252	1819252 REENA SAHU	Female	B. A./Arts/I	Fresh	И	85	425	0	1515	1515	
1800869	1800869 SHATABDI NONAME	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	
1821371	1821371 HEENA SAHU	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	
1821487	1821487 DROPATI SAHU	Female	B. A./Arts/I	Fresh	7	85	595	0	1515	1515	

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: ОВС

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

Sanction Number: N/10/4760/3/10/99741 Government of Chhattisgarh

State:

Applications Type: Fresh Sanction Date: 12/01/2021

1464155	1242305	1226780	15525	221850	Total :						
2110	1515	1515	0	595	85	7	Fresh	B. A./Arts/I	Female	1833558 MOUSAMI SINHA	1833558
2110	1515	1515	0	595	85	7	Fresh	B. A./Arts/I	Female	1825629 AANCHAL VERMA	1825629
2110	1515	1515	0	595	85	7	Fresh	B. A./Arts/I	Female	1822526 JANNAT SINHA	1822526
Total Amount	Total Fee	uition Fee Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Sit

Category: OBC

Scholarship Scheme:

Post Matric OBC Scholarship

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh
Sanction Number: R/10/4760/3/10/99811

Sanction Date: 12/01/2021

Applications Type: Renewal

0	Renewal 6 100		1078886 DIMPAL VERMA Female
000 0	Renewal 6 100	e M. Sc./Zoology/II	1016951 PARVATI NO NAME Female
000 0	Renewal 6 100	e M. Sc./Zoology/II	1010591 BHUNESHWARI SAHU Female
100 600 0	Renewal 6 1	e M. Sc./Zoology/II	1232850 DIVYA VERMA Female
100 600 0	Renewal 6 1	e M. Sc./Zoology/II	1232431 LEENA SAHU Female
100 600 0	Renewal 6 10	e M. Sc./Zoology/II	1170416 Yanisha Dewangan Female
100 600 0	Renewal 6 1	e M. Sc./Zoology/II	1111189 GEETA CHAKRADHARI Female
100 600 0	Renewal 6 1	e M. Sc./Zoology/II	1554798 SANGEETA SEN Female
100 600 0	Renewal 6 1	e M. Sc./Zoology/II	1425007 SUMAN DADSENA Female
600 0	Renewal 6 1	e M. Sc./Zoology/II	1258589 dulari NISHAD Female
100 600 0	Renewal 6 1	e M. Sc./Zoology/II	1234976 BHARTI GAJENDRA Female
85 510 0	Renewal 6	e B. A./Arts/III	1005577 BHARTI SINHA Female
85 425 0	Renewal 5 8	e B. A./Arts/III	913296 KAJAL VERMA Female
340 0	Renewal 4 85	e B. A./Arts/III	906634 PRIYA YADU Female
70 420 115	Renewal 6 7	B. A./Arts/III	883251 DEVENDRA KUMAR NA Male
85 340 0	Renewal 4 8	e B. A./Arts/II	840313 KUSUM SAHU Female
85 510 0	Renewal 6	e B. A./Arts/III	236550 CHANDRAPRABHA NONAME Female
Maintenence Tuition Fee Other Fee	Type No. of Rate	der Course	Student Name Gender

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

OBC

Academic Year: Institute Name: Category:

2020-21

Govt Chandulal Chand. Arts Sci. Coll. Patan

State: Government of Chhattisgarh

Sanction Number : R/10/4760/3/10/99811

Applications Type: Renewal

Sanction Date: 12/01/2021

Application ID 1421601 Ganga Nishad 1770402 SITESHWARI SAHU NONAME 1719323 SARLA NIRMAL 1535824 SEEMA SAHU 1414935 CHITREKHA DEWANGAN 1364002 LEELA SAHU 1352384 SEETA SAHU 1266249 SONALI NO NAME 1239777 JHARANA NO NAME 1073448 SHWETA VERMA 1560158 VARSHA VERMA 1691210 TRISLA YADAV 565816 RAJESHWARI SAHL 969450 MONIKA NONAME 969203 DAMINI NONAME 554302 VAISHALI SAHU 660787 GAJENDRA KUMAR NONAME 586557 DHUPESHWARI NO **Student Name** Female Female Male Female Gender M. Sc./Zoology/II M. Sc./Zoology/II M. Sc./Mathematics/II M. Sc./Zoology/II M. Sc./Zoology/II M. Sc./Zoology/II M. Sc./Mathematics/II M. Sc./Mathematics/II M. Sc./Mathematics/II M. Sc./Zoology/II Course Renewal Renewal Renewal Renewal Renewa Renewal Renewa Renewal Renewal Renewal Renewal Renewa Renewal Renewal Renewa Renewa Renewa Renewa Type No. of Month 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 Rate 100 100 100 100 100 100 100 100 100 100 100 100 100 100 100 100 Maintenence Allowance 600 600 600 600 600 600 600 600 600 600 600 600 600 600 600 600 900 Tuition Fee | Other Fee 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 6245 6245 6245 6245 6245 1745 1745 1745 1745 1745 1745 6245 1745 1745 1745 **Total Fee** 6245 6245 1745 1745 1745 1745 1745 1745 1745 6245 6245 1745 1745 1745 6245 6245 1745 **Total Amount** 2345 2345 2345 6845 6845 6845 2345 2345 2345 6845 6845 2345 2345 2345 2345 2345 6845 2460

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: ОВС

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

Sanction Number: R/10/4760/3/10/99811 Government of Chhattisgarh

State:

Applications Type: Renewal Sanction Date: 12/01/2021

6845	6245	6245	0	600	100	6	Renewal	M. Sc./Chemistry/II	Female	1038252 MANISHA NO NAME	1038252
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Chemistry/II	Female	1025327 LATA NO NAME	1025327
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Chemistry/II	Female	1019693 SWATI NO NAME	1019693
6960	6360	6245	115	600	100	6	Renewal	M. Sc./Chemistry/II	Male	1261244 TUMESHWAR SAHU	1261244
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Chemistry/II	Female	1796109 POOJA PATEL	1796109
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Chemistry/II	Female	1794403 CHHAYARANI DEWANGAN	1794403
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Chemistry/II	Female	1718422 PREETI VERMA	1718422
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Chemistry/II	Female	1644797 KUMUD SAHU	1644797
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Chemistry/II	Female	1254386 VEENA SAHU	1254386
2345	1745	1745	0	600	100	6	Renewal	M. Sc./Mathematics/II	Female	384616 KESHARI NO NAME	384616
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Chemistry/II	Female	1097394 DHANESHWARI SAHU	1097394
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Chemistry/II	Female	1079052 NIDHI VINAYAK	1079052
6860	6360	6245	115	500	100	ъ	Renewal	M. Sc./Chemistry/II	Male	1541243 CHITRANSH KUMAR	1541243
6960	6360	6245	115	600	100	6	Renewal	M. Sc./Chemistry/II	Male	1348192 TOMAN LAL	1348192
6860	6360	6245	115	500	100	ъ	Renewal	M. Sc./Chemistry/II	Male	1313064 VIVEKANAND NONE	1313064
2345	1745	1745	0	600	100	6	Renewal	M. Sc./Mathematics/II	Female	1584169 PRIYA CHANDRAKER	1584169
2345	1745	1745	0	600	100	6	Renewal	M. Sc./Mathematics/II	Female	1071063 RANU SONI	1071063
2345	1745	1745	0	600	100	6	Renewal	M. Sc./Mathematics/II	Female	691279 YUGESHWARI NO NAME	691279
Total Amount	Total Fee	Other Fee	Tuition Fee Other Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Academic Year: 2020-21

Institute Name: Category:

Govt Chandulal Chand. Arts Sci. Coll. Patan

OBC

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811

Applications Type: Renewal Sanction Date: 12/01/2021

6845	6245	6245	0	600	100	6	Renewal	M. Sc./Botany/II	Female	790340 Bhomeshwaree Sahu	790340
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Botany/II	Female	659753 DIVYA SINHA	659753
6960	6360	6245	115	600	100	6	Renewal	M. Sc./Botany/II	Male	1450294 PREMSHANKAR SAHU	1450294
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Botany/II	Female	1710691 PUSHPANJALI VERMA	1710691
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Botany/II	Female	1584048 ROSHNI SAHU	1584048
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Botany/II	Female	1514477 KHUSHBOO TIKARIHA	1514477
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Botany/II	Female	1419704 VARSHA BANCHHOR	1419704
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Botany/II	Female	1302197 VIDYA SAHU	1302197
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Chemistry/II	Female	754576 Indu No Name	754576
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Botany/II	Female	1238483 RENUKA DEWANGAN	1238483
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Botany/II	Female	1216894 KUSUMLATA NO NAME NO NAME	1216894
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Botany/II	Female	1181878 RAGINI SAHU	1181878
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Botany/II	Female	831990 SARITA NO SURNAME	831990
6960	6360	6245	115	600	100	6	Renewal	M. Sc./Botany/II	Male	1786784 DEVRAJ SAHU	1786784
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Chemistry/II	Female	1237025 FALGUNI VERMA	1237025
6960	6360	6245	115	600	100	6	Renewal	M. Sc./Chemistry/II	Male	1171125 BHOOPESH NO NAME	1171125
6960	6360	6245	115	600	100	6	Renewal	M. Sc./Chemistry/II	Male	1061246 BHUSHAN LAL NISHAD	1061246
Total Amount	Total Fee	Other Fee	Tuition Fee	Maintenence Tuition Fee Other Fee Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :



Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Category:

ОВС

Academic Year: 2020-21

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811

Sanction Date: 12/01/2021

Applications Type: Renewal

5860	5360	5245	115	500	100	5	Renewal	M. A./Hindi/II	Male	1023799 SUJEET KUMAR SAHU	1023799
5945	5245	5245	0	700	100	7	Renewal	M. A./Hindi/II	Female	1006674 PREMANJALI SINHA	1006674
2345	1745	1745	0	600	100	6	Renewal	M. A./Sociology/II	Female	1019673 VEENU KASHYAP NO NAME	1019673
2345	1745	1745	0	600	100	6	Renewal	M. A./Sociology/II	Female	1019221 DAMINI NO NAME	1019221
2345	1745	1745	0	600	100	6	Renewal	M. A./Sociology/II	Female	938266 OMESHWARI PATEL	938266
2245	1745	1745	0	500	100	5	Renewal	M. A./Sociology/II	Female	614605 RITU NO NAME	614605
5745	5245	5245	0	500	100	5	Renewal	M. A./Hindi/II	Female	1544856 ANITA SINHA	1544856
5845	5245	5245	0	600	100	6	Renewal	M. A./Hindi/II	Female	1528869 RATNA SAHU	1528869
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Botany/II	Female	367395 Bhumika Bhardwaj	367395
2245	1745	1745	0	500	100	5	Renewal	M. A./Sociology/II	Female	1234134 MINAKSHI NO NAME	1234134
2460	1860	1745	115	600	100	6	Renewal	M. A./Sociology/II	Male	1321771 SAGAR SEN	1321771
2360	1860	1745	115	500	100	5	Renewal	M. A./Sociology/II	Male	1242558 shivendra kumar	1242558
2460	1860	1745	115	600	100	6	Renewal	M. A./Sociology/II	Male	1234911 RUPRAM NO NAME	1234911
2345	1745	1745	0	600	100	6	Renewal	M. A./Sociology/II	Female	1026472 POONAM NO NAME	1026472
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Botany/II	Female	1279733 LUKESHWARI NISHAD	1279733
6960	6360	6245	115	600	100	6	Renewal	M. Sc./Botany/II	Male	1097441 RAJ KUMAR	1097441
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Botany/II	Female	1019512 PRIYANKA NO NAME	1019512
6845	6245	6245	0	600	100	6	Renewal	M. Sc./Botany/II	Female	1016441 MALTI NO NAME	1016441
Total Amount	Total Fee	Other Fee	Tuition Fee Other Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Institute Name: Category:

Govt Chandulal Chand. Arts Sci. Coll. Patan

ОВС

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811

Sanction Date: 12/01/2021

Academic Year: 2020-21 Applications Type: Renewal

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Academic Year: 2020-21

Category : Institute Name :

Govt Chandulal Chand. Arts Sci. Coll. Patan

OBC

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811

Sanction Date: 12/01/2021

Applications Type: Renewal

1660714	1660675	903948	602596	1632559	1602137	1501897	1499657	1233647	1233813	1233346	1816639	1151277	916873	477032	219407	1500905	1364998	Application ID
1660714 UTTAM KUMAR	1660675 HARISH VERMA	903948 VANDANA NO NAME	602596 SHRADHDA NO NAME	1632559 ROHIT KUMAR	1602137 GEETESH KUMAR	1501897 MOHNISH YADAV	1499657 TAKESHWAR NONAME	1233647 GEETANJALI NAYAK	1233813 DILESHWARI NO NAME	1233346 RENU CHANDRAKAR	1816639 RISHI KUMAR	1151277 RAJAT KUMAR DEWANGAN	916873 KAJAL CHANDRAKAR	477032 RUKMANEE XXXXX	219407 LEELAWATI NONAME	1500905 DAMINI VERMA	1364998 URVASHI KOSE	Student Name
Male	Male	Female	Female	Male	Male	Male	Male	Female	Female	Female	Male	Male	Female	Female	Female	Female	Female	Gender
B. Sc./Science/II	B. Sc./Science/III	M. A./Pol. Science/II	M. A./Pol. Science/II	B. Sc./Science/II	B. Sc./Science/II	B. Sc./Science/III	B. Sc./Science/III	M. A./Pol. Science/II	M. A./Pol. Science/II	M. A./Pol. Science/II	M. A./Pol. Science/II	M. A./Pol. Science/II	M. A./Pol. Science/II	M. A./Economics/II	M. A./Economics/II	M. A./Pol. Science/II	M. A./Pol. Science/II	Course
Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Туре
6	6	6	6	6	4	6	6	6	6	6	ъ	6	6	6	6	6	6	No. of Month
70	70	100	100	70	70	70	70	100	100	100	100	100	100	100	100	100	100	Rate
										0	0	0		0	0	0		
420	420	600	600	420	280	420	420											Maintenence Allowance
420 115	420 115	600 0	600 0	420 115	280 115	420 115	420 115	600 0	600 0	600 0	0 500 115	0 600 115	600 0	0 600 0	600 0	0 600 0	600 0	The state of the s
								600	600	600	500	600	600	600	600	600	600	Maintenence Tuition Fee Other Fee Allowance
115	115	0	0	115	115	115	115	600 0	600 0	600 0	500 115	600 115	600 0	600 0	600 0	600 0	600 0	

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811

Applications Type: Renewal

Sanction Date:

12/01/2021

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee	Total Amount
1671225	1671225 TRAMESHWAR SAHU	Male	B. Sc./Science/II	Renewal	ъ	70	350	115	1545	1660	2010
1516815	1516815 NITESH KUMAR SAHU	Male	B. Sc./Science/III	Renewal	6	70	420	115	1545	1660	2080
1489490	1489490 DILIP KUMAR NISHAD	Male	B. Sc./Science/III	Renewal	6	70	420	115	1545	1660	2080
1496979	1496979 UMESH VERMA	Male	B. Sc./Science/III	Renewal	6	70	420	115	1545	1660	2080
1561617	1561617 PANKAJ KUMAR DEWANGAN	Male	B. Sc./Science/III	Renewal	6	70	420	115	1545	1660	2080
1574956	1574956 NIRAJ KUMAR KUMAR	Male	B. Sc./Science/III	Renewal	6	70	420	115	1545	1660	2080
1844009	1844009 GAIND LAL	Male	B. Sc./Science/II	Renewal	4	70	280	115	1545	1660	1940
1729646	1729646 NAVRATAN SAHU	Male	B. Sc./Science/II	Renewal	И	70	350	115	1545	1660	2010
1641892	1641892 CHANDRASHEKHAR SAHU	Male	B. Sc./Science/II	Renewal	6	70	420	115	1545	1660	2080
1645279	1645279 TIKENDRA NONAME	Male	B. Sc./Science/III	Renewal	6	70	420	115	1545	1660	2080
1794779	1794779 CHIRAG NONAME	Male	B. Sc./Science/II	Renewal	ъ	70	350	115	1545	1660	2010
1824476	1824476 DUSHYANT KUMAR	Male	B. Sc./Science/II	Renewal	6	70	420	115	1545	1660	2080
1696220	1696220 YUVRAJ SAHU	Male	B. Sc./Science/III	Renewal	ъ	70	350	115	1545	1660	2010
1710980	1710980 HEM SHANKAR SHANDILYA	Male	B. Sc./Science/II	Renewal	И	70	350	115	1545	1660	2010
1519089	1519089 PREMPRAKASH NONAME	Male	B. Sc./Science/III	Renewal	6	70	420	115	1545	1660	2080
1527696	1527696 AASHISH KUMAR SINHA	Male	B. Sc./Science/III	Renewal	6	70	420	115	1545	1660	2080
1677148	1677148 RENUKA SAHU	Female	B. Sc./Science/II	Renewal	ъ	85	425	0	1545	1545	1970
1679571	1679571 KHUSHBOO VERMA	Female	B. Sc./Science/II	Renewal	5	85	425	0	1545	1545	1970

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811

Sanction Date: 12/01/2021

Applications Type: Renewal

Institute Name: Category: ОВС Govt Chandulal Chand. Arts Sci. Coll. Patan

Application ID	Student Name	Gender	Course	Туре	No. of	Rate	Maintenence Tuition Fee Other Fee	Tuition Fee		Total Fee	Total Amount
1680417	1680417 SHIVKUMARI YADU	Female	B. Sc./Science/II	Renewal	6	85	510	0	1545	1545	2055
1682130	1682130 DEEPTI SAHU	Female	B. Sc./Science/II	Renewal	6	85	510	0	1545	1545	2055
1684146	1684146 LOKESHWARANAND SAHU	Male	B. Sc./Science/II	Renewal	5	70	350	115	1545	1660	2010
1686740	1686740 MANISH KUMAR VERMA	Male	B. Sc./Science/II	Renewal	6	70	420	115	1545	1660	2080
1682979	1682979 ANJALI NONAME	Female	B. Sc./Science/II	Renewal	5	85	425	0	1545	1545	1970
1692629	1692629 NEHA VERMA	Female	B. Sc./Science/II	Renewal	5	85	425	0	1545	1545	1970
1695983	1695983 POOJA DEWANGAN	Female	B. Sc./Science/II	Renewal	6	85	510	0	1545	1545	2055
1697944	1697944 CHAMPA SAHU	Female	B. Sc./Science/II	Renewal	ъ	85	425	0	1545	1545	1970
1669457	1669457 VARSHARANI SAHU	Female	B. Sc./Science/III	Renewal	6	85	510	0	1545	1545	2055
1670841	1670841 CHANDRAKANTA SAHU	Female	B. Sc./Science/II	Renewal	5	85	425	0	1545	1545	1970
1698558	1698558 SUSHMA NONAME	Female	B. Sc./Science/III	Renewal	6	85	510	0	1545	1545	2055
1703842	1703842 PUSHPA SINHA	Female	B. Sc./Science/II	Renewal	5	85	425	0	1545	1545	1970
1704501	1704501 NAMRATA YADU	Female	B. Sc./Science/II	Renewal	6	85	510	0	1545	1545	2055
1704739	1704739 ACHALA SAHU	Female	B. Sc./Science/II	Renewal	ъ	85	425	0	1545	1545	1970
1682367	1682367 PUSHPANJALI VERMA	Female	B. Sc./Science/II	Renewal	6	85	510	0	1545	1545	2055
1682370	1682370 JANHVEE SAHU	Female	B. Sc./Science/II	Renewal	6	85	510	0	1545	1545	2055
1710285	1710285 LEELAM SAHU	Female	B. Sc./Science/III	Renewal	4	85	340	0	1545	1545	1885
1795521	1795521 LAXMI NONAME	Female	B. Sc./Science/II	Renewal	5	85	425	0	1545	1545	1970

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: ОВС

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811 12/01/2021

Applications Type: Renewal

Sanction Date:

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee	Total Amount
1801044	1801044 HARSHA YADAV	Female	B. Sc./Science/III	Renewal	6	85	510	0	1545	1545	2055
1812436	1812436 DURGESHWARI NISHAD	Female	B. Sc./Science/II	Renewal	ъ	85	425	0	1545	1545	1970
1698111	1698111 JYOTI SAHU	Female	B. Sc./Science/II	Renewal	ъ	85	425	0	1545	1545	1970
1698475	1698475 JANAVI SAHU	Female	B. Sc./Science/II	Renewal	ъ	85	425	0	1545	1545	1970
1828886	1828886 PALLAVI VERMA	Female	B. Sc./Science/III	Renewal	6	85	510	0	1545	1545	2055
1838143	1838143 CHARULATA PENDARIYA	Female	B. Sc./Science/III	Renewal	4	85	340	0	1545	1545	1885
1838164	1838164 CHINTESHWARI SAHU	Female	B. Sc./Science/III	Renewal	4	85	340	0	1545	1545	1885
1838902	1838902 LEKHITA PATEL	Female	B. Sc./Science/II	Renewal	4	85	340	0	1545	1545	1885
1709366	1709366 PAYAL SAHU	Female	B. Sc./Science/II	Renewal	ъ	85	425	0	1545	1545	1970
1709466	1709466 DISHA TIKARIHA	Female	B. Sc./Science/II	Renewal	6	85	510	0	1545	1545	2055
1839874	1839874 UMA NONAME	Female	B. Sc./Science/III	Renewal	4	85	340	0	1545	1545	1885
1846090	1846090 BHUMA SAHU	Female	B. Sc./Science/II	Renewal	4	85	340	0	1545	1545	1885
1841956	1841956 MAMTA NISHAD	Female	B. Sc./Science/II	Renewal	4	85	340	0	1545	1545	1885
1841043	1841043 RAGINEE SAHU	Female	B. Sc./Science/II	Renewal	4	85	340	0	1545	1545	1885
1820225	1820225 VEENA VERMA	Female	B. Sc./Science/II	Renewal	6	85	510	0	1545	1545	2055
1824120	1824120 RAGINI NISHAD	Female	B. Sc./Science/II	Renewal	ъ	85	425	0	1545	1545	1970
1486114	1486114 TRIPTI VERMA	Female	B. Sc./Science/III	Renewal	6	85	510	0	1545	1545	2055
1488165	1488165 RINKI SARVE	Female	B. Sc./Science/III	Renewal	6	85	510	0	1545	1545	2055

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Category : Institute Name :

Govt Chandulal Chand. Arts Sci. Coll. Patan

ОВС

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811

Sanction Date: 12/01/2021

Academic Year: 2020-21 Applications Type: Renewal

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :



Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Academic Year: 2020-21

Category : Institute Name :

Govt Chandulal Chand. Arts Sci. Coll. Patan

OBC

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811

Sanction Date : 12/01/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1539027	1539027 YOGITA NISHAD	Female	B. Sc./Science/III	Renewal	6	85	510	0	1545	1545	2055
1540926	1540926 REENA SAHU	Female	B. Sc./Science/III	Renewal	6	85	510	0	1545	1545	2055
1516388	1516388 CHITRANI DEWANGAN	Female	B. Sc./Science/III	Renewal	6	85	510	0	1545	1545	2055
1527955	1527955 PRERNA VERMA	Female	B. Sc./Science/III	Renewal	6	85	510	0	1545	1545	2055
1554278	1554278 VARSHA NONAME	Female	B. Sc./Science/III	Renewal	6	85	510	0	1545	1545	2055
1555430	1555430 VANDANA DEWANGAN	Female	B. Sc./Science/III	Renewal	6	85	510	0	1545	1545	2055
1654576	1654576 INDU NA	Female	B. Sc./Science/III	Renewal	6	85	510	0	1545	1545	2055
1657305	1657305 NOMESHWARI SINHA	Female	B. Sc./Science/II	Renewal	ъ	85	425	0	1545	1545	1970
1530834	1530834 HEENA SAHU	Female	B. Sc./Science/III	Renewal	6	85	510	0	1545	1545	2055
1533096	1533096 TARNI PAL	Female	B. Sc./Science/III	Renewal	8	85	680	0	1545	1545	2225
1645563	1645563 SONIYA SAHU	Female	B. Sc./Science/II	Renewal	5	85	425	0	1545	1545	1970
1623858	1623858 SURUCHI SAHU	Female	B. Sc./Science/II	Renewal	8	85	680	0	1545	1545	2225
1669086	1669086 POORVA VERMA	Female	B. Sc./Science/II	Renewal	6	85	510	0	1545	1545	2055
1666566	1666566 RUPESHWARI SAHU	Female	B. Sc./Science/II	Renewal	6	85	510	0	1545	1545	2055
1546096	1546096 JAYA CHAKRADHAR	Female	B. Sc./Science/III	Renewal	6	85	510	0	1545	1545	2055
1548696	1548696 AARTI VERMA	Female	B. Sc./Science/III	Renewal	6	85	510	0	1545	1545	2055
1659675	1659675 LAXMI SAHU	Female	B. Sc./Science/III	Renewal	6	85	510	0	1545	1545	2055
1550649	1550649 DIKESHWARI SAHU	Female	B. Sc./Science/II	Renewal	4	85	340	0	1545	1545	1885

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Category : Institute Name :

Govt Chandulal Chand. Arts Sci. Coll. Patan

ОВС

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811

Sanction Date: 12/01/2021

Academic Year: 2020-21 Applications Type: Renewal

2050	1630	1515	115	420	70	6	Renewal	B. Com./Commerce/III	Male	518375 SHEKHAR YADAV	1518375
2050	1630	1515	115	420	70	6	Renewal	B. Com./Commerce/II	Male	1667906 BHUPENDRA KUMAR	1667906
2055	1545	1545	0	510	85	6	Renewal	B. Sc./Science/III	Female	1587316 NEHA SAHU	1587316
2055	1545	1545	0	510	85	6	Renewal	B. Sc./Science/III	Female	1583963 ANJALI NO NAME	1583963
2055	1545	1545	0	510	85	6	Renewal	B. Sc./Science/III	Female	1587011 NIKITA DEWANGAN	1587011
1970	1545	1545	0	425	85	5	Renewal	B. Sc./Science/II	Female	1657675 TEJASVI NISHAD	1657675
1940	1660	1545	115	280	70	4	Renewal	B. Sc./Science/II	Male	1448471 RAKESH KUMAR	1448471
2080	1660	1545	115	420	70	6	Renewal	B. Sc./Science/III	Male	1381378 PAVAN KUMAR	1381378
2055	1545	1545	0	510	85	6	Renewal	B. Sc./Science/II	Female	1662532 SADHANA SAHU	1662532
2055	1545	1545	0	510	85	6	Renewal	B. Sc./Science/II	Female	1666429 SHREYA VERMA	1666429
1970	1545	1545	0	425	85	5	Renewal	B. Sc./Science/II	Female	1652530 TIKESHWARI SAHU	1652530
2055	1545	1545	0	510	85	6	Renewal	B. Sc./Science/II	Female	1635251 MUSKAN DEWANGAN	1635251
2055	1545	1545	0	510	85	6	Renewal	B. Sc./Science/III	Female	1599044 VEERBALA NO NAME	159904-
2055	1545	1545	0	510	85	6	Renewal	B. Sc./Science/III	Female	1587385 SHILVEE DEWANGAN	1587385
2055	1545	1545	0	510	85	6	Renewal	B. Sc./Science/II	Female	1647253 SHRADHA SAHU	1647253
1970	1545	1545	0	425	85	5	Renewal	B. Sc./Science/II	Female	1653247 SAVITRI SAHU	1653247
2055	1545	1545	0	510	85	6	Renewal	B. Sc./Science/III	Female	1572518 RITIKA DEWANGAN	1572518
2055	1545	1545	0	510	85	6	Renewal	B. Sc./Science/III	Female	1575914 RANCHI TIKARIHA	157591
Total Amount	Total Fee	Other Fee	Tuition Fee Other Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Institute Name: Category:

Govt Chandulal Chand. Arts Sci. Coll. Patan

ОВС

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811 Sanction Date: 12/01/2021

Academic Year: 2020-21 Applications Type: Renewal

151	148	157	154	153	151	169	169	166	166	165	159	184	167	136	135	135	115	Application ID
6783 PA	3138 DA	8353 MC	3589 PUI	5168 DO	8625 AN	2698 PAI	2653 NIF	2678 KU	2469 KH	7541 YO	4332 AV:	2178 INI	2235 DE	7350 KU	4284 HE	0430 NI	7264 PIY	ı ID
1516783 PAYAL VERMA	1483138 DAKESHWARI DHIMAR	1578353 MOHIT KUMAR	1543589 PUNARAD NO NAME	1535168 DOMESHWAR SINHA	1518625 ANSHUL MADHARIYA	1692698 PARASMANI NISHAD	1692653 NIRAJ KUMAR	1662678 KUNAL VERMA	1662469 KHILENDRA KUMAR	1657541 YOGENDRA SAHU	1594332 AVINASH NISHAD	1842178 INDRA KUMAR	1672235 DEEPAK KUMAR	1367350 KUNAL SONKAR	1354284 HEMANT KUMAR SAHU	1350430 NIKHIL SAHU	1157264 PIYUSH KUMAR SAHU	Student Name
Female	Female	Male	Male	Male	Male	Male	Male	Male	Male	Male	Male	Male	Male	Male	Male	Male	Male	Gender
B. Com./Commerce/III	B. Com./Commerce/III	B. Com./Commerce/III	B. Com./Commerce/III	B. Com./Commerce/III	B. Com./Commerce/III	B. Com./Commerce/II	B. Com./Commerce/II	B. Com./Commerce/II	B. Com./Commerce/II	B. Com./Commerce/II	B. Com./Commerce/III	B. Com./Commerce/II	B. Com./Commerce/II	B. Sc./Science/II	B. Sc./Science/III	B. Sc./Science/II	B. Sc./Science/III	Course
Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Туре
6	6	6	4	6	6	6	6	6	5	6	6	4	6	5	6	4	6	No. of Month
85	85	70	70	70	70	70	70	70	70	70	70	70	70	70	70	70	70	Rate
510	510	420	280	420	420	420	420	420	350	420	420	280	420	350	420	280	420	Maintenence Allowance
0	0	115	115	115	115	115	115	115	115	115	115	115	115	115	115	115	115	Tuition Fee Other Fee
1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1545	1545	1545	1545	Other Fee
1515	1515	1630	1630	1630	1630	1630	1630	1630	1630	1630	1630	1630	1630	1660	1660	1660	1660	Total Fee
2025	2025	2050	1910	2050	2050	2050	2050	2050	1980	2050	2050	1910	2050	2010	2080	1940	2080	Total Amount

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :



Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Category:

ОВС

Academic Year: 2020-21

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

State: Government of Chhattisgarh

Applications Type: Renewal

Sanction Number: R/10/4760/3/10/99811
Sanction Date: 12/01/2021

Gender Course Type No. of Month Rate Month Maintenence Allowance Tuition Fee Allowance Other Fee Allowance Total Fee Allowance Male B. Com./Commerce/III Renewal 6 70 420 115 1515 1630 Male B. Com./Commerce/III Renewal 5 70 350 115 1515 1630 Male B. Com./Commerce/III Renewal 5 70 350 115 1515 1630 Female B. Com./Commerce/III Renewal 6 85 510 0 1515 1515 1515 Male B. Com./Commerce/III Renewal 6 85 510 0 1515 1515 1515 Male B. Com./Commerce/III Renewal 6 85 510 0 1515 1515 1515 Female B. Com./Commerce/III Renewal 6 85 510 0 1515 1515 1515 1515 Female
Type No. of Month Rate Month Maintenence Allowance Tuition Fee Allowance Other Fee Allowance Total Fee Allowance Renewal 4 5 70 420 115 1515 1630 Renewal 5 70 350 115 1515 1630 Renewal 5 70 420 115 1515 1630 Renewal 5 70 350 115 1515 1630 Renewal 5 70 85 510 0 1515 1515 Renewal 6 85
No. of Month Rate Month Maintenence Allowance Tuition Fee Allowance Other Fee Allowance Total Fee Allowance 1 4 4 4 115 1515 1630 1 4 4 4 115 1515 1630 1 4 4 4 115 1515 1630 1 4 4 4 115 1515 1630 1 5 7 350 115 1515 1630 1 6 85 510 0 1515 1515 1 6 85 510 0 1515 1530 1 5 7 420 115 1515 1515 1 6 85 510 0 1515 1530 1 5 7 420 115 1515 1530 1 6 85 510 0 1515 1535 1 6
Rate Maintenence Allowance Tuition Fee Other Fee Total Fee 6 70 420 115 1515 1630 5 70 350 115 1515 1630 6 70 420 115 1515 1630 5 70 350 115 1515 1630 6 85 510 0 1515 1515 6 85 510 1515 1515 1530 6 85 510 1515 1515 1530 6 85 510 1515 1515 1530 6 85 510 1515 1515 1530 6 85 510 1515 1515 1530 6 85 510 1515 1515 1530 6 85 510 1515 1515 1515 6 85 510 1515 1515 1515
Maintenence Allowance Tuition Fee Allowance Other Fee Other Fee Total Fee Total Fe
Tuition Fee Other Fee Total Fee 0 1115 1515 1630 1115 1515 1630 1115 1515 1630 1115 1515 1630 1115 1515 1515 115 1515 1515 115 1515 1630 115 1515 1515 115 1515 1515 115 1515 1515 115 1515 1515
Total Fee 1630 1630 1630 1630 1515 1515 1515
Total Fee 1630 1630 1630 1630 1515 1515 1515
σσσσσσσσσσσσσσσσσσσσσσσσσσσσσσσσσσσσ
Total Amount 2050 1980 2050 1980 2025 2025 2025 2025

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811

Sanction Date: 12/01/2021
Applications Type: Renewal

1644241 1646505 1648676 1648871 1676703	1619496 1625029 1625588 1639527 1675755 1833474	Application ID
1644241 TINU SAHU 1646505 NEETU SAHU 1648676 BHUNESHWARI VERMA 1648871 PURNIMA SINGAUR 1676703 RITU VERMA	1619496 MADHURI VERMA 1625029 DURGA VERMA 1625588 BHUMIKA NONAME 1639527 PARVATI YADAV 1675755 TULSI MANIKPURI 1833474 DIGESHWARI SEN	Student Name
Female Female Female Female	Female Female Female Female Female	Gender
B. Com./Commerce/II B. Com./Commerce/II B. Com./Commerce/II B. Com./Commerce/II B. Com./Commerce/II	B. Com./Commerce/II B. Com./Commerce/III B. Com./Commerce/II B. Com./Commerce/II B. Com./Commerce/II	Course
Renewal Renewal Renewal Renewal	Renewal Renewal Renewal Renewal Renewal	Туре
6 6 6 5 5	6 5 5 6 6	No. of Month
85 85 85 85	88 88 88 88 88	Rate
425 510 510 510 510	510 510 510 425 425	Maintenence Allowance
0 0 0 0	0 0 0 0 0 0	Tuition Fee Other Fee
1515 1515 1515 1515 1515	1515 1515 1515 1515 1515	Other Fee
1515 1515 1515 1515 1515	1515 1515 1515 1515 1515	Total Fee
1940 2025 2025 2025 2025	2025 2025 2025 1940 1940 2025	Total Amount

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

98811

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh
Sanction Number: R/10/4760/3/10/99811

Sanction Date: 12/01/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee	Total Amount
1790836	1790836 TOSHI CHAKRDHARI	Female	B. Com./Commerce/II	Renewal	6	85	510	0	1515	1515	
1712094	1712094 MANJU NONAME	Female	B. Com./Commerce/II	Renewal	6	85	510	0	1515	1515	
1698447	1698447 VEENA SAHU	Female	B. Com./Commerce/II	Renewal	5	85	425	0	1515	1515	
1676972	1676972 SHREJAL VERMA	Female	B. Com./Commerce/II	Renewal	6	85	510	0	1515	1515	
1391599	1391599 JITESH NIRMAL	Male	B. Com./Commerce/III	Renewal	6	70	420	115	1515	1630	
1496688	1496688 ABHISHEK VERMA	Male	B. Com./Commerce/III	Renewal	6	70	420	115	1515	1630	
1506411	1506411 JAWAHAR SINGH SAHU	Male	B. Com./Commerce/III	Renewal	6	70	420	115	1515	1630	
1515843	1515843 VINOD KUMAR	Male	B. Com./Commerce/III	Renewal	6	70	420	115	1515	1630	
1648807	1648807 DEEPMALA VERMA	Female	B. Com./Commerce/II	Renewal	6	85	510	0	1515	1515	
1649288	1649288 YAMINI PATEL	Female	B. Com./Commerce/II	Renewal	6	85	510	0	1515	1515	
1332110	1332110 SURAJ KUMAR	Male	B. A./Arts/III	Renewal	4	70	280	115	1515	1630	
1431951	1431951 PRASHANT VERMA	Male	B. A./Arts/II	Renewal	4	70	280	115	1515	1630	
1481813	1481813 TAKESH KUMAR	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	
1488258	1488258 BHUPESH KUMAR NISHAD	Male	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	
1120432	1120432 YUGAL KISHOR	Male	B. Com./Commerce/III	Renewal	6	70	420	115	1515	1630	
1362827	1362827 ASHWANI KUMAR	Male	B. Com./Commerce/III	Renewal	6	70	420	115	1515	1630	
1501378	1501378 PURNENDRA KUMAR VERMA	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	
1502866	L502866 HITESH KUMAR SAHU	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: ОВС

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

Sanction Number: R/10/4760/3/10/99811 Government of Chhattisgarh

State:

Applications Type: Renewal Sanction Date: 12/01/2021

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee	Total Amount
1508538	1508538 LALIT KUMAR	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1595142	1595142 GAJENDRA KUMAR VERMA	Male	B. A./Arts/III	Renewal	5	70	350	115	1515	1630	1980
1016899	1016899 NIKITA YADAV NO NAME	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1232901	1232901 SANJAY KUMAR KOSHE	Male	B. A./Arts/III	Renewal	4	70	280	115	1515	1630	1910
1603395	1603395 RUDRAKANT VERMA	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1604703	1604703 GAURAV SAHU	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1616869	1616869 AMAR SINGH	Male	B. A./Arts/II	Renewal	6	70	420	115	1515	1630	2050
1617234	1617234 GOPAL RAM	Male	B. A./Arts/III	Renewal	б	70	420	115	1515	1630	2050
1500313	1500313 PANKAJ NISHAD	Male	B. A./Arts/III	Renewal	б	70	420	115	1515	1630	2050
1501341	1501341 DIKESHWAR KUMAR	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1622190	1622190 SALMANGIR GOSWAMI	Male	B. A./Arts/II	Renewal	6	70	420	115	1515	1630	2050
1624568	1624568 ROSHAN LAL	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1625187	1625187 DEVENDRA NONAME	Male	B. A./Arts/II	Renewal	б	70	420	115	1515	1630	2050
1628874	1628874 MANENDRA SAHU	Male	B. A./Arts/III	Renewal	б	70	420	115	1515	1630	2050
1601535	1601535 MANISH KUMAR SINHA	Male	B. A./Arts/III	Renewal	б	70	420	115	1515	1630	2050
1601731	1601731 YASHWANT KUMAR	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1636169	1636169 SANDEEP KUMAR DHANKAR	Male	B. A./Arts/II	Renewal	ъ	70	350	115	1515	1630	1980
1636989	1636989 VIVEK YADAV	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811

Sanction Date: 12/01/2021

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Student Name	Academic Year: 2020-21
Gender	
Course	
Туре	
No. of	
Rate	
Maintenence	
Tuition Fee	Application
Other Fee	s Type: Rer
Total Fee	newal
Total Amount	
	•

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Academic Year: 2020-21

Category : Institute Name :

Govt Chandulal Chand. Arts Sci. Coll. Patan

OBC

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811

Sanction Date : 12/01/2021

Applications Type: Renewal

1525629	1525528	1442691	1437339	1517468	1516853	1516649	1516518	1665779	1665044	1489202	1486758	1482696	1478901	1655860	1654412	1413858	1670953	Application ID
1525629 NITEESH KUMAR	1525528 GOYAL KUMAR DHANKAR	1442691 KUBER VERMA	1437339 AJAY KUMAR	1517468 RITESH KUMAR	1516853 BHANU PRATAP	1516649 TARUN KUMAR	1516518 ISHWAR KUMAR	1665779 HEMANT KUMAR	1665044 TIJESHWAR SAHU	1489202 AKASH VERMA	1486758 DOMAN LAL	1482696 GOLENDRA KUMAR NISHAD	1478901 TIKESHWAR SAHU	1655860 SURAJ KUMAR	1654412 DOMESH NONAME	1413858 PILESH KUMAR	1670953 DAMAN PATEL	Student Name
Male	Male	Male	Male	Male	Male	Male	Male	Male	Male	Male	Male	Male	Male	Male	Male	Male	Male	Gender
B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/II	B. A./Arts/II	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/II	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	Course
Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Туре
6	6	4	4	6	6	6	6	6	6	6	6	6	6	6	6	6	6	No. of Month
70	70	70	70	70	70	70	70	70	70	70	70	70	70	70	70	70	70	Rate
420	420	280	280	420	420	420	420	420	420	420	420	420	420	420	420	420	420	Maintenence Allowance
115	115	115	115	115	115	115	115	115	115	115	115	115	115	115	115	115	115	Maintenence Tuition Fee Other Fee
1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	Other Fee
1630	1630	1630	1630	1630	1630	1630	1630	1630	1630	1630	1630	1630	1630	1630	1630	1630	1630	Total Fee
				2050	2050	2050	2050	2050	2050	2050	2050	2050	2050	2050	2050	2050	2050	Total Amount

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :



Government of Chhattisgarh

Post Matric OBC Scholarship

Category: OBC Scholarship Scheme:

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811 12/01/2021

Applications Type: Renewal

Sanction Date:

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee Allowance	Tuition Fee		Total Fee	Total Amount
1527765	1527765 SHIVANAND SINHA	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1528557	1528557 DANESHWAR NONAME	Male	B. A./Arts/III	Renewal	4	70	280	115	1515	1630	1910
1490046	1490046 KUMLESH KUMAR	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1491545	1491545 GIRIVAR NONAME	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1534624	1534624 RAKESH KUMAR SAHU	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1534826	1534826 KAILASH VERMA	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1535598	1535598 SHUBHAM NAYAK	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1546156	1546156 TULESH KUMAR	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1518539	1518539 LAXMAN KUMAR	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1524770	1524770 KHILENDRA KUMAR	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1562127	1562127 SUMIT KUMAR	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1563223	1563223 RUP RAM NISHAD	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1563573	1563573 ANIL KUMAR NISHAD	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1566822	1566822 NARENDRA SINHA	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1528727	1528727 AAYUSH TIKARIHA	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1534077	1534077 YOGESH KUMAR	Male	B. A./Arts/III	Renewal	4	70	280	115	1515	1630	1910
1577912	1577912 MUKESH KUMAR	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1481194	1481194 RAMPRATAP SINHA	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Institute Name: Category:

Govt Chandulal Chand. Arts Sci. Coll. Patan

OBC

State: Government of Chhattisgarh

Sanction Number : R/10/4760/3/10/99811

Sanction Date: 12/01/2021

	Academic Year: 2020-21							Applications	Applications Type: Renewal	ewal	
Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee	Total Amount
1585598	1585598 DOGENDRA KUMAR	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1593682	1593682 LAXMIKANT NO NAME	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1548433	1548433 KAMESHWAR NONAME	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1549931	1549931 KOMAL SONI	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1851164	1851164 ASHISH KUMAR	Male	B. A./Arts/III	Renewal	4	70	280	115	1515	1630	1910
1856703	1856702 ATAY KIIMAR	Mala	B A /Arts/III	Ponowal	4	70	080	115	1515	1630	1010

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee	Total Amount
1585598	1585598 DOGENDRA KUMAR	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1593682	1593682 LAXMIKANT NO NAME	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1548433	1548433 KAMESHWAR NONAME	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1549931	1549931 KOMAL SONI	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1851164	1851164 ASHISH KUMAR	Male	B. A./Arts/III	Renewal	4	70	280	115	1515	1630	1910
1856702	1856702 AJAY KUMAR	Male	B. A./Arts/III	Renewal	4	70	280	115	1515	1630	1910
1666408	1666408 SAGAR SINHA	Male	B. A./Arts/II	Renewal	6	70	420	115	1515	1630	2050
1856767	1856767 TULESHWAR PRASAD	Male	B. A./Arts/III	Renewal	4	70	280	115	1515	1630	1910
1574802	1574802 ASHISH KUMAR	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1577041	1577041 SURESH KUMAR YADAV	Male	B. A./Arts/II	Renewal	4	70	280	115	1515	1630	1910
1676504	1676504 TILAK KUMAR	Male	B. A./Arts/II	Renewal	5	70	350	115	1515	1630	1980
1653144	1653144 BHAVESH KUMAR	Male	B. A./Arts/II	Renewal	6	70	420	115	1515	1630	2050
1679823	1679823 RAVI DEWANGAN	Male	B. A./Arts/II	Renewal	6	70	420	115	1515	1630	2050
1671745	1671745 PANKAJ BHARTI	Male	B. A./Arts/II	Renewal	6	70	420	115	1515	1630	2050
1518024	1518024 BHUPENDRA KUMAR SAHU	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
1850098	1850098 TARUN SINHA	Male	B. A./Arts/II	Renewal	4	70	280	115	1515	1630	1910
1840332	1840332 BHOJENDRA KUMAR DEWANGAN	Male	B. A./Arts/II	Renewal	4	70	280	115	1515	1630	1910

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Academic Year: 2020-21

Institute Name: Category:

Govt Chandulal Chand. Arts Sci. Coll. Patan

OBC

State: Government of Chhattisgarh

Applications Type: Renewal

Sanction Number: R/10/4760/3/10/99811 Sanction Date: 12/01/2021

2050	1630	1515	115	420	70	6	Renewal	B. A./Arts/III	Male	1699224 RAJESH YADAV	1699224
1980	1630	1515	115	350	70	5	Renewal	B. A./Arts/II	Male	1705530 KHEMSINH NONAME	1705530
1910	1630	1515	115	280	70	4	Renewal	B. A./Arts/II	Male	1838984 DEVANAND KAUSHIK	1838984
2050	1630	1515	115	420	70	6	Renewal	B. A./Arts/II	Male	1761631 VED PRAKASH SAHU	1761631
2050	1630	1515	115	420	70	6	Renewal	B. A./Arts/III	Male	1758138 LALIT KUMAR VERMA	1758138
2050	1630	1515	115	420	70	6	Renewal	B. A./Arts/III	Male	1708472 VISHVAJEET NONAME	1708472
1910	1630	1515	115	280	70	4	Renewal	B. A./Arts/III	Male	1843642 TIKESH KUMAR	1843642
2050	1630	1515	115	420	70	6	Renewal	B. A./Arts/III	Male	1676101 TAKESHWAR NISHAD	1676101
2050	1630	1515	115	420	70	6	Renewal	B. A./Arts/II	Male	1698535 NEELESH KUMAR	1698535
2050	1630	1515	115	420	70	6	Renewal	B. A./Arts/II	Male	1698282 JHAMMAN LAL	1698282
2050	1630	1515	115	420	70	6	Renewal	B. A./Arts/II	Male	1694634 NEELKAMAL NONAME	1694634
2050	1630	1515	115	420	70	6	Renewal	B. A./Arts/II	Male	1683518 YOGESH YADAV	1683518
1980	1630	1515	115	350	70	5	Renewal	B. A./Arts/II	Male	1676246 MEHUL KUMAR	1676246
1980	1630	1515	115	350	70	5	Renewal	B. A./Arts/II	Male	1674117 BHUPESH KUMAR	1674117
2050	1630	1515	115	420	70	6	Renewal	B. A./Arts/II	Male	1794568 AMAN KUMAR NISHAD	1794568
1980	1630	1515	115	350	70	л	Renewal	B. A./Arts/II	Male	1812877 DILESHWAR KUMAR PENDARIYA	1812877
1910	1630	1515	115	280	70	4	Renewal	B. A./Arts/II	Male	1839215 SATYAM KUMAR	1839215
Total Amount	Total Fee	Other Fee	Tuition Fee Other Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Academic Year: 2020-21

Category : Institute Name :

Govt Chandulal Chand. Arts Sci. Coll. Patan

OBC

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811

Sanction Date: 12/01/2021

Applications Type: Renewal

18	17	14	14	14	14	16	16	13	13	13	10	17	17	17	17	17	17	Application ID
05101 KA	95139 LO	86992 YA	86243 SH	86115 MC	83763 ВН	98713 DH	85717 SH	89466 JYO	86139 DU	80471 DA	79749 GA	04399 СН	01236 TO	94735 RA	18554 JAJ	06980 NA	05770 GC	on ID
1805101 KARAN KUMAR	1795139 LOKESH KUMAR	1486992 YAMINI SAHU	1486243 SHARDA VERMA	1486115 MONIKA SAHU	1483763 BHAVNA VERMA	1698713 DHANESH DEWANGAN	1685717 SHAILENDRA KUMAR	1389466 JYOTI SAHU	1386139 DULESHWARI NONAME	1380471 DALI NISHAD	1079749 GAURI NO NAME	1704399 CHANDRAHAS NONAME	1701236 TOKESHWAR SAHU	1794735 RAVISHANKAR SAHU	1718554 JAIDEEP YADAV	1706980 NARESH KUMAR	1705770 GOPI KISAN	Student Name
Male	Male	Female	Female	Female	Female	Male	Male	Female	Female	Female	Female	Male	Male	Male	Male	Male	Male	Gender
B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/II	B. A./Arts/II	B. A./Arts/III	B. A./Arts/II	B. A./Arts/III	B. A./Arts/III	B. A./Arts/II	B. A./Arts/II	B. A./Arts/III	B. A./Arts/II	B. A./Arts/III	B. A./Arts/II	Course
Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Туре
6			6	6	6	6	6	4	4	4	6	6	6	6	6	6	6	No. of Month
	6	01	Ο,															
	6 70	5 85	5 85	85	85	70	70	85	85	85	85	70	70	70	70	70	70	Rate
70	70	5 85 510	85 510	85 510	85 510	70 420	70 420	85 340	85 340	85 340			70 420	70 420	70 420	70 420	70 420	
						70 420 115	70 420 115				85 510 0	70 420 115	70 420 115	70 420 115		70 420 115		Maintenence Allowance
70 420	70 420	510	510	510	510	420	420	340	340	340	510	420	420	420	420	420	420	
70 420 115	70 420 115	510 0	510 0	510 0	510 0	420 115	420 115	340 0	340 0	340 0	510 0	420 115	420 115	420 115	420 115	420 115	420 115	Maintenence Allowance

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Applications Type: Renewal

Scholarship Scheme: Academic Year: 2020-21 Institute Name: Category: ОВС Post Matric OBC Scholarship Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Number: R/10/4760/3/10/99811 Sanction Date: State: 12/01/2021 Government of Chhattisgarh

Ą																		
Application ID	1487144	1488707	1488807	1488883	1430166	1482982	1489278	1493226	1493633	1495542	1487007	1487035	1498560	1498695	1498709	1498821	1489060	1489236
Student Name	1487144 TARNI SAHU	1488707 RADHA SAHU	1488807 CHANDRA KIRAN VERMA	148883 MONIKA VERMA	1430166 JYOTSANA ANGARE	1482982 LOMESHWARI NONAME	1489278 SONAM PATEL	1493226 SAKSHI NONAME	1493633 MANISHA DHIVAR	1495542 GITANJALI PATEL	1487007 HEMA SAHU	1487035 AARTI VERMA	1498560 NOMIN NO NAME	1498695 YOGITA NO NAME	1498709 SEETA NISHAD	1498821 TRIVENI NO NAME	1489060 YAMINI NONAME	1489236 KHUSHBU NONAME
Gender	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female
Course	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/II	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III
Туре	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal
No. of Month	6	6	6	6	6	6	6	6	6	4	6	6	6	6	6	6	6	8
Rate	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85
Maintenence Allowance	510	510	510	510	510	510	510	510	510	340	510	510	510	510	510	510	510	680
Tuition Fee Other Fee	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0
Other Fee	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515
Total Fee	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515
Total Amount	2025	2025	2025	2025	2025	2025	2025	2025	2025	1855	2025	2025	2025	2025	2025	2025	2025	2195

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Category:

OBC

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811

Academic Year: 2020-21 Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Applications Type: Renewal Sanction Date: 12/01/2021

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee
150101	1501011 BHUNESHWARI NONAME	Female	B. A./Arts/II	Renewal	4	85	340	0	1515	
150126	1501264 LEENA SAHU	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	
150157;	1501577 JYOTI VERMA	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	
150182	1501828 LUKESHWARI SINHA	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	
149560	1495605 SUMAN NONAME	Female	B. A./Arts/III	Renewal	4	85	340	0	1515	
149571;	1495712 TIKESH PATEL	Female	B. A./Arts/II	Renewal	4	85	340	0	1515	
150444	1504444 GAYATRI YADAV	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	
150835	1508351 TEJESHWARI NIRMALKAR	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515
150858	1508586 DILESHWAREE SINHA	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515
151812:	1518127 PRIYANKA VERMA	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515
1500312	1500312 SUSHMA SAHU	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515
150062	1500628 CHITRALEKHA NONAME	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515
152100	1521001 MOTIM NIRMALKAR	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515
152431	1524315 NISHA NO NAME	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515
163184	1631844 DAKESHWARI KUMBHKAR	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515
163336	1633361 YAMINI SAHU	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515
150201	1502013 MANISHA SAHU	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515
1502460	1502460 DIKESHWARI SINHA	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Category:

OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

State: Government of Chhattisgarh

Sanction Date: 12/01/2021

Sanction Number: R/10/4760/3/10/99811

	Academic Year: 2020-21							Applications	Applications Type: Renewal	ewal	
Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee (Other Fee	Total Fee	Total Amount
1636867	1636867 BHAMINI PATEL	Female	B. A./Arts/II	Renewal	ъ	85	425	0	1515	1515	1940

2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/II	Female	.638146 SUSHAMA PATEL	1638146
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/II	Female	1637522 TANUJA SAHU	1637522
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/II	Female	1645635 SUSHMA SAHU	1645635
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/II	Female	1645611 KAVITA SAHU	1645611
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/II	Female	1644261 REKHA SAHU	1644261
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/II	Female	1642740 ALKA NONAME	1642740
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/II	Female	1636739 MENIKA NISHAD	1636739
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/III	Female	1636043 GOMTI SAHU	1636043
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/II	Female	1642501 DURGESHWARI NONAME	1642501
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/III	Female	1640163 GEETANJALI SINHA	1640163
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/II	Female	1638924 BHUNESHWARI KUMBHKAR	1638924
1940	1515	1515	0	425	85	ъ	Renewal	B. A./Arts/II	Female	1638249 JAGESHWARI VERMA	1638249
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/III	Female	1520522 LOKESHWARI NO NAME	1520522
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/III	Female	1519038 POOJA SAHU	1519038
1940	1515	1515	0	425	85	ъ	Renewal	B. A./Arts/II	Female	1637492 DIGMANI CHANDRAKAR	1637492
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/II	Female	1637042 PADMANI SAHU	1637042
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/III	Female	1636915 VARSHA CHANDRAKAR	1636915
1940	1515	1515	0	425	85	ъ	Renewal	B. A./Arts/II	Female	1636867 BHAMINI PATEL	1636867
Total Amount	Total Fee	Other Fee	Tuition Fee Other Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811 Sanction Date: 12/01/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee	Total Amount
1647918	1647918 CHANDNI NIRMAL	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1648147	1648147 PUSHPA NA	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1648372	1648372 LOKESHWARI YADAV	Female	B. A./Arts/II	Renewal	5	85	425	0	1515	1515	1940
1648635	1648635 GAYTREE PATEL	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1642663	1642663 MANSI VERMA	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1642664	1642664 KHUSHBOO VERMA	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1649546	1649546 SANTOSHI NISHAD	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1649800	1649800 PRATIMA NONAME	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1649891	1649891 DULESHWARI NISHAD	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1649977	1649977 TARNI NONAME	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1646905	1646905 SUREKHA NISHAD	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1647524	1647524 POONAM VERMA	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1652529	1652529 YAMINI YADAV	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1652546	1652546 MANISHA SAHU	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1653263	1653263 MANSI VERMA	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1653518	1653518 SARITA NISHAD	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1648838	1648838 SONAM YADAV	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1649001	1649001 PAYAL YADAV	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Category : Institute Name :

Govt Chandulal Chand. Arts Sci. Coll. Patan

OBC

State: Government of Chhattisgarh

Sanction Date: 12/01/2021

Sanction Number: R/10/4760/3/10/99811

Academic Year: 2020-21 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee	Total Amount
1654075	1654075 REETU SAHU	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1655946	1655946 TIKESHWARI NONAME	Female	B. A./Arts/II	Renewal	б	85	425	0	1515	1515	1940
1657337	1657337 AMRIKA NISHAD	Female	B. A./Arts/II	Renewal	5	85	425	0	1515	1515	1940
1657479	1657479 DOMESHWARI	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1650489	1650489 PRITI DEWANGAN	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1652461	1652461 TARNEE SAHU	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1658113	1658113 GOLDI CHANDRAKAR	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1658131	1658131 TARANI YADAV	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1811442	1811442 ANJALI CHANDRAWANSI	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1811714	1811714 MAADHURI NA	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1653908	1653908 MANISHA PAL	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1653947	1653947 HEMA NONAME	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1822804	1822804 FURTI CHANDRAKAR	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1828170	1828170 DAMINEE VERMA	Female	B. A./Arts/II	Renewal	ъ	85	425	0	1515	1515	1940
1832156	1832156 GAYTREE MANIKPURI	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1836900	1836900 UMA VERMA	Female	B. A./Arts/II	Renewal	4	85	340	0	1515	1515	1855
1657856	1657856 MANISHA SAHU	Female	B. A./Arts/II	Renewal	И	85	425	0	1515	1515	1940
1657860	1657860 PRIYANKA NONAME	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811 12/01/2021

Applications Type: Renewal

Sanction Date:

1847130	1847865	1841733	1840965	1840613	1839375	1839026	1838812	1845274	1845808	1845929	1846698	1813545	1811997	1848009	1855029	1858910	1839106	Application ID
1847130 KAVITA CHANDRAKAR	1847865 NEHA CHANDRAKAR	1841733 MANSI VERMA	1840965 URMILA NONAME	1840613 NANDANI SINHA	1839375 MONIKA CHANDRAKAR	1839026 CHETNA PATEL	1838812 TRIPTI SAHU	1845274 MEGHA AHIR	1845808 ARUNA SAHU	1845929 BHARTI SAHU	1846698 POOJA CHANDRAKAR	1813545 YOGESHWARI NISHAD	1811997 MAYA NA	1848009 POOJA KOSLE	1855029 NEHA NISHAD	1858910 DAMIN SAHU	1839106 ISHA YADAV	Student Name
Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Gender
B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/III	B. A./Arts/II	B. A./Arts/III	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/III	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/III	B. A./Arts/III	B. A./Arts/II	Course
Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Туре
4	4	4	4	4	4	4	4	4	4	4	4	6	6	4	4	4	4	No. of Month
																		Rate
85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	ťe
340	340	85 340 0	85 340 0	85 340 0	85 340 0	85 340 0	340	85 340 0	85 340 0	85 340 0	85 340 0	85 510 0	510	85 340 0	85 340 0	85 340 0	340	Maintenence Allowance
		340	340	340	340	340		340	340	340		510		340	340	340		
340 0	340 0	340 0	340 0	340 0	340 0	340 0	340 0	340 0	340 0	340 0	340 0	510 0	510 0	340 0	340 0	340 0	340 0	Maintenence Allowance

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811

Sanction Date: 12/01/2021

Applications Type: Renewal

1800729	1802018	1718928	1721422	1725459	1728948	1842133	1841866	1774715	1788155	1791003	1799813	1839313	1845086	1802106	1811245	1843763	1842269	Application ID
1800729 KUSUM YADAV	1802018 DAMINI MANIKPURI	1718928 SHEELA CHANDRAKAR	1721422 HIMANI SEN	1725459 KU DEEPIKA	1728948 JHARANA NONAME	1842133 BHAVANA NONAME	1841866 YASHANEE YASHANEE	1774715 BHARTI KUMBHAKAR	1788155 BHOOMIKA SAHU	1791003 SNEHA RAVAT	1799813 NEHA AHIR	1839313 SHIVANI CHANDRAKAR	1845086 VARSHA NONAME	1802106 SHALINEE DHANKAR	1811245 NEELAM NONAME	1843763 KUSUM YADU	1842269 SANGEETA NONAME	Student Name
Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Gender
B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/III	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	Course
Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Туре
6	6	ъ	ъ	ъ	5	4	4	6	6	6	ъ	4	4	ъ	6	4	4	No. of Month
85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	Rate
510	510	425	425	425	425	340	340	510	510	510	425	340	340	425	510	340	340	Maintenence Allowance
0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	Tuition Fee Other Fee
1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	Other Fee
1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	Total Fee
		1940	1940	1940	1940	1855	1855	2025	2025	2025	1940	1855	1855	1940	2025	1855	1855	Total Amount

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category:

ОВС

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811 Sanction Date: 12/01/2021

Academic Year: 2020-21 Applications Type: Renewal

Application ID 1716379 1711910 1705949 1706722 1752588 1752588 172967 1711436 1705050 1704480	1716379 SWATI NONAME 1716379 SWATI NONAME 1711910 POOJA NONAME 1705949 SHILPA VERMA 1706722 GAMINI CHANDRAKAR 1752588 POONAM SAHU 1752588 POONAM SAHU 17729967 BHOJ SAHU 1711436 AMBALIKA NIRMAL 1705241 PARVATI NISHAD 1705050 DEVIKA SAHU 170480 OMLATA NAYAK	Female Female Female Female Female Female Female Female Female	Course B. A./Arts/II B. A./Arts/II B. A./Arts/II B. A./Arts/II B. A./Arts/II B. A./Arts/III B. A./Arts/III B. A./Arts/III B. A./Arts/III B. A./Arts/III B. A./Arts/III	Renewal	No. of 6 6 5 4 5 6 6	Rate 85 85 85 85 85 85 85 85 85 85 85 85 85	Maintenence Allowance Tuition Fee Interest Other Fee Interest 510 1515 510 0 1515 510 0 1515 510 0 1515 425 0 1515 425 0 1515 510 0 1515 510 0 1515 510 0 1515 510 0 1515 510 0 1515 510 0 1515 6 1515 1516	Tuition Fee	Other Fee 1515 1515 1515 1515 1515 1515 1515	Total Fee 1515 1515 1515 1515 1515 1515 1515	Total Amount 2025 2025 2025 2025 2025 2025 2025 202
1729967 1711436	AMBALIKA NIRMAL	Female	B. A./Arts/II B. A./Arts/III	Renewal	6 У	85	425 510		1515 1515	1515 1515	01 01
1705241	PARVATI NISHAD	Female	B. A./Arts/II	Renewal	6	85	510		1515	1515	
1705050	DEVIKA SAHU	Female	B. A./Arts/II	Renewal	6	85	510		1515	1515	O1
1704480	OMLATA NAYAK	Female	B. A./Arts/III	Renewal	6	85	510		1515	1515	01
1719021	1719021 DAMINEE SAHU	Female	B. A./Arts/II	Renewal	ъ	85	425	0	1515	1515	- 01
1718478	1718478 RUKHMANI PAL	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	01
1697569	1697569 POOJA SINHA	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	
1697582	1697582 ARTI SINHA	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	
1697639	1697639 KAVITA NONAME	Female	B. A./Arts/II	Renewal	ъ	85	425	0	1515	1515	-
1687508	1687508 ANJU SAHU	Female	B. A./Arts/II	Renewal	ъ	85	425	0	1515	1515	
1710261	1710261 POORNIMA DHANKAR	Female	B. A./Arts/II	Renewal	ъ	85	425	0	1515	1515	01
1710889	1710889 DOMESHWARI VERMA	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	-

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811 12/01/2021

Applications Type: Renewal

Sanction Date:

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee	Total Amount
1688835	1688835 NIKITA DEWANGAN	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1691350	1691350 MADHURI SAHU	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1692364	1692364 NEHA NONAME	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1692865	1692865 KHILESHWARI NIRMAL	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1704143	1704143 KESHAR PATEL	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1698191	1698191 NANDANI SAHU	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1693935	1693935 PREETI SAHU	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1694212	1694212 ANJALI SAHU	Female	B. A./Arts/II	Renewal	ъ	85	425	0	1515	1515	1940
1697945	1697945 MONIKA YADAV	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1698233	1698233 JYOTI VERMA	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1687743	1687743 URWASHI VERMA	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1688477	1688477 NILAM VERMA	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1718880	1718880 REKHA NONAME	Female	B. A./Arts/II	Renewal	ъ	85	425	0	1515	1515	1940
1716235	1716235 CHITRAREKHA NONAME	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
170718-	1707184 MANJU VERMA	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1704523	1704523 RATNA NISHAD	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
169321	1693214 SEEMA SAHU	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1693578	1693578 USHA YADAV	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :



Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Academic Year: 2020-21

Institute Name: Category:

Govt Chandulal Chand. Arts Sci. Coll. Patan

OBC

State: Government of Chhattisgarh

Sanction Date: 12/01/2021

Sanction Number :

R/10/4760/3/10/99811

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Tuition Fee Other Fee Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1642890	1642890 YAMINI SAHU	Female	B. A./Arts/II	Renewal	5	85	425	0	1515	1515	1940
1653868	1653868 JAYA VERMA	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1658868	1658868 DAMINI NONAME	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1658963	1658963 TIKESHWARI NISHAD	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1701770	1701770 MADHU VERMA	Female	B. A./Arts/II	Renewal	ъ	85	425	0	1515	1515	1940
1704008	1704008 TULSI SAHU	Female	B. A./Arts/II	Renewal	ъ	85	425	0	1515	1515	1940
1659921	1659921 UMESHWARI SAHU	Female	B. A./Arts/II	Renewal	ъ	85	425	0	1515	1515	1940
1660026	1660026 ROSHANI SAHU	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1660392	1660392 TRIVENI SAHU	Female	B. A./Arts/II	Renewal	ъ	85	425	0	1515	1515	1940
1660854	1660854 VIBHA VERMA	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1629104	1629104 TAJESHWARI DEWANGAN	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1630034	1630034 NANDANI NA	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1670231	1670231 DOMESHWARI NONAME	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1669572	1669572 HITESHWARI SAHU	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1669040	1669040 DIVYA SAHU	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1662956	1662956 HIMANSHI VERMA	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1659093	1659093 RUPA SAHU	Female	B. A./Arts/II	Renewal	6	85	510	0	1515	1515	2025
1659148	1659148 RASHI VERMA	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Academic Year: 2020-21

Institute Name: Category:

Govt Chandulal Chand. Arts Sci. Coll. Patan

ОВС

State: Government of Chhattisgarh

Sanction Date: 12/01/2021 Sanction Number: R/10/4760/3/10/99811

Applications Type: Renewal

0 1515	510		85	6	Renewal	B. A./Arts/II	Female	1669349 CHITRAREKHA SEN	1669349
510	끄		85	6	Renewal	B. A./Arts/II	Female	1668873 MANISHA DEWANGAN	1668873
510	ا ب		85	6	Renewal	B. A./Arts/II	Female	1677430 NIKITA NIRMALKAR	1677430
425			85	5	Renewal	B. A./Arts/II	Female	1677975 TANNU PATEL	1677975
510			85	6	Renewal	B. A./Arts/III	Female	1678650 RAGINEE VERMA	1678650
425			85	5	Renewal	B. A./Arts/II	Female	1680988 DANESHWARI SAHU	1680988
510			85	6	Renewal	B. A./Arts/III	Female	1663144 JAYA SAHU	1663144
510	(85	6	Renewal	B. A./Arts/III	Female	1663036 PRIYANKA SAHU	1663036
510	(=	Л	85	6	Renewal	B. A./Arts/III	Female	1682705 HEMLATA NONAME	1682705
510	(5	85	6	Renewal	B. A./Arts/III	Female	1682801 CHANDRA PRABHA	1682801
425		Л	85	5	Renewal	B. A./Arts/II	Female	1683625 DIVYA NONAME	1683625
510	(Л	85	6	Renewal	B. A./Arts/II	Female	1685367 REENA KAUSHIK	1685367
510	(-	Л	85	6	Renewal	B. A./Arts/III	Female	1670496 KHUSHBU CHANDRAKAR	1670496
510	(-	5	85	6	Renewal	B. A./Arts/III	Female	1662669 LAXMI CHAKRADHAR	1662669
510	(Л	85	6	Renewal	B. A./Arts/III	Female	1668130 KAJAL SAHU	1668130
510	(=		85	6	Renewal	B. A./Arts/II	Female	1665634 KHILESHWARI DHANKAR	1665634
510	(-		85	6	Renewal	B. A./Arts/II	Female	1665466 HINA NIRMALKAR	1665466
510			85	6	Renewal	B. A./Arts/III	Female	1663199 SONALI NONAME	1663199
Maintenence Tuition Fee Other Fee Allowance	6-6-	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Academic Year: 2020-21

Category : Institute Name :

Govt Chandulal Chand. Arts Sci. Coll. Patan

OBC

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811

Sanction Date : 12/01/2021

Applications Type: Renewal

																		Αp
1672962	1672789	1490897	1489303	1486945 E	1486764	1670115 E	1664522	1677085 F	1676280	1673761	1673030	1682364	1682614	1672746 F	1672039	1671513 [1670790	Application ID
1672962 SEEMA SAHU	1672789 DHANESHWARI SEN	1490897 SHRADDHA VERMA	1489303 DINESHWARI SAHU	1486945 BHARTI MESHRAM	1486764 KHEMIN NISHAD	1670115 BHUMIKA CHANDRAKAR	1664522 SEEMA NISHAD	1677085 ROSHNEE VERMA	1676280 MOHINI NONAME	1673761 SONIYA YADAV	1673030 VIBHA YADAV	1682364 NANDANI NISHAD	1682614 SAVITA SAHU	1672746 PUSHPLATA NISHAD	1672039 DHARANEE SAHU	1671513 DEVAKI NONAME	1670790 LEKHANI NONAME	Student Name
Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Gender
B. A./Arts/III	B. A./Arts/II	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/III	B. A./Arts/II	B. A./Arts/III	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	Course
Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Туре
6	6	6	6	6	6	6	5	6	6	6	6	6	6	6	5	6	6	No. of Month
6 85	6 85	6 85	6 85	6 85	6 85	6 85	5 85	6 85	6 85	6 85	6 85	6 85	6 85	6 85	5 85	6 85	6 85	No. of Rate
85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	85	Rate
																		Rate Maintenence Allowance
85 510	85 510	85 510	85 510	85 510	85 510	85 510	85 425	85 510	85 510	85 510	85 510	85 510	85 510	85 510	85 425	85 510	85 510	Rate
85 510 0	85 510 0	85 510 0	85 510 0	85 510 0	85 510 0	85 510 0	85 425 0	85 510 0	85 510 0	85 510 0	85 510 0	85 510 0	85 510 0	85 510 0	85 425 0	85 510 0	85 510 0	Rate Maintenence Allowance

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :



Government of Chhattisgarh

Scholarship Scheme:

Post Matric OBC Scholarship

Category:

ОВС

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811

Sanction Date: 12/01/2021

Academic Year: 2020-21 Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of	Rate	Maintenence	Tuition Fee Other Fee		Total Fee	Total Amount
					Molici		Allowalica				
1519397	1519397 DILESHWARI SAHU	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1520087	1520087 VINITA SAHU	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1524335	1524335 RITUMBHARA NO NAME	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1525878	1525878 NEHA VERMA	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1677276	1677276 PURVA NIRMALKAR	Female	B. A./Arts/II	Renewal	5	85	425	0	1515	1515	1940
1681974	1681974 YAMINI SAHU	Female	B. A./Arts/II	Renewal	5	85	425	0	1515	1515	1940
1527405	1527405 TARINEE SAHU	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1528180	1528180 KAVITA BHARDWAJ	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1534086	1534086 SEEMA PATEL	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1535498	1535498 JYOTI NISHAD	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1493176	1493176 PRIYA VAISHNAV	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1500683	1500683 PRIYANKA SAHU	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1565848	1565848 ASHWALEKHA NIRMALKAR	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1558623	1558623 VEENU SAHU	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1538205	1538205 CHUNESHWARI YADAW	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1544414	1544414 RENUKA SINHA	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1526186	1526186 SUDHA VERMA	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
1526662	1526662 KUSUM NO NAME	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/99811

Applications Type: Renewal

Sanction Date:

12/01/2021

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee	Total Amount
155577.	1555772 BHARTI KUMBHAKAR	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
155630	1556300 YAMUNA PATEL	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
155684	1556841 BHARTI NISHAD	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
155697	1556970 GODAWARI PATEL	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
153614	1536144 KIRAN KOSE	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
157623	1576235 POOJA KHUBHKAR	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
155901	1559019 DAMINI YADAV	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
157630.	1576303 ISHWARI KUMBHKAR	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
157668	1576688 VEENA SAHU	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
157731	1577313 ARCHANA SAHU	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
154559.	1545592 AARTI SAHU	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
154582	1545827 TULESHWARI SAHU	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
158617	1586177 YASHODA SINHA	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
158658	1586583 LALITA NONAME	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
159568	1595686 PAYAL KAUSHIK	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
159572	1595728 VAISHALI NO NAME	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
153640	1536401 ANJALI NONAME	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025
153658	1536581 RADHIKA CHANDRAKAR	Female	B. A./Arts/III	Renewal	6	85	510	0	1515	1515	2025

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :



Government of Chhattisgarh

98611

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

Sanction Number: R/10/4760/3/10/99811

State:

Government of Chhattisgarh

Sanction Date: 12/01/2021

Applications Type: Renewal

1749630	1420005	1397120	22885	329625	Total :						
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/II	Female	1629072 SANDHYA NIRMALKAR	1629072
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/III	Female	1597187 GULSHAN SAHU	1597187
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/II	Female	1625553 MONIKA SAHU	1625553
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/II	Female	1625409 PUNAM SAHU	1625409
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/III	Female	1621522 NUTAN NISHAD	1621522
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/III	Female	1598877 JITESHWARI YADAV	1598877
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/III	Female	1579841 VEENA NISHAD	1579841
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/III	Female	1579652 SONAL NIRMAL	1579652
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/III	Female	1626026 JAYANTI SAHU	1626026
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/II	Female	1628006 DHATRI YADAV	1628006
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/II	Female	1628013 SHRADDHA VERMA	1628013
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/III	Female	1628577 TRIPTI DEWANGAN	1628577
Total Amount	Total Fee		Tuition Fee Other Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

98819

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh
Sanction Number: N/10/4760/1/9/99819

Sanction Date: 12/01/2021

Applications Type: Fresh

11490	9370	9370	0	2120	530	4	Fresh	PGDCA/Computer Application/I	Female	1366966 PRABHA BANJARE	1366966
11490	9370	9370	0	2120	530	4	Fresh	PGDCA/Computer Application/I	Male	1428599 KRISHNDATT SHIVARE	1428599
11490	9370	9370	0	2120	530	4	Fresh	PGDCA/Computer Application/I	Male	583698 KAMAL NARAYAN	583698
8365	6245	6245	0	2120	530	4	Fresh	M. Sc./Zoology/I	Female	1358442 SUMAN BHARTI	1358442
3865	1745	1745	0	2120	530	4	Fresh	M. Sc./Physics/I	Female	1382789 DEEPTI LAHERI	1382789
3865	1745	1745	0	2120	530	4	Fresh	M. Com./Commerce/I	Female	1387980 KIRAN DAHARE	1387980
3865	1745	1745	0	2120	530	4	Fresh	M. Com./Commerce/I	Female	1239708 LAKSHMI NO NAME	1239708
3865	1745	1745	0	2120	530	4	Fresh	M. Com./Commerce/I	Male	1448184 KEDAR NATH SONVANI	1448184
3865	1745	1745	0	2120	530	4	Fresh	M. Com./Commerce/I	Male	1280377 REETESH KUMAR BANJARE	1280377
3615	1515	1515	0	2100	300	7	Fresh	B. A./Arts/I	Male	1752668 SUNIL KUMAR	1752668
3915	1515	1515	0	2400	300	8	Fresh	B. A./Arts/I	Male	1752410 AJAY KUMAR	1752410
3915	1515	1515	0	2400	300	8	Fresh	B. A./Arts/I	Male	1750209 ABHAY KUMAR GAYAKWAD	1750209
3915	1515	1515	0	2400	300	8	Fresh	B. A./Arts/I	Male	1750207 DURGESH KUMAR	1750207
3615	1515	1515	0	2100	300	7	Fresh	B. A./Arts/I	Male	1748983 LITESH KUMAR	1748983
3615	1515	1515	0	2100	300	7	Fresh	B. A./Arts/I	Male	1748750 POSHAN KUMAR	1748750
Total Amount	Total Fee	Other Fee	Tuition Fee Other Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric SC Scholarship

SC

Institute Name: Category:

Govt Chandulal Chand. Arts Sci. Coll. Patan

State: Government of Chhattisgarh

Sanction Number: N/10/4760/1/9/99819

Sanction Date: 12/01/2021

Applications Type: Fresh

Academic Year: 2020-21

3345	1545	1545	0	1800	300	6	Fresh	B. Sc./Science/I	Female	1821306 DHALNI TODAR	1821306
3945	1545	1545	0	2400	300	8	Fresh	B. Sc./Science/I	Female	1768509 POOJA NONAME	1768509
3945	1545	1545	0	2400	300	8	Fresh	B. Sc./Science/I	Female	1757098 DHARNA SONWANI	1757098
3645	1545	1545	0	2100	300	7	Fresh	B. Sc./Science/I	Male	1783222 SAGAR CHELAK	1783222
3865	1745	1745	0	2120	530	4	Fresh	M. A./Sociology/I	Female	1335602 LALITA SAARANG	1335602
3865	1745	1745	0	2120	530	4	Fresh	M. A./Sociology/I	Male	1509815 NEELESH KUMAR GAYAKWAD	1509815
7365	5245	5245	0	2120	530	4	Fresh	M. A./Economics/I	Female	1012794 MINAKSHEE NO NAME	1012794
3865	1745	1745	0	2120	530	4	Fresh	M. A./Pol. Science/I	Female	1344944 MAHESHWARI TANDAN	1344944
3865	1745	1745	0	2120	530	4	Fresh	M. A./Pol. Science/I	Male	1407128 SOHAN NO NAME	1407128
3865	1745	1745	0	2120	530	4	Fresh	M. A./Pol. Science/I	Male	1394973 TOMAN LAL	1394973
3865	1745	1745	0	2120	530	4	Fresh	M. Sc./Mathematics/I	Female	1399105 NISHA NO NAME	1399105
3865	1745	1745	0	2120	530	4	Fresh	M. Sc./Mathematics/I	Female	1433246 INDU MAHILANGE	1433246
3865	1745	1745	0	2120	530	4	Fresh	M. Sc./Mathematics/I	Male	1441224 RAMAKANT NO NAME	1441224
3865	1745	1745	0	2120	530	4	Fresh	M. Sc./Mathematics/I	Male	1354283 CHANDRAKANT BANJARE	1354283
8365	6245	6245	0	2120	530	4	Fresh	M. Sc./Chemistry/I	Male	575584 HIMANSHU KOSARE	575584
8365	6245	6245	0	2120	530	4	Fresh	M. Sc./Botany/I	Female	1340800 YAMINI BAGHEL	1340800
11490	9370	9370	0	2120	530	4	Fresh	PGDCA/Computer Application/I	Female	1496198 LALITA GILHARE	1496198
Total Amount	Total Fee	Other Fee	Tuition Fee Other Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :



Government of Chhattisgarh

Scholarship Scheme:

Post Matric SC Scholarship

SC

Category:
Institute Name:
Academic Year:

2020-21

Govt Chandulal Chand. Arts Sci. Coll. Patan

State: Government of Chhattisgarh

Sanction Number: N/10/4760/1/9/99819 Sanction Date: 12/01/2021

Applications Type: Fresh

Application ID 1762929 HEMANT KUMAR BHARTI 1744257 YAMAN BAJAJ 1785326 DEEPIKA NONAME 1783536 AISHWARYA NONAME 1760008 VEENA TANDAN 1795829 HEMRAJ BANJARE 1820040 BHAVISHYAKANT GRAHAN 1799474 AJAY KUMAR 1804964 SHUBHAM KURRE 1807833 PRAVEEN KUMAR BANJARE 1820413 ANKIT KUMAR 1827109 YOGESH KUMAR 1804089 ANJALI BANDHEY 1825307 AASHISH KUMAR 1825333 LAXMINARAYAN JOSHI 1828172 RAJU KOSHLE 1828837 MANJIT KUMAR **Student Name** Male Male Male Male Male Male Male Female Male Male Male Male Male Male Female Female Female Gender B. Com./Commerce/I B. Sc./Science/I B. Com./Commerce/I B. Sc./Science/I B. A./Arts/I B. A./Arts/I B. A./Arts/I B. Com./Commerce/I B. A./Arts/I B. A./Arts/I B. A./Arts/I φ. B. Sc./Science/I B. Sc./Science/I B. Sc./Science/I B. Sc./Science/I B. Sc./Science/I A./Arts/I Course Fresh Type No. of Month **∞** ∞ 7 œ œ œ œ 7 7 8 œ œ œ œ 7 Rate 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 Maintenence Allowance 2100 2100 2100 2400 2400 2400 2100 2400 2400 2100 2400 2400 2400 2400 2400 2400 2400 Tuition Fee | Other Fee 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1515 1515 1545 1545 1545 1515 1515 1515 1515 1515 1515 1545 1545 1545 1545 **Total Fee** 1515 1515 1545 1545 1545 1515 1515 1515 1515 1515 1515 1515 1515 1545 1545 1545 1545 **Total Amount** 3915 3915 3915 3915 3645 3645 3645 3945 3945 3915 3915 3915 3615 3915 3915 3645 3945

Declaration :

1760240 KHILESHWAR PRASAD

Male

B. A./Arts/1

3915

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category:

SC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

State: Government of Chhattisgarh

Sanction Number: N/10/4760/1/9/99819

Sanction Date: 12/01/2021

Academic Year: 2020-21 Applications Type: Fresh

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

Government of Chhattisgarh

State:

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

Sanction Number: N/10/4760/1/9/99819

Sanction Date: 12/01/2021

Applications Type: Fresh

360560	177120	177120	0	183440	Total :						
3915	1515	1515	0	2400	300	8	Fresh	B. A./Arts/I	Female	1805474 SARASWATI SARANG	1805474
3615	1515	1515	0	2100	300	7	Fresh	B. A./Arts/I	Female	1812958 YOGESHWARI MAHIPAL	1812958
3615	1515	1515	0	2100	300	7	Fresh	B. A./Arts/I	Female	1820194 PURNIMA LAHRE	1820194
3915	1515	1515	0	2400	300	8	Fresh	B. A./Arts/I	Female	1805658 PRERNA DESHLAHARE	1805658
3915	1515	1515	0	2400	300	8	Fresh	B. A./Arts/I	Female	1787728 DHAMNI CHELAK	1787728
3615	1515	1515	0	2100	300	7	Fresh	B. A./Arts/I	Female	1784986 GEETANJALI MANDLESH	1784986
3915	1515	1515	0	2400	300	8	Fresh	B. A./Arts/I	Female	1783298 NEHA NONAME	1783298
3315	1515	1515	0	1800	300	6	Fresh	B. A./Arts/I	Female	1770775 DIVYA BANDHEL	1770775
3915	1515	1515	0	2400	300	8	Fresh	B. A./Arts/I	Female	1783355 POONAM NONAME	1783355
3615	1515	1515	0	2100	300	7	Fresh	B. A./Arts/I	Female	1757942 KAMLESHWARI BANDHEL	1757942
3315	1515	1515	0	1800	300	6	Fresh	B. A./Arts/I	Female	1799661 ISHARANI BAGHEL	1799661
3915	1515	1515	0	2400	300	8	Fresh	B. A./Arts/I	Female	1788624 PADMINI NONAME	1788624
3915	1515	1515	0	2400	300	8	Fresh	B. A./Arts/I	Female	1749090 DAKESHWARI BANJARE	1749090
3915	1515	1515	0	2400	300	8	Fresh	B. A./Arts/I	Male	1780983 AAKASH KUMAR	1780983
Total Amount	Total Fee	Other Fee	Tuition Fee Other Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4760/1/9/99821

Applications Type: Renewal

Sanction Date: 12/01/2021

4925	1745	1745	0	3180	530	6	Renewal	M. A./Pol. Science/II	Female	1234024 CHANDANI CHELAK	1234024
9425	6245	6245	0	3180	530	6	Renewal	M. Sc./Chemistry/II	Male	1235901 RAJESH KUMAR KHUTIYARE	1235901
9425	6245	6245	0	3180	530	6	Renewal	M. Sc./Chemistry/II	Female	1228553 SARASWATI BANJARE	1228553
9425	6245	6245	0	3180	530	6	Renewal	M. Sc./Botany/II	Male	1492319 TEKESHWAR KUMAR	1492319
4395	1745	1745	0	2650	530	5	Renewal	M. A./Sociology/II	Male	1489255 ARUN KUMAR JANGDE	1489255
4925	1745	1745	0	3180	530	6	Renewal	M. A./Sociology/II	Male	1247438 LOKESHWAR KUMAR	1247438
4925	1745	1745	0	3180	530	6	Renewal	M. A./Sociology/II	Male	135396 VINOD KUMAR JOSHI	135396
9425	6245	6245	0	3180	530	6	Renewal	M. Sc./Zoology/II	Female	1221537 PRIYANKA DAHARIYA	1221537
9425	6245	6245	0	3180	530	6	Renewal	M. Sc./Zoology/II	Male	1044394 JYOTI KURRE	1044394
4395	1745	1745	0	2650	530	5	Renewal	M. Sc./Mathematics/II	Female	1478619 VIJAY LAXMI	1478619
4925	1745	1745	0	3180	530	6	Renewal	M. Sc./Mathematics/II	Female	668468 CHHATRAKUMARI NONAME	668468
3315	1515	1515	0	1800	300	6	Renewal	B. A./Arts/III	Male	1498915 PANKAJ GAYAKWAD	1498915
2715	1515	1515	0	1200	300	4	Renewal	B. A./Arts/II	Male	1498254 VARGESH KUMAR BHARTI	1498254
3315	1515	1515	0	1800	300	6	Renewal	B. A./Arts/III	Male	1486626 DHIRENDRA KUMAR	1486626
2715	1515	1515	0	1200	300	4	Renewal	B. A./Arts/III	Male	1373082 GAJENDRA KUMAR	1373082
3315	1515	1515	0	1800	300	6	Renewal	B. A./Arts/III	Male	1365957 GUHA RAM	1365957
3315	1515	1515	0	1800	300	6	Renewal	B. A./Arts/III	Male	1362394 VIVEK KUMAR	1362394
Total Amount	Total Fee	Other Fee	Tuition Fee	Maintenence Tuition Fee Other Fee Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category:

SC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

State: Government of Chhattisgarh

Sanction Number: R/10/4760/1/9/99821 Sanction Date: 12/01/2021

Applications Type: Renewal

Academic Year: 2020-21

3345	1545	1545	0	1800	300	6	Renewal	B. Sc./Science/III	Male	1536959 DEVPRAKASH JANGDE	1536959
3045	1545	1545	0	1500	300	и	Renewal	B. Sc./Science/II	Female	1815412 NEHA SONVANI	1815412
2745	1545	1545	0	1200	300	4	Renewal	B. Sc./Science/II	Female	1853042 NALINI GAYAKWAD	1853042
3045	1545	1545	0	1500	300	5	Renewal	B. Sc./Science/II	Female	1659737 JAYA BAGHEL	1659737
3045	1545	1545	0	1500	300	5	Renewal	B. Sc./Science/II	Female	1663581 INDU DESHLAHRE	1663581
3045	1545	1545	0	1500	300	5	Renewal	B. Sc./Science/II	Female	1667379 MANISHA NO NAME	1667379
3045	1545	1545	0	1500	300	5	Renewal	B. Sc./Science/II	Female	1682326 BHAVNA CHELAK	1682326
4925	1745	1745	0	3180	530	6	Renewal	M. A./Pol. Science/II	Male	1163386 HAREESH KUMAR NO NAME	1163386
4925	1745	1745	0	3180	530	6	Renewal	M. A./Pol. Science/II	Female	1057140 PRIYANKA MANHARE	1057140
3345	1545	1545	0	1800	300	6	Renewal	B. Sc./Science/II	Male	1694270 SURAJ CHANDRA PRAKASH	1694270
3345	1545	1545	0	1800	300	6	Renewal	B. Sc./Science/II	Female	1697303 PUNAM KURRE	1697303
3045	1545	1545	0	1500	300	5	Renewal	B. Sc./Science/II	Female	1698489 SUDHA MANDLE	1698489
3045	1545	1545	0	1500	300	5	Renewal	B. Sc./Science/II	Female	1707203 ANITA DAHARIYA	1707203
8425	5245	5245	0	3180	530	6	Renewal	M. A./Hindi/II	Female	1015939 DILESHWARI NO NAME	1015939
8425	5245	5245	0	3180	530	6	Renewal	M. A./Economics/II	Female	1234557 MAMTA BANJARE	1234557
8425	5245	5245	0	3180	530	6	Renewal	M. A./Economics/II	Male	214097 TAMESHWAR NONAME	214097
4925	1745	1745	0	3180	530	6	Renewal	M. A./Pol. Science/II	Female	1677575 LEENA KUMARI	1677575
4925	1745	1745	0	3180	530	6	Renewal	M. A./Pol. Science/II	Female	1501066 ANJU NONAME	1501066
Total Amount	Total Fee	Other Fee	Tuition Fee Other Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric SC Scholarship

Category:

SC

State: Government of Chhattisgarh

Sanction Number :

R/10/4760/1/9/99821

Applications Type:

Renewal

Sanction Date:

12/01/2021

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

Application ID 1496542 LOKESHWARI BANJARE 1653502 ANKITA BARLE 1641708 VIJAY KUMAR 1684138 REENA JOSHI 1614173 SAMAR PRATAP SIRMOR 1593901 HEMLATA NONAME 1507728 POOJA BANJARE 1505569 MANISHA NO NAME 1503603 BIMLA JANGDE 1494045 SUMAN BAGHEL 1653895 MAMTA JOSHI 1618669 RAVI KUMAR SANGE 1684156 RENU KAUSHIK 1556387 VEDKUMARI JANGDE 1507962 NISHA BAGHEL 348790 NITEESH KUMAR 870011 MONIKA PATIL **Student Name** Female Female Female Female Male Female Female Female Male Male Male Female Female Female Female Female Female Gender B. Sc./Science/III B. Sc./Science/III φ. Β. Β. B. Sc./Science/III φ. φ. φ. B. Sc./Science/II B. Sc./Science/II B. Sc./Science/II B. Sc./Science/II B. Sc./Science/II B. Sc./Science/III B. Sc./Science/III Sc./Science/III Sc./Science/III Sc./Science/III Sc./Science/III Sc./Science/III Sc./Science/II Sc./Science/II Course Renewal Renewal Renewa Renewal Renewa Renewa Renewal Renewal Renewal Renewal Renewal Renewa Renewal Renewal Renewa Renewa Renewa Type No. of Month 6 6 6 6 6 4 6 4 6 5 5 5 5 5 Б 6 Rate 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 300 Maintenence Allowance 1800 1500 1500 1500 1800 1800 1800 1800 1800 1200 1800 1200 1500 1500 1500 1800 1800 Tuition Fee | Other Fee 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1545 1545 1545 1545 1545 1545 1545 1545 1545 1545 1545 1545 1545 1545 1545 1545 1545 **Total Fee** 1545 1545 1545 1545 1545 1545 1545 1545 1545 1545 1545 1545 1545 1545 1545 1545 1545 **Total Amount** 3345 3345 3345 2745 3345 2745 3345 3045 3045 3045 3045 3045 3045 3345 3345 3345 3345

Declaration:

1643825 RESHAM LAL

Com./Commerce/II

Renewa

3315

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4760/1/9/99821

Applications Type: Renewal Sanction Date: 12/01/2021

3015	1515	1515	0	1500	300	б	Renewal	B. Com./Commerce/II	Female	1657908 POOJA CHTURVEDI	1657908
3315	1515	1515	0	1800	300	6	Renewal	B. Com./Commerce/II	Female	1648556 RESHMI CHELAK	1648556
Total Amount	Total Fee	Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID
		:	:								

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other Fee		Total Fee	Total Amount
1648556	1648556 RESHMI CHELAK	Female	B. Com./Commerce/II	Renewal	6	300	1800	0	1515	1515	3315
1657908	1657908 POOJA CHTURVEDI	Female	B. Com./Commerce/II	Renewal	5	300	1500	0	1515	1515	3015
1667068	1667068 HEMA DOUNDE	Female	B. Com./Commerce/II	Renewal	6	300	1800	0	1515	1515	3315
1704925	1704925 SARITA BANDHE	Female	B. Com./Commerce/II	Renewal	5	300	1500	0	1515	1515	3015
1721149	1721149 GITIKA MARKANDEY	Female	B. Com./Commerce/II	Renewal	6	300	1800	0	1515	1515	3315
1595922	1595922 SHIVANI NO NAME	Female	B. Com./Commerce/III	Renewal	6	300	1800	0	1515	1515	3315
1617050	1617050 RAJESHWARI BANJARE	Female	B. Com./Commerce/II	Renewal	6	300	1800	0	1515	1515	3315
1620702	1620702 MONIKA MONIKA MONIKA	Female	B. Com./Commerce/III	Renewal	6	300	1800	0	1515	1515	3315
1799838	1799838 DIPTI MANDLE	Female	B. Com./Commerce/II	Renewal	б	300	1500	0	1515	1515	3015
1849818	1849818 ANJALI BANDE	Female	B. Com./Commerce/II	Renewal	4	300	1200	0	1515	1515	2715
1731038	1731038 VIKAS MAHILANGE	Male	B. Com./Commerce/II	Renewal	6	300	1800	0	1515	1515	3315
1640376	1640376 TAMESHWAR NONAME	Male	B. A./Arts/II	Renewal	6	300	1800	0	1515	1515	3315
1641573	1641573 VEDDAS NONAME	Male	B. A./Arts/II	Renewal	5	300	1500	0	1515	1515	3015
1642671	1642671 RAHUL JOSHI	Male	B. A./Arts/II	Renewal	6	300	1800	0	1515	1515	3315
1247794	1247794 ANAND KUMAR	Male	B. Com./Commerce/III	Renewal	4	300	1200	0	1515	1515	2715
1516246	1516246 VARSHA NONAME	Female	B. Com./Commerce/III	Renewal	6	300	1800	0	1515	1515	3315
1516642	1516642 YAMINI TANDAN	Female	B. Com./Commerce/III	Renewal	6	300	1800	0	1515	1515	3315
1848551	1848551 NARESH NONAME	Male	B. A./Arts/II	Renewal	4	300	1200	0	1515	1515	2715

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4760/1/9/99821

Sanction Date: 12/01/2021

Applications Type: Renewal

Application ID	1728124	1720688	1518244	1562319	1636784	1687705	1483540	1486874	1643050	1674534	1676467	1500596	1518462	1529672	1704152	1694981	1677723	1571246
Student Name	1728124 ROMNATH NONAME	1720688 DEVID MAHILWAR	1518244 GAJENDRA KUMAR	1562319 VIKASH KUMAR BANJARE	1636784 DHALENDRA KUMAR	1687705 SUMIT KUMAR DESHLAHRE	1483540 MANISHA BAGHEL	1486874 RADHIKA BANJARE	1643050 KAMLESH BHARTI	1674534 SURAJ KUMAR	1676467 ROSHAN LAL	1500596 TRIVENI BANJARE	1518462 YOGESHWARI JOGI	1529672 SAVITRI KURRE	1704152 ABHIJEET KURRE	1694981 DEVENDRA KUMAR BAGHEL	1677723 CHANDRA KANT BANDHE	1571246 PRIYANKA JANGADE
Gender	Male	Male	Male	Male	Male	Male	Female	Female	Male	Male	Male	Female	Female	Female	Male	Male	Male	Female
Course	B. A./Arts/II	B. A./Arts/II	B. A./Arts/III	B. A./Arts/III	B. A./Arts/II	B. A./Arts/II	B. A./Arts/III	B. A./Arts/III	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/III
Туре	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal
No. of Month	5	6	6	6	6	6	6	6	6	6	5	6	6	6	6	5	6	6
Rate	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300
Maintenence Allowance	1500	1800	1800	1800	1800	1800	1800	1800	1800	1800	1500	1800	1800	1800	1800	1500	1800	1800
Tuition Fee Other Fee	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0
Other Fee	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515
Total Fee	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515
Total Amount	3015	3315	3315	3315	3315	3315	3315	3315	3315	3315	3015	3315	3315	3315	3315	3015	3315	3315

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4760/1/9/99821

Applications Type: Renewal

Sanction Date:

12/01/2021

1671114	1642689	1637034	1625381	1653968	1653755	1653122	1570764	1546604	1544266	1649521	1648762	1643080	1498905	1493727	1489615	1625212	1624199	Application ID
1671114 MILEE LAHARI	1642689 PRIYANKA PATIL	1637034 DEVKI JANGDE	1625381 SANJANA DAHARIYA	1653968 BHUNESHWARI MANDLESH	1653755 VANDANA BANDHE	1653122 MEENU SANGE	1570764 SEEMA JANGDE	1546604 VINITA MANDLESH	1544266 VEENA KURRE	1649521 PURNIMA PATIL	1648762 MADHURI BANJARE	1643080 DALEE NONAME	1498905 KHILESHWARI SARANG	1493727 NEHA TANDON	1489615 MONIKA BAGHEL	1625212 SAVITA GAYKWAD	1624199 GOMTI KURRE	Student Name
Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Gender
B. A./Arts/II	B. A./Arts/II	B. A./Arts/III	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/II	B. A./Arts/II	Course
Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Туре
6	6	6	5	6	6	6	6	6	6	6	6	6	6	6	6	ъ	5	No. of Month
300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	Rate
1800	1800	1800	1500	1800	1800	1800	1800	1800	1800	1800	1800	1800	1800	1800	1800	1500	1500	Maintenence Allowance
0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	Tuition Fee Other Fee
1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	Other Fee
1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	Total Fee
3315	3315	3315	3015	3315	3315	3315	3315	3315	3315	3315	3315	3315	3315	3315	3315	3015	3015	Total Amount

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :



Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/4760/1/9/99821

Applications Type: Renewal

Sanction Date:

12/01/2021

1688827 MANISHA BANJARE	1687946 INDUMATI PATIL	1681173 MONIKA SONWANI	1839534 SIMMEE NONAME	1730145 HARSHARANI BHARTI	1547704 MONIKA BANDHEL	1670042 NEHA KURRE	1662529 MEGHA GAYAKWAD	1656182 MANISHA NONAME	1719081 SUMAN BHARDWAJ	1704956 SANGEETA MANDLESH	1704032 CHITRAREKHA GAHERWAR	1652788 DURGA PURAIN	1652662 MANJULA BAGHEL	1652420 DIKESHWARI JOSHI	1677131 SHITAL BANDHEL	1673236 BHUPESHWARI CHELAK	Application 10
Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	H Female	RWAR Female	Female	Female	Female	Female	1K Female	Gender
B. A./Arts/II	B. A./Arts/III	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/III	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/III	Coning
Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	- ypc
5	6	6	4	5	6	6	6	6	5	6	4	6	6	6	6	6	Month
300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	79.0
1500	1800	1800	1200	1500	1800	1800	1800	1800	1500	1800	1200	1800	1800	1800	1800	1800	Allowance
0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	
1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	I dilition ree
1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	ו סנמו ד סמ
																	- Ocal Millouit

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

Applications Type: Renewal

Sanction Number: R/10/4760/1/9/99821

State:

Government of Chhattisgarh

Sanction Date: 12/01/2021

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

(Signature & Seal of Head of the Institution)

Name (Capital Leters) :

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/4760/2/7/99698

Applications Type: Fresh

Sanction Date: 12/01/2021

1553419	1421989	184577!	1534189	672978	1430135	1580522	1122533	1415539	1388210	1748814	1748243	1664139	1656047	1502319	1501787	
1553419 MADHU NETAM	1421989 DIVYA NO	1845775 RASHMI MANDAVI	1534189 VIVEK SINGH THAKUR	672978 PURAN KUMAR NONAME	1430135 TIKESHWARI NO NAME	1580522 POONAM THAKUR	1122533 DHULESHWARI THAKUR	1415539 SAGAR NO	1388210 HINA THAKUR	1748814 LOKESHWARI NONAME	1748243 DANESHWAR NONAME	1664139 PREETI THAKUR	1656047 KAMALNARAYAN THAKUR	1502319 CHETNA THAKUR	1501787 ANJANA NONAME	
Female	Female	Female	Male	Male	Female	Female	Female	Male	Female	Female	Male	Female	Male	Female	Female	
M. A./Pol. Science/I	M. A./Pol. Science/I	PGDCA/Computer Application/I	PGDCA/Computer Application/I	PGDCA/Computer Application/I	M. Sc./Zoology/I	M. Sc./Mathematics/I	M. Sc./Mathematics/I	M. Com./Commerce/I	M. Com./Commerce/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	
Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	
4	4	4	4	4	4	4	4	4	4	8	6	8	7	8	8	
530	530	530	530	530	530	530	530	530	530	300	300	300	300	300	300	
2120	2120	2120	2120	2120	2120	2120	2120	2120	2120	2400	1800	2400	2100	2400	2400	
0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	
1745	1745	9370	9370	9370	6245	1745	1745	1745	1745	1515	1515	1515	1515	1515	1515	
1745	1745	9370	9370	9370	6245	1745	1745	1745	1745	1515	1515	1515	1515	1515	1515	
3865	3865	11490	11490	11490	8365	3865	3865	3865	3865	3915	3315	3915	3615	3915	3915	

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

ST

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

State: Government of Chhattisgarh

Sanction Number: N/10/4760/2/7/99698

Sanction Date: 12/01/2021

Applications Type: Fresh

Academic Year: 2020-21

Application ID																		
tion ID	1593405 F	1850351	1442573 H	1598920 H	1820343	1833967 /	1800518	1250572 H	1363215	1405715	1757175	1813038	1744033	1749242	1756122 E	1795924 /	1752700	1762378
Student Name	1593405 POOJA NO NAME	1850351 SARITA NONAME	1442573 KHEM SINGH	1598920 HARSH KUMAR THAKUR	1820343 GAUTAM MARKAM	1833967 AADITI THAKUR	1800518 KHIMESHWARI THAKUR	1250572 KAMAL NARAYAN GOND	1363215 TEMAN LAL	1405715 TARANI NO	1757175 TEMIN THAKUR	1813038 MONIKA THAKUR	1744033 LEENA MARKAM	1749242 TAMESH SINGH	1756122 BHARTI NONAME	1795924 ANJU KATLAM	1752700 GEETANJALI NONAME	1762378 LOMIN DHRUV
Gender	Female	Female	Male	Male	Male	Female	Female	Male	Male	Female	Female	Female	Female	Male	Female	Female	Female	Female
Course	M. A./Economics/I	M. A./Sociology/I	M. Sc./Botany/I	M. Sc./Chemistry/I	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Science/I	M. A./Pol. Science/I	M. A./Pol. Science/I	M. A./Pol. Science/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Science/I	B. A./Arts/I	B. A./Arts/I
Туре	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh
No. of Month	4	4	4	4	8	8	7	4	4	4	6	7	8	8	7	8	8	8
Rate	530	530	530	530	300	300	300	530	530	530	300	300	300	300	85	300	300	300
Maintenence Allowance	2120	2120	2120	2120	2400	2400	2100	2120	2120	2120	1800	2100	2400	2400	595	2400	2400	2400
Tuition Fee Other Fee	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0
Other Fee	5245	1745	6245	6245	1545	1545	1545	1745	1745	1745	1515	1515	1545	1545	1545	1545	1515	1515
Total Fee	5245	1745	6245	6245	1545	1545	1545	1745	1745	1745	1515	1515	1545	1545	1545	1545	1515	1515
Total Amount	7365	3865	8365	8365	3945	3945	3645	3865	3865	3865	3315	3615	3945	3945	2140	3945	3915	3915

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

Scholarship Scheme:

Post Matric ST Scholarship

Institute Name: Category:

ST

Govt Chandulal Chand. Arts Sci. Coll. Patan

State:

Government of Chhattisgarh

Sanction Number: N/10/4760/2/7/99698

Sanction Date: 12/01/2021

	Academic Year: 2020-21							Applications	hplications Type: Fresh	ä	
Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1770230	1770230 TILESHWAR THAKUR	Male	B. A./Arts/I	Fresh	7	300	2100	0	1515	1515	3615
1759698	1759698 KHILESHWAR NONAME	Male	B. A./Arts/I	Fresh	8	300	2400	0	1515	1515	3915

																	Appli
	1772686	1805937	1827985	1824918	1823240	1822936	1749629	1816121	1800873	1790318	1775931	1773219	1748736	1764259	1759698	1770230	Application ID
	1772686 PRITI NONAME	1805937 VENU THAKUR	1827985 KIRAN NONAME	1824918 RENUKA DHRUV	1823240 GAJENDRA KUMAR	1822936 HEMANT KUMAR	1749629 MAHESHWARI THAKUR	1816121 SAPNA NETAM	1800873 YUGAL KISHOR	1790318 CHANDANI NONAME	1775931 OMIN NONAME	1773219 KHILESHWARI THAKUR	1748736 REECHA NONAME	1764259 TULSI NONAME	1759698 KHILESHWAR NONAME	1770230 TILESHWAR THAKUR	Student Name
	Female	Female	Female	Female	Male	Male	Female	Female	Male	Female	Female	Female	Female	Female	Male	Male	Gender
	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. Com./Commerce/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	Course
	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Туре
	7	8	6	8	8	8	8	8	8	8	8	6	7	7	8	7	No. of Month
Total:	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	Kate
108935	2100	2400	1800	2400	2400	2400	2400	2400	2400	2400	2400	1800	2100	2100	2400	2100	Allowance Tuition Fee Other Fee
0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	Tuition Fee
119745	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	Other Fee
119745	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	Total Fee
5 228680	3615	3915	3315	3915	5 3915	3915	5 3915	3915	5 3915	3915	5 3915	3315	3615	5 3615	3915	5 3615	Total Amount

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

ST

Academic Year: 2020-21

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

State: Government of Chhattisgarh

Sanction Number: R/10/4760/2/7/99734

Sanction Date : 12/01/2021

Applications Type: Renewal

4925	1745	1745	0	3180	530	6	Renewal	M. A./Pol. Science/II	Male	842326 MANISH DHRUW	842326
3345	1545	1545	0	1800	300	6	Renewal	B. Sc./Science/II	Female	1676086 SHARADA THAKUR	1676086
3045	1545	1545	0	1500	300	5	Renewal	B. Sc./Science/II	Female	1704531 AASHA NONAME	1704531
3345	1545	1545	0	1800	300	6	Renewal	B. Sc./Science/III	Female	1497479 KAVITA NETAM	1497479
3045	1545	1545	0	1500	300	5	Renewal	B. Sc./Science/II	Female	1619083 RUBEE THAKUR	1619083
3345	1545	1545	0	1800	300	6	Renewal	B. Sc./Science/III	Female	1546427 GARIMA THAKUR	1546427
9425	6245	6245	0	3180	530	6	Renewal	M. Sc./Zoology/II	Female	1802259 HEMIN THAKUR	1802259
9425	6245	6245	0	3180	530	6	Renewal	M. Sc./Zoology/II	Female	969065 NEHA NETAM	969065
4925	1745	1745	0	3180	530	6	Renewal	M. A./Sociology/II	Male	681546 CHAMAN LAL	681546
8425	5245	5245	0	3180	530	6	Renewal	M. A./Economics/II	Female	1408510 SHAIL KATLAM	1408510
4925	1745	1745	0	3180	530	6	Renewal	M. A./Pol. Science/II	Male	1239105 AMIT KUMAR NETAM	1239105
3315	1515	1515	0	1800	300	6	Renewal	B. A./Arts/II	Male	1649352 NIMESH SINGH THAKUR	1649352
3315	1515	1515	0	1800	300	6	Renewal	B. A./Arts/II	Male	1626245 SURENDRA KUMAR THAKUR	1626245
2715	1515	1515	0	1200	300	4	Renewal	B. A./Arts/III	Male	1519921 LAXMINARAYAN THAKUR	1519921
3315	1515	1515	0	1800	300	6	Renewal	B. A./Arts/III	Male	1447279 Thansingh Thakur	1447279
3315	1515	1515	0	1800	300	6	Renewal	B. A./Arts/III	Male	1330318 CHURAMAN DHRUW	1330318
3315	1515	1515	0	1800	300	6	Renewal	B. A./Arts/III	Female	1267768 LOKESHWARI THAKUR	1267768
Total Amount	Total Fee	Other Fee	Tuition Fee Other Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

ST

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

State: Government of Chhattisgarh

Sanction Number: R/10/4760/2/7/99734

Sanction Date: 12/01/2021

Academic Year: 2020-21 Applications Type: Renewal

Αp																		
Application ID	1722026	1528834	1642333	1643340	1516696	1686684	1710465	1488739	1488777	1500001	1533988	1695114	1520218	1528289	1535859	1536957	1665588	1704559
Student Name	1722026 KHOMENDRA THAKUR	1528834 OMBATI NETAM	1642333 PREETI THAKUR	1643340 BHOOMIKA THAKUR	1516696 MANISH KUMAR	1686684 HIMANCHAL THAKUR	1710465 POKHRAJ THAKUR	1488739 BHOMIKA THAKUR	1488777 KIRAN THAKUR	1500001 HEMA NONAME	1533988 VAKESH THAKUR	1695114 ASHISH KUMAR MANDAVI	1520218 MUNIKA NO NAME	1528289 JASVEER THAKUR	1535859 KIRTI THAKUR	1536957 JAYA NO NAME	1665588 DIPESH KUMAR	1704559 LILESH KUMAR
Gender	Male	Female	Female	Female	Male	Male	Male	Female	Female	Female	Male	Male	Female	Female	Female	Female	Male	Male
Course	B. Com./Commerce/II	B. Com./Commerce/III	B. Com./Commerce/II	B. Com./Commerce/II	B. Sc./Science/III	B. Sc./Science/II	B. A./Arts/II	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. Com./Commerce/II	B. Com./Commerce/II	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/II	B. A./Arts/III
Туре	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal
No. of Month	6	6	6	6	6	5	6	6	6	6	6	6	6	6	6	6	5	6
Rate	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300
Maintenence Tuition Fee Other Fee Allowance	1800	1800	1800	1800	1800	1500	1800	1800	1800	1800	1800	1800	1800	1800	1800	1800	1500	1800
Tuition Fee	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0
Other Fee	1515	1515	1515	1515	1545	1545	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515
Total Fee	1515	1515	1515	1515	1545	1545	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515
Total Amount	3315	3315	3315	3315	3345	3045	3315	3315	3315	3315	3315	3315	3315	3315	3315	3315	3015	3315

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :



Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

ST

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

State: Government of Chhattisgarh

Sanction Number: R/10/4760/2/7/99734

Sanction Date: 12/01/2021

Applications Type: Renewal

Academic Year: 2020-21

Application ID	1557231	1578288	1622018	1637954	1500271	1516268	1847713	1503803	1647375	1647551	1539576	1547874	1845119	1844159	1836825	1718773	1852985	1847746
Student Name	1557231 BHARTI THAKUR	1578288 DAMINEE THAKUR	1622018 JAYA THAKUR	1637954 URVASHI THAKUR	1500271 SUSHMA NETAM	1516268 LAXMI THAKUR	1847713 MEENAKSHI THAKUR	1503803 YOGITA THAKUR	1647375 SHALINI THAKUR	1647551 URMILA THAKUR	1539576 ANNU THAKUR	1547874 MANJU THAKUR	1845119 JAGREETI NONAME	1844159 PRIYANKA THAKUR	1836825 YAMINEE THAKUR	1718773 FARISTA SORI	1852985 OMESHWARI NONAME	1847746 KAJAL THAKUR
Gender	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female	Female
Course	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/II	B. A./Arts/III	B. A./Arts/III	B. A./Arts/II	B. A./Arts/III	B. A./Arts/II	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/II	B. A./Arts/III	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II
Туре	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal
No. of Month	4	6	6	ъ	6	6	4	6	5	6	6	6	4	4	4	6	6	4
Rate	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300
Maintenence Allowance	1200	1800	1800	1500	1800	1800	1200	1800	1500	1800	1800	1800	1200	1200	1200	1800	1800	1200
Tuition Fee Other Fee	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0
Other Fee	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515
Total Fee	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515	1515
Total Amount	2715	3315	3315	3015	3315	3315	2715	3315	3015	3315	3315	3315	2715	2715	2715	3315	3315	2715

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

Sanction Number: R/10/4760/2/7/99734

State:

Sanction Date: 12/01/2021

Applications Type: Renewal

231245	112565	112565	0	118680	Total :						
3315	1515	1515	0	1800	300	6	Renewal	B. A./Arts/II	Female	1704947 NEELAM DHRUW	1704947
3315	1515	1515	0	1800	300	6	Renewal	B. A./Arts/II	Female	1705141 GEETA THAKUR	1705141
3015	1515	1515	0	1500	300	5	Renewal	B. A./Arts/II	Female	1715307 OMKUMARI THAKUR	1715307
3315	1515	1515	0	1800	300	6	Renewal	B. A./Arts/III	Female	1669228 JAMUNA THAKUR	1669228
3315	1515	1515	0	1800	300	6	Renewal	B. A./Arts/II	Female	1662593 TRIVENI THAKUR	1662593
3315	1515	1515	0	1800	300	6	Renewal	B. A./Arts/III	Female	1658883 DILESH THAKUR	1658883
3015	1515	1515	0	1500	300	5	Renewal	B. A./Arts/II	Female	1659395 MADHUREE THAKUR	1659395
3315	1515	1515	0	1800	300	6	Renewal	B. A./Arts/II	Female	1652424 BHARTI THAKUR	1652424
3315	1515	1515	0	1800	300	6	Renewal	B. A./Arts/II	Female	1651304 KHILESHWARI THAKUR	1651304
3315	1515	1515	0	1800	300	6	Renewal	B. A./Arts/III	Female	1642542 BHARTI THAKUR	1642542
3315	1515	1515	0	1800	300	6	Renewal	B. A./Arts/III	Female	1669432 GANGA THAKUR	1669432
3315	1515	1515	0	1800	300	6	Renewal	B. A./Arts/III	Female	1672106 SAPNA THAKUR	1672106
Total Amount	Total Fee	Other Fee	Tuition Fee Other Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

कार्यालय प्राचार्य

शासकीय चन्दूलाल चन्द्राकर स्नातकोत्तर महाविद्यालय पाटन, जिला- दुर्ग(छ.ग)

फोन एंव फैक्स नं. 07826 - 273675

ACCREDITED BY NAAC WITH GRADE: B (GRADE POINT: 2.37) UGC COLLEGE CODE: 202013,

Email: patancollege@gmail.com website www.govtcccollegepatan.com

क0/488/स्था./छा.वृ./2021

पाटन, दिनांक 21 01 2 021

प्रति,

सहायक आयुक्त आदिवासी विकास शाखा आदिम जाति कल्याण विभाग दुर्ग (छ.ग.)

विषय – ऑनलाईन पोस्ट मैट्रिक छात्रवृत्ति स्वीकृति प्रस्ताव सत्र 2020-21 का प्रेषण । संदर्भ – आपका पत्र कमांक/853/आजाक/6/पोमैछा/नक 61/2020-21 दुर्ग दिनांक 02/01/2021

---00---

उपरोक्त विषयान्तर्गत लेख है कि इस महाविद्यालय में अध्ययनरत अनुसूचित जाति/अनुसूचित जनजाति/अन्य पिछड़ा वर्ग के छात्र/छात्राओं का नवीन/नवीनीकरण ऑनलाईन पोस्ट मैट्रिक छात्रवृत्ति सत्र 2020–21 स्वीकृति आदेश की हार्डकापी आवश्यक कार्यवाही हेतु आपकी ओर प्रेषित है ।

संलग्न -1. प्रमाण पत्र ।

- 2. लॉक प्रपोजल -01 सेट ।
- 3. लॉक सेंक्सन -01 सेट ।
- 4. के.वाय.सी. 02 सेट ।
- 5. बैंक खाता के आधार कार्ड सीडिंग की जानकारी ।
- 6. शुल्क विवरण की जानकारी ।
- 7. विद्यार्थियों का वचन पत्र ।
- 8. सिंगाते का अस्तान

Shatharth

(डॉ. शोमा श्रीवास्तव) एसाचार्यः।

Govt.C.L.C.Arts and Science College Palan, Distt, Durg (C.G.)

OC

(1) (3) (3)

Government of Chhattisgarh

101175

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh
Sanction Number: N/10/4760/3/10/101175

Sanction Date: 19/01/2021

Applications Type: Fresh

16165	14175	13945	230	1990	Total :						
2225	1545	1545	0	680	85	8	Fresh	B. Sc./Science/I	Female	1828253 VEENA BANCHHOR	1828253
2120	1630	1515	115	490	70	7	Fresh	B. A./Arts/I	Male	1822040 KARAN DEWANGAN	1822040
2050	1630	1515	115	420	70	6	Fresh	B. A./Arts/I	Male	1818657 DUSHYANT KUMAR	1818657
9770	9370	9370	0	400	100	4	Fresh	PGDCA/Computer Application/I	Female	575674 KUSUM NA	575674
Total Amount	Total Fee	Fee Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

101177

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh
Sanction Number: R/10/4760/3/10/101177

Sanction Date: 19/01/2021

Applications Type:

Renewal

3880	3030	3030	0	850	Total :						
2025	1515	1515	0	510	85	6	Renewal	B. A./Arts/III	Female	1547182 VARSHA YADAV	1547182
1855	1515	1515	0	340	85	4	Renewal	B. A./Arts/III	Female	922234 DEVKI SEN	922234
Total Amount	Total Fee	Fee Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	ation ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

Sanction Number: N/10/4760/1/9/101172 Government of Chhattisgarh

State:

Applications Type: Fresh Sanction Date: 19/01/2021

7230	3030	3030	0	4200	Total :						
3615	1515	1515	0	2100	300	7	Fresh	B. A./Arts/I	Female	1818691 SAVITA NONAME	1818691
3615	1515	1515	0	2100	300	7	Fresh	B. A./Arts/I	Male	1762400 AAYUSH DAHARIYA	1762400
Total Amount	Total Fee	Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place :

Government of Chhattisgarh

10174

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh
Sanction Number: R/10/4760/1/9/101174

Sanction Date: 19/01/2021

Applications Type: Renewal

3315	1515	1515	0	1800	Total:						
3315	1515	1515	0	1800	300	6	Renewal	B. A./Arts/III	Female	1683912 MONA BAGHEL	1683912
Total Amount	Total Fee	Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

। कार्यालय प्राचार्य

शासकीय चन्दूलाल चन्द्राकर स्नातकोत्तर महाविद्यालय पाटन, जिला– दुर्ग(छ.ग) फोन एंव फैक्स नं. 07826 – 273675

ACCREDITED BY NAAC WITH GRADE: B (GRADE POINT: 2.37) UGC COLLEGE CODE: 202013,

Email: patancollege@gmail.com website www.govtcccollegepatan.com

क0/539/खा./छा.वृ./2021

पाटन, दिनांक 16 02 2021

प्रति.

सहायक आयुक्त आदिवासी विकास शाखा आदिम जाति कल्याण विभाग दुर्ग (छ.ग.)

विषय – ऑनलाईन पोस्ट मैट्रिक छात्रवृत्ति स्वीकृति प्रस्ताव सत्र 2020–21 का प्रेषण ।

--00--

उपरोक्त विषयान्तर्गत लेख है कि इस महाविद्यालय में अध्ययनरत अनुसूचित जनजाति (नवीन) तथा अन्य पिछड़ा वर्ग (नवीनीकरण) के छात्र/छात्राओं का ऑनलाईन पोस्ट मैट्रिक छात्रवृत्ति सत्र 2020–21 स्वीकृति सुधार कर हार्डकापी आवश्यक कार्यवाही हेतु आपकी ओर प्रेषित है ।

संलग्न −1. लॉक सेंक्सन −01 सेट (ST Fresh, OBC Renewal)

> (डॉ. शोभा श्रीवास्तव) Рप्राधार्थ¹

Govt.C.L.C.Arts and Science

0/6

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand, Arts Sci. Coll. Patan

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/4760/3/10/102582

Sanction Date: 27/01/2021

Applications Type: Fresh

Verilla de la companya della companya della companya de la companya de la companya della company		april 100 may				ntenence Tulti owance			EVEC TOP	
A The All College of the College of	Defendant March	M. Composed	Fresh	4	100	400	0	1745	1745	2145
1014000 NEHA BHALE	Female	M. Com./Commerce/I	Fresh	4	100	400	0	6245	6245	6645
1435893 POORNIMA TARAK	Female	M. Sc./Chemistry/I	Tiesii		Total:	800	0	7990	7990	8790

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from Serial no. 1 to I do here by sanctioning a sum of Rs. On the passing last qualifying exam casts confidence and Rs. On the passing last qualifying exam casts confidence. serial no. 1 to I do here by sanctioning a sum of the same serial no. 1 to I do here by sanctioning a sum of the serial no. 1 to I do here by sanctioning a sum of the serial no. 1 to I do here by sanctioning a sum of the serial no. 1 to I do h scholarship form attached with certified copy of the subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts cancildate have been kept safely in the fact will be immediately reported to the authority for aventual. cancidate have been kept sately in the office and the cancidate have been kept sately in the office and the cancidate have been kept sately in the office and the cancidate have been kept sately in the office and the cancidate have been kept sately in the office and the cancidate have been kept sately in the office and the cancillate have been kept sately in the cancillate have been kept s abhath

Place:

Date :

(Signature & Seal of Head of the Institution) Name (Capital Leters) : Principal

Govt.C.L.C.Arts and Science



Page 1/1

This Sanction is general object of the Printed on 1/29/2021

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand, Arts Sci. Coll. Patan

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/4760/3/10/102773

Sanction Date: 29/01/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1673374 DE	EPAK VERMA	Male	B. A./Arts/III	Renewal	6	70	420	115	1515	1630	2050
						Total:	420	115	1515	1630	2050

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from Certified that students studying a sum of Rs 2.D. D. Out of which Rs. D. S maintenance allowance and a students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from Certified that students studying in this institution are characteristic students studying in this institution are characteristic students students studying in this institution are characteristical and after thoroughly examining the scholarship applications included in the above proposal serial no. 1 to I do here by sanctioning a sum of Rs. 2.D. D. Out of which Rs. 2.D. Smaintenance allowance and Rs. 1.G. Chas tuition and other fees. Printed copy of online serial no. 1 to I do here by sanctioning a sum of Rs. 2.D. D. Out of which Rs. 2.D. Smaintenance allowance and Rs. 1.G. Chas tuition and other fees. Printed copy of online serial no. 1 to I do here by sanctioning a sum of Rs. 2.D. Smaintenance allowance and Rs. 1.G. Chas tuition and other fees. Printed copy of online serial no. 1 to I do here by sanctioning a sum of Rs. 2.D. Smaintenance allowance and Rs. 1.G. Chas tuition and other fees. serial no. 1 to I do here by sanctioning a solid or mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the scholarship form attached with cerumed copy of the scholarship form attached with cerum copy of t candidate have been kept safely in the office size of safely in the office discontinues the safely discont

Place:

Date :

(Signature & Seal of Head of the Institution)

Name (Capital Leters) incipal

Boyt.C.L.C. Arts and Science This Sanction is generated by Scholarship Portal Pribled of 1/29/2021



कार्यालय प्राचार्य

शासकीय चन्द्रलाल चन्द्राकर रनातकोत्तर महाविद्यालय पाटन, जिला- दुर्ग(छ.ग) फोन एंव फैक्स नं. 07826 - 273675

ACCREDITED BY NAAC WITH GRADE: B (GRADE POINT: 2.37) UGC COLLEGE CODE: 202013,

Email: patancollege@gmail.com website www.govtcccollegepatan.com

क0 / 95 /स्था. / छा.वृ. / 2021

पाटन, दिनांक 🛭 🕹 2021

प्रति.

सहायक आयुक्त आदिवासी विकास शाखा आदिम जाति कल्याण विभाग दुर्ग (छ.ग.)

विषय -ऑनलाईन पोस्ट मैट्रिक छात्रवृत्ति स्वीकृति प्रस्ताव सत्र 2020–21 का प्रेषण । आपका पत्र क्रमांक / 106 / आजाक / 6 / पोमेछा / नक 61 / 2020-21 दुर्ग दिनांक संदर्भ -07/06/2021

उपरोक्त विषयान्तर्गत लेख है कि इस महाविद्यालय में अध्ययनरत अनुसूचित जाति/अनुस्चित जनजाति/अन्य पिछड़ा वर्ग के छात्र/छात्राओं का नवीन/नवीनीकरण ऑनलाईन पोरट गैट्रिक छात्रवृत्ति सत्र 2020-21 रवीकृति आदेश की हार्डकापी आवश्यक कार्यवाही हेत् आपकी ओर प्रेषित है ।

--00--

संलग्न -1. प्रमाण पत्र ।

- 2. लॉक प्रपोजल -01 सेट I
- 3. लॉक सेंक्सन -01 सेट ।
- 4. कं.वाय.सी. 02 सेट I
- 5. बैंक खाता के आधार कार्ड सीडिंग की जानकारी ।

6. शुल्क विवरण की जानकारी I

7. विद्यार्थियों का वचन पत्र ।

College Patan, Distt. Durg (C.G.) पाटन, दिनांक <u>|8</u> 6 202 |

पृ०क० / १६ /स्था. / छा.वृ. / २०२१

प्रतिलिपि – श्री प्रदीप कुमार चेलक प्रयोगशाला तकनीशियन शासकीय चंदूलाल चंद्राकर कला एवं विज्ञान महाविद्यालय पाटन जिला दुर्ग को पालनार्थ ।

Government of Chhattisgarh

100016

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh
Sanction Number: N/10/4760/3/10/106016

Sanction Date: 17/06/2021

Applications Type: Fresh

10450	8075	7835	240	2375	Total:						
2145	1745	1745	0	400	100	4	Fresh	M. A./Sociology/I	Female	1389954 BHUMIKA VERMA	1389954
1915	1635	1515	120	280	70	4	Fresh	B. Com./Commerce/II	Male	1867015 NAVEEN KUMAR	1867015
2055	1635	1515	120	420	70	6	Fresh	B. A./Arts/I	Male	1625685 JITENDRA NONAME	1625685
2225	1545	1545	0	680	85	8	Fresh	B. Sc./Science/I	Female	1822229 BHUMIKA DEWANGAN	1822229
2110	1515	1515	0	595	85	7	Fresh	B. A./Arts/I	Female	1768544 TAMESHWARI CHAKRADHAR	1768544
Total Amount	Total Fee	1 Fee Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

106017

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh
Sanction Number: R/10/4760/3/10/106017

Sanction Date: 17/06/2021

Applications Type: Renewal

	1534551	Application ID
	1534551 GAGAN KUMAR	Student Name
	Male	Gender
	B. A./Arts/III	Course
	Renewal	Туре
	4	No. of Month
Total :	4 70	No. of Rate
Total: 280		
	70	
: 280	70 280	
280 120	70 280 120	Rate Maintenence Tuition Fee Ot Allowance

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

Government of Chhattisgarh

106015

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2020-21

State: Government of Chhattisgarh
Sanction Number: N/10/4760/2/7/106015

Sanction Date: 17/06/2021

Applications Type: Fresh

3945	1545	1545	0	2400	Total:						
3945	1545	1545	0	2400	300	8	Fresh	B. Sc./Science/I	Female	1781623 SEEMA THAKUR	1781623
Total Amount	Total Fee	Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

कार्यालय प्राचार्य

शासकीय चन्दूलाल चन्द्राकर कला एंव विज्ञान महाविद्यालय पाटन, जिला- दुर्ग(छ.ग) फोन एंव फैक्स नं. 07826 - 273675

ACCREDITED BY NAAC WITH GRADE: B (GRADE POINT: 2.37) UGC COLLEGE CODE: 202013,

Email: patancollege@gmail.com website www.govtcccollegepatan.com

क0 / 446 /बी.पी.एल. / 2070-21

पाटन, दिनांक 30/12/2020

प्रति.

अपर संचालक (एच) उच्च शिक्षा संचालनालय अटल नगर, रायपुर (छ.ग.)

विषय – राज्य शासन के बी.पी.एल. छात्रवृत्ति योजना सत्र 2019-20 हेतु प्रस्ताव मंगाये जाने के संबंध में ।

संदर्भ – आपका पत्र कमांक 259/25/आउशि/बी.पी.एल.छा.वृ./2020 अटल नगर, रायपुर दिनांक 14.12.2020

--00---

उपरोक्त विषयान्तर्गत लेख है कि इस महाविद्यालय में अध्ययनरत बी.पी.एल. संवर्ग के पात्र छात्र—छात्राओं को डी.बी.टी. के माध्यम से बी.पी.एल. छात्रवृत्ति प्रदान करने हेतु नवीन प्रस्ताव प्रपत्र— 01 तथा नवीनीकरण के प्रस्ताव प्रपत्र—01(3) में तैयार कर आवश्यक कार्यवाही हेतु आपकी ओर प्रेषित है।

संलग्न :-

- प्रपत्र— 01 एवं प्रपत्र— 01(अ)
- 2. प्रमाण पत्र
- 3. सॉफ्ट कापी सी.डी.

2020

प्राचार्य Principal Govt.C.L.C.Arts and Science College Patan, Distt, Durg (C.G.)

छत्तीसगढ़ राज्य के शासकीय महाविद्यालयों में अध्ययनरत छात्र/छात्राओं के लिये बी.पी.एल. छात्रवृत्ति सत्र 2020—2021 का प्रस्ताव <u>1-khK</u>

महावि	महाविद्यालय का नाम –शासकीय चन्द्रलाल चन्द्राकर कला एवं विज्ञान महाविद्यालय, पाटन, जिला – दुर्ग (छ.ग.)	गय चन्दूलाल चन्द्राकर	कला एवं	विज्ञान	महाविद्यालय	ा, पाटन, जिल	। – दुर्ग (छ.ग.	୍ର ଅ	एवं विज्ञान महाविद्यालय, पाटन, जिला – दुर्ग (छ.ग.) छात्रवृत्ति का प्रकार– <u>नवीन (स्नातक / र</u>	नवीन (स्नात	का प्रकार- नवीन (स्नातक/स्नातकोत्तर)	<u>T</u>)
S no.	Name of Student	Father's Name	Gender (M/F)	Categor y (UR/SC /ST/OB	Class	Faculty	Date of Admission	Propose d Budget	Bank Account No.	Name of Bank and Branch	IFSC Code	Aadhar Numbar
1	2	3	4	5	6	7	8	9	10	11	12	13
1	DEEPIKA	VISHNU RAM	F	SC	B.A. I	ARTS	20/08/2020	2700	87570100026239	BANK OF BARODA	BARB0DBDIG	648133839597
2	GAYATRI	SHIVKUMAR	ਸ	ОВС	B.A. I	ARTS	17/08/2020	2700	34446433093	SBI PATAN	SBIN0010836	599856095505
3	REENA	LOKNATH	F	ОВС	B.A. I	ARTS	03/10/2020	2100	34463273989	SBI PATAN	SBIN0010836	775261165737
4	GAYATRI PENDARIYA	NARESH PENDARIYA	F	ОВС	B.A. I	ARTS	03/09/2020	2400	35957801094	SBI PATAN	SBIN0010836	224761889317
5	UPASANA DEWANGAN	NANDBAHADUR	F	ОВС	B.Sc. II	SCIENCE	31/10/2020	1800	35059675830	SBI PATAN	SBIN0010836	782717538302
6	PRERNA PATEL	PILU RAM PATEL	F	ОВС	B.Sc. I	SCIENCE	23/09/2020	2100	35782597743	SBIPATAN	SBIN0010836	473442276979
7	SEETA PATEL	MUKUND PATEL	F	OBC	B.A. I	ARTS	22/09/2020	2100	35220877447	SBI PATAN	SBIN0010836	768475377704
8	HEMA PATEL	PRAHALAD PATEL	F	OBC	B.A. I	ARTS	24/08/2020	2400	35205558317	SBI PATAN	SBIN0010836	585584049185
9	PRIYA DEWANGAN	DILIP	Ħ	ОВС	B.A. I	ARTS	18/09/2020	2400	35590014420	SBI PATAN	SBIN0010836	869887622069
10	JYOTI PATEL	MAKHAN LAL	F	OBC	в.а. п	ARTS	14/12/2020	1500	35098937405	SBIPATAN	SBIN0010836	393751175601
11	SUMAN NAYAK	SANTOSH NAYAK	ਸ	ОВС	в.а. п	ARTS	14/12/2020	1500	35123971554	SBI PATAN	SBIN0010836	303675799791
12	KAVITA	HORI LAL	F	ОВС	B.A. II	ARTS	14/12/2020	1500	35123948901	SBIPATAN	SBIN0010836	435538824700
13	TRIVENI	ANKALHU	Ŧ	ОВС	B.A. II	ARTS	14/12/2020	1500	35082617825	SBI PATAN	SBIN0010836	440725161201

9993998087

YES

9174293032

YES

9340600064

YES

6263993332 6267387733

YES YES 6265700294

YES

9131498349

YES

7389404855

YES

9399943262

YES YES

6263377789 6268770152 7067402424

YES

YES

9752609422

YES

14

15

Mobile No.

whether
Aadhar
No. of the
student has
been linked
to the Bank
Account
(Y/N)

	20	19	18	17	16	15	14
	DIVYA	ANIL KUMAR	MOHNISH DEWANGAN	RAHUL KUMAR	UMENDRA KUMAR	POONAM	SHIKHA
	TOPSINGH	ARJUN RAM	DILIP KUMAR	PRABHU RAM	KHORBAHARA	SANTOSH KUMAR	GAJENDRA KUMAR
	Ħ	×	М	М	М	Ŧ	F
	GEN	ОВС	ОВС	OBC	ОВС	OBC	ОВС
	B.A. I	B.A. II	B.Sc. I	B.A. II	B.A. I	в.а. п	B.Sc. II
	ARTS	ARTS	SCIENCE	ARTS	ARTS	ARTS	SCIENCE
Total	19/08/2020	14/12/2020	20/08/2020	31/10/2020	20/08/2020	14/12/2020	03/11/2020
38700	2700	1500	2700	1800	2700	1500	1800
	87570100025905	068210045247	35867787864	34842792007	35982028939	32315123189	1919104000010539
	BANK OF BARODA	DENA BANK PATAN	SBIPATAN	SBIPATAN	SBI PATAN	SBI PATAN	IDBI BANK GONDPENDRI
	BARB0DBDIDG	BKDN0820682	SBIN0010836	SBIN0010836	SBIN0010836	SBIN0010836	IBKL0001919
	757191720485	393617764272	435175994026	889191816861	234336525411	496432503001	765877307661
	9131638642	7999371797	9109943392	8827572637	7828159563	8103965407	9179766988
	YES	YES	YES	YES	YES	YES	YES

प्रमाणित किया जाता है कि उपरोक्त सभी जानकारी सही है एवं सभी विद्यार्थियों का बैंक खाता क्रमांक आधार से लिंक किया गया है ।

प्राचार्य के हस्ताक्षर पदमुदा सहित

प्रपत्र— 1 (अ) त छात्र / छात्राओं के निमे बीची पन्न

का नाम	
का नाम –शासकीय चन्दूलाल चन्द्राकर कला एवं विज्ञान महाविद्यालय, पाटन, जिला – दुर्ग (छ.ग.)	
। चन्दूलाल	8
वन्द्राकर	য়ণ্ড ধার
कला एवं	थ के शा (केव
विज्ञान मह	संकाय सं उन्हीं :
गविद्यालय,	ह्यावधाल अ/हाव
पाटन, ि	त्राओं के
ला - दुव	नाम प्रस
f (छ.ग.)	खात्र/ ख तावित क
	छतासगढ़ राज्य क रासकाय महापद्मालया न अध्ययमरत छात्र/ छात्राजा क ।लय श.भा.रल. र (केवल उन्हीं छात्र/छात्राओं के नाम प्रस्तावित करे जिन्हें अन्य छात्रवृत्ति प्रा
छात्रवृत्ति	ालय बा अन्य छाट
ष्टात्रवृत्ति का प्रकार–	_
- नवीर्न	. लत्रशृत्त सत्र 2020 प्राप्त नहीं हो रहे हैं]
किरण (तत्र 202 हो रहे है
नवीनीकरण (स्नातक / स्नातकोत्तर)	धात्रभृत्य सत्र 2020—2021 का अस्ताव प्त नहीं हो रहे है)
/स्नातव	81 81
गेत्तर)	<u> </u>

48119	S no.	1	1	2	3	4	5	6	7	8	9	10	11
घालय का नाम —शासव	Name of Student	2	RAGANI	DURGA SAHU	KIRAN	ONKESHWARI	RIDHI	SARLA PATEL	RAKHI	ANJALI	MADHURI	SONIYA PATEL	LEENA DEWANGAN
महाविद्यालय का नीम —शासकाय चन्दूलाल चन्द्रांकर कला एव विज्ञान महाविद्यालय, पाटन, जिला — दुर्ग (छ.ग.)	Father's Name	3	NAND KUMAR	BALKRISHAN	GAJJU RAM	NETRAM	DHRUV KUMAR	DILIP KUMAR PATEL	RAJU SONI	MANOJ	KUSH KUMAR	RAMESH KUMAR PATEL	DEVENDRA KUMAR
कला ५व	Gender Categor (M/F) y (UR/SC /ST/OB C)	4	F	F	F	ਸ	F	F	Ŧ	F	F	F	Ŧ
াবহ্বান	Categor y (UR/SC /ST/OB C)	Sī	ОВС	ОВС	OBC	ОВС	OBC	OBC	ОВС	OBC	ОВС	ОВС	ОВС
ห อแจยเต	Class	6	В.А. П	B.Sc. II	B.COM III	B.A. III	B.Sc. II	в.А. п	B.A. III	в.а. п	В.Ѕс. П	B.Sc. II	M.A. I SEM
थि, पाटन, ।जल	Faculty	7	ARTS	SCIENCE	COMMERCE	ARTS	SCIENCE	ARTS	ARTS	ARTS	SCIENCE	SCIENCE	ARTS
। – दुब (छ.ब.	Date of Admission	8	04/11/2020	29/10/2020	14/10/2020	19/10/2020	31/10/2020	29/10/2020	20/10/2020	31/10/2020	03/11/2020	31/10/2020	10/12/2020
)	Propose d Budget	9	1800	1800	2100	2100	1800	1800	2100	1800	1800	1800	2500
क्षात्रवीत्त का प्र	Bank Account No.	10	34463273901	34790444498	33967323542	33966842504	35145268170	34054208357	33344067776	33344115224	080210040877	35098937530	34019353931
कार— भवाभाक	Name of Bank and Branch	11	SBI Patan	SBI Patan	SBI Patan	Dena Bank KHORPA	SBI Patan	SBI Patan					
त्रिशृत्ति का प्रकार— नवानाकरण (स्नातक/ स्नातकारतर)	IFSC Code	12	SBIN0010836	SBIN0010836	SBIN0010836	SBIN0010836	SBIN0010836	SBIN0010836	SBIN0010836	SBIN0010836	BKDN0820802	SBIN0010836	SBIN0010836
त्नातकात्तर)	Aadhar Numbar	13	380692069702	648477526739	466906309642	404592042023	852056955306	421518237301	806222025557	593440250653	472613986488	810236663187	818714746775
	Mobile No.	14	7223929168	6268028225	6266482602	6268180931	6268162251	6266372371	6266026875	9752125194	8269371740	9754536781	7771806780
	whether Aadhar No. of the student has been linked to the Bank Account (Y/N)	15	Yes	Yes	YES	YES	YES	YES	YES	YES	YES	YES	YES

4

	, .													
	25	24	23	22	21	20	19	18 /	17	16	15	14	13	12
	DOMESHWAR	YASHWANT	NILESH SINHA	KAMAL NARAYAN	SHEKHAR	VIDYA AHIR	HIMANI DEWANGAN	ANJLI VISHVKARMA	TARINI DEWANGAN	LALIMA DEWANGAN	PRIYA DHURANDHAR	URMILA	LAXMI	DURGESHWARI
	NARESH	RAJESH KUMAR	GOPAL SINHA	DAGESHWAR	ROHIT KUMAR	RAMESH	ASHOK KUMAR DEWANGAN	DINESH VISHVKARMA	DEEPAK KUMAR DEWANGAN	DHANNALAL DEWANGAN	SATYANARAYAN DHUNRANDHAR	MANOHAR LAL	SANTU RAM	GHANSHYAM
	M	Z	M	М	М	Ŧ	Ŧ	F	Ŧ	F	F	F	F	F
	ОВС	ОВС	OBC	ОВС	OBC	ОВС	ОВС	OBC	ОВС	ОВС	ОВС	OBC	ОВС	ОВС
	M. A.I SEM.	B.COM II	B.Sc. II	B.Sc. III	B.COM II	M. A.I SEM.	M. Sc.I SEM.	M. A.I SEM.	M. A.I SEM.	M. A.I SEM.	M. A.III SEM.	M. A.III SEM.	M.A. III SEM	M.A. III SEM
	ARTS	B.COM II COMMERCE	SCIENCE	SCIENCE	COMMERCE	ARTS	SCIENCE	ARTS	ARTS	ARTS	ARTS	ARTS	ARTS	ARTS
TOTAL	12/12/2020	28/10/2020	06/11/2020	15/10/2020	28/10/2020	14/12/2020	14/12/2020	14/12/2020	12/12/2020	14/12/2020	23/10/2020	23/10/2020	23/10/2020	27/10/2020
33800	2500	1800	1800	2100	1800	2500	2500	2500	2500	2500	3000	3000	3000	3000
	87580100019850	35205563086	33700479934	306310100043808	068210051172	306310100040014	35423131387	35145267563	33500721485	34089885840	35160835890	35332406889	35374219563	34247360573
	BANK OF BARODA	SBI Patan	SBI Patan	ANDHRA BANK PATAN	BANK OF BARODA	ANDHRA BANK PATAN	SBI Patan	SBI Patan	SBI Patan	SBI Patan	SBI Patan	SBI Patan	SBI Patan	SBI Patan
	BARB0DBPTAN	SBIN0010836	SBIN0010836	ANDB0003063	BKDN0820682	ANDB0003063	SBIN0010836	SBIN0010836	SBIN0010836	SBIN0010836	SBIN0010836	SBIN0010836	SBIN0010836	SBIN0010836
	335092101423	822030007388	743553198736	978348606020	274234916955	841037264561	714528753724	683249423478	328668948966	366385972200	593537116618	291672563146	516902606908	714508288105
	9630500784	9584987304	6261503454	6268420448	6261936579	6268412309	6263064434	6265401600	6266290233	8839490719	9993839723	9669864223	9340557468	9516020620
	YES	YES	YES	YES	YES	YES	YES	YES	YES	YES	YES	YES	YES	YES

प्रमाणित किया जाता है कि उपरोक्त सभी जानकारी सही है एवं सभी विद्यार्थियों का बैंक खाता क्रमांक आधार से लिंक किया गया है ।

प्राचार्य के हस्ताक्षर पदमुद्रा सहित

Print Date: 17/04/2021 12:23:23

${\bf National\ Scholarships\ Portal\ (\ NSP2.0\)}$ Status of the applications verified by INO as on 16/04/2021

Report No.: 31119_6

					•	_
(1) AISHE/D	ISE/NCVT Code	e: C-21675				
(2) Name of t						
(3) Total stud	lents strenght as	declared in KYC:	1609			
(4) Institute A						
Address:		LEGE PATAN				
District:	DURG	State: CF	HATTISGARH	Pincode: 491111		
(5) Details of		tute's Nodal officer f	for NSP (INO-NSP): 8889297711			
(6) Head of I	nstitute details:					
Name:		A SHRIVASTAVA	/ 8889297711			
No of Fresh	Applicantions					
No of Renev		ons verified: 16				
List of fresh		der fresh category				
Sr App I	d	Name	DOB	G father Name	scheme	verify

Sr	App Id	Name	DOB	en	father Name	scheme	verify date
				de r			
1	CT202021001176668	PRIYANKA VERMA	10/02/2003	F	RAMESH VERMA	CENTRAL SECTOR SCHEME OF SCHOLARSHIPS FOR COLLEGE AND UNIVERSITY STUDENTS	11/11/20 20
2	CT202021006266873	SHUBHAM KUMAR	28/11/2002	M	DEV KUMAR	CENTRAL SECTOR SCHEME OF SCHOLARSHIPS FOR COLLEGE AND UNIVERSITY STUDENTS	17/11/20 20

3	CT202021006335047	RUCHI VERMA	04/06/2002	F	KRISHNA LAL VERMA	CENTRAL SECTOR SCHEME OF SCHOLARSHIPS FOR COLLEGE AND UNIVERSITY STUDENTS	11/11/20 20
4	CT202021006509858	SONAM SAHU	18/10/2002	F	MANHARAN SAHU	CENTRAL SECTOR SCHEME OF SCHOLARSHIPS FOR COLLEGE AND UNIVERSITY STUDENTS	11/11/20 20
5	CT202021007160365	MINAKSHEE	01/08/2002	F	BHUSHAN LAL	CENTRAL SECTOR SCHEME OF SCHOLARSHIPS FOR COLLEGE AND UNIVERSITY STUDENTS	17/11/20 20
6	CT202021008142051	TORAN LAL TURKANE	18/03/1995	M	TULSI RAM TURKANE	POST MATRIC SCHOLARSHIP FOR STUDENTS WITH DISABILITIES	17/11/20 20
7	CT202021009666193	SHESHNARAYAN	18/11/1999	M	BHEESHAM KUMAR	POST MATRIC SCHOLARSHIP FOR STUDENTS WITH DISABILITIES	27/11/20 20
8	CT202021011328692	YASHWANT KUMAR	03/12/1994	M	MANNU LAL	POST MATRIC SCHOLARSHIP FOR STUDENTS WITH DISABILITIES	29/12/20 20
9	CT202021011519536	MENKA	09/09/1999	F	ANJURAM	POST MATRIC SCHOLARSHIP FOR STUDENTS WITH DISABILITIES	31/12/20 20

List of Renewal applicants under renewal category:-

1	CT201617011670369	PLESHWARI SAHU	12/04/1999	F	DOMAR SINGH SAHU	CENTRAL SECTOR SCHEME OF SCHOLARSHIPS FOR COLLEGE AND UNIVERSITY STUDENTS	21/11/20 20
2	CT201718005336946	BHOOMIKA DEWANGAN	04/02/2000 1	F	SHIVA DEWANGAN	CENTRAL SECTOR SCHEME OF SCHOLARSHIPS FOR COLLEGE AND UNIVERSITY STUDENTS	29/12/20 20
3	CT201718008308262	PAYAL	28/10/1999]	F	RAMJI	CENTRAL SECTOR SCHEME OF SCHOLARSHIPS FOR COLLEGE AND UNIVERSITY STUDENTS	24/12/20 20
4	CT201718009175376	RAJESHWARI	16/11/1999]	F	VISHNU RAM	CENTRAL SECTOR SCHEME OF SCHOLARSHIPS FOR COLLEGE AND UNIVERSITY STUDENTS	24/12/20 20
5	CT201819001832227	AJAY KUMAR	16/09/2000]	M	PARDESI RAM	CENTRAL SECTOR SCHEME OF SCHOLARSHIPS FOR COLLEGE AND UNIVERSITY STUDENTS	27/11/20 20

6	CT201819001932879	AVINASH BAN GOSWAMI	09/05/2000 M	RAJESHBAN	CENTRAL SECTOR SCHEME OF SCHOLARSHIPS FOR COLLEGE AND UNIVERSITY STUDENTS	21/11/20 20
7	CT201819002507808	MEENA	21/05/2000 F	SUKRA	CENTRAL SECTOR SCHEME OF SCHOLARSHIPS FOR COLLEGE AND UNIVERSITY STUDENTS	21/11/20 20
8	CT201819002627409	GOVIND	06/03/2000 M	KHUBIRAM	CENTRAL SECTOR SCHEME OF SCHOLARSHIPS FOR COLLEGE AND UNIVERSITY STUDENTS	21/11/20 20
9	CT201819004314200	DAMINI	14/02/2001 F	SANJAY KUMAR	CENTRAL SECTOR SCHEME OF SCHOLARSHIPS FOR COLLEGE AND UNIVERSITY STUDENTS	21/11/20 20
10	CT201819005545581	CHAIN KUMAR	13/01/2000 M	LOKBASU	CENTRAL SECTOR SCHEME OF SCHOLARSHIPS FOR COLLEGE AND UNIVERSITY STUDENTS	21/11/20 20
11	CT201819008596338	NIRUPAMA	30/10/2000 F	CHETANLAL	CENTRAL SECTOR SCHEME OF SCHOLARSHIPS FOR COLLEGE AND UNIVERSITY STUDENTS	21/11/20 20
12	CT201819008729485	PUSHPENDRA KUMAR	05/05/2001 M	NAND KUMAR	CENTRAL SECTOR SCHEME OF SCHOLARSHIPS FOR COLLEGE AND UNIVERSITY STUDENTS	27/11/20 20
13	CT201920001300246	GAYATRI SAHU	03/06/2001 F	KAMAL SAHU	CENTRAL SECTOR SCHEME OF SCHOLARSHIPS FOR COLLEGE AND UNIVERSITY STUDENTS	21/11/20 20
14	CT201920002541529	MITHLESH	10/11/2001 M	RAVIPRAKASH	CENTRAL SECTOR SCHEME OF SCHOLARSHIPS FOR COLLEGE AND UNIVERSITY STUDENTS	27/11/20 20
15	CT201920003455824	DURGA	18/09/2001 F	GAJENDRA KUMAR VERMA	CENTRAL SECTOR SCHEME OF SCHOLARSHIPS FOR COLLEGE AND UNIVERSITY STUDENTS	27/11/20 20
16	CT201920006819495	JAYPRAKASH	25/10/2001 M	GHANSHYAM KUMAF		27/11/20 20